SYSTRON M107

Member THORN EM! Group

INSTRUMENT DIVISION

PRECISION DC
VOLTAGE SOURCE
DOCUMENT NO. 120017-01

OPERATING AND SERVICE MANUAL

2727 Systron Drive ® Concord, California 94518  U.S.A. Copyright © 1982 Systron Donner
Tel: (415) 676-5000 ® TWX: 910-481-9479 ¢ Cable: SYSTRON DONNER Printed in US.A.
FSCM No. 52542



DONNER M107

ATHORN EMI company




SYSTRON DONNER

SYSTRON INSTRUMENT DIVISION
| DONNER  ciliZiomiu,

EEESIETD INSTRUMENT DIVISION WARRANTY POLICY

| Warranty

Systron Donner Instrument Division warrants that at the time of shipment the products manufactured by Systron
Donner and sold hereunder will be free from defects in material and workmanship and will conform to the current
specifications published by Systron Donner’s Instrument Division.

Il Warranty

A The warranty period will be one year from the date of shipment. This warranty is extended only to the original
buyer.

111 Warranty Adjustments
A. If any defect within this warranty appears, Purchaser shall notify Seller immediately.

B Systron Donner agrees to repair or furnish a replacement for, but not install, any product which within the
standard warranty shall, upon test and examination by Systron Donner, prove defective within the above
warranty period.

C No product will be accepted for return or replacement without prior approval of Systron Donner. Upon such
authorization and in accordance with instructions of Systron Donner, the product will be returned to the
manufacturing location, shipping charges prepaid by Purchaser.

IV Exclusions from Warranty

A The foregoing warranty is in lieu of and excludes all other expressed or implied warranties of merchantability
or fitness or otherwise.

B Systron Donner will not be liable for any special or consequential damages or for loss, damages or expense
directly or indirectly arising from the use of the products, or any inability to use them either separately or
in combination with any other equipment or material, or from any other cause.

C The warranty does not extend to any product manufactured by Systron Donner which has been subjected to
misuse, neglect, accident, improper installation or to use in violation of instructions furnished by Systron
Donner.

D The warranty does not extend to or apply to any unit which has been repaired or altered at any place other
than Systron Donner; by persons not expressly approved by Systron Donner; not to any unit, the serial number
of which has been removed or defaced or Changed.

E This warranty applies to new equipment only and will cover repaired or replacement items only to the extent
of the balance remaining of the items original warranty period noted in Paragraph 1I.

F All freight charges will be paid for by the Purchaser.

June, 1985



SYSTRON |\ sTRUMENT
DONNER |, {510

Member THORN EM! Group

2727 Systron Drive, Concord, CA 94518
Phone (415) 676-5000
TWX 910-481-9479

PROPRIETARY RIGHTS STATEMENT

The design information contained herein is the sole property of
Systron Donner. The disclosure of this information does not con-
stitute the release of proprietary rights thereof, but is to be used for
informational purposes only. Permission to reproduce this informa-
tion of the product described herein must be obtained in writing
from Systron Donner.

Copyright © 1982 Systron Donner
Printed in U.S.A.




CHAPTER 1

GENERAL INFORMATION

1.1 INTRODUCTION

The Systron-Donner Model M107 Precision D.C.
Voltage Source is an IEEE-488 compatible, rugged-
ly constructed, stable D.C. voltage source. Maxi-
mum ease of operation is combined with accurate
performance.

Third-generation improvements in operation and
reliability are evidenced through the Model
M107. Voltage, range and polarity are easily pro-
grammed manually from the front panel, or re-
motely from the IEEE-488 1975 Interface, stand-

ard with the Model M107. Parallel BCD program- !

ming is optional in lieu of IEEE-488.

The Model M107 is human engineered with the
user in mind. For example, if the 1000V range is
selected, the polarity goes to standby automati-
cally to prevent any damage to equipment during
programming. For ease in troubleshooting and
maintanance, modular construction is used.

D.C. voltage is conveniently selectable by any sin-
gle digit or in sequence and is displayed on a six-
digit LED readout. Accuracy to +0.002% is true
throughout each range of 1, 10, 100 and 1000
volts.

1.2 SPECIFICATIONS

Table 1-1 lists the specifications applicable to the
Model M107.

TABLE 1-1 SPECIFICATIONS

Output

Ranges: 1V 10V 100V 1000V
Maximum

Output

Voltage: 0.999999 9.99999 99.9999 999.9999
Increments: 1 uV 10wV 100V 1 mV

M107-9-79

TABLE 1-1 SPECIFICATIONS (Cont'd)

Maximum
Output * SOmA 50mA 50mA to 120V
Current: 5 mA to 1000V

Output .02Q to 120V
Resistance: 200Q2 .0002€2 .002©2 .28 to 1000V

Noise (microvolts RMS max.)
<150Hz +15 20 50 200

-25

Wideband +25 100 150 500
-40

Common Mode Rejection (dB)

DC 160 150 130 110
160

AC 100 70 60 50
70

Accuracy: 3 months +0.002% of range
after warm-up and stabiliza-
tion at 23°C, <70% R.H.

constant line and load.

Current Limit: Continuously variable from
0 to maximum output with

limit indicator lamp.

Temperature 0.0002% of set ting,
Coefficient of +0.0001% of range per °C,
Output: between 0°C and 50°C

(32°F and 122°F).

0.0001% of range, or 10 mV
10 uV, for 10% change
from nominal.

0.0001% of range, or

10 uV for change from

no load to full load.

The DC output can be float-
ed up to 500 Vdc from the
chassis ground.

Line Regulation:

Load Regulattion:

Isolation:

Settling Time (mSec)

<300 <300 <400 <500
<300

*limited by 200£2 impedance.

1-1




TABLE 1-1 SPECIFICATIONS (Cont'd) 1.3 OPTIONS

Table 1-2 lists the options available for the Model
M107.
Warm-up Time: 1 hour to full specifica-
tions; 20 minutes with TABLE 1-2 OPTIONS
some degradation.
OPTION DESCRIPTION
Operating Temperature: ~ 0° to +50°C (122°F).

. . 01, Parallel Interface: Provides for remote control
Relative Humidity: To 70%. inputs to establish 6-digit
Input Power: 115/230 Vac +10% std; output setting range and

100/200 Vac +10% op- polarity.
tional; 48-440 Hz, 35W .
1/2 or 1/4 amp Slo-Blo 06, 100/200 Vac: Provides for operation on
fuse. 100/200V +10% ac line
Weight: 26 1bs. powet.
Size: 5-1/4”(H) x 19”(W) Full 07, Local Control: Local Control only in lieu
Rack x 177°(D). of IEEE-488

ADDENDUM

MODEL M107

SBYSTRON DONNER

C ORPORATI! ON

This addendum involves the options that are available for the Model
M107. Refer to Table 1-2 Options on page 1-2. The updated
options table below reflects the latest changes. Please note that old
option number 06 is now 03; and a new option 06 added.

TABLE 1-2. OPTIONS
OPTION DESCRIPTION

01, Parallel Interface: Provides for remote control
inputs to establish 6-digit
output setting range and
polarity.

03 100/200 Vac: Provides for operation on
100/200V +10% ac line
power.

06, 100 mA Output: Provides 100 mA maximum
current output on 10V and
100V ranges.

07, Local Control: Local Control only in lieu

f of IEEE-488.
M107-10-80 MODEL M107 PRECISION D.C. VOLTAGE SOURCE
0

1-2 M107-9-79



CHAPTER 2
INSTALLATION

2-1. INTRODUCTION

2-2. The Model M107 Precision D.C. Voltage Source is shipped in an operational
condition, and is essentially ready for use as received. This section contains
unpacking, inspection, and installation information to aid in setting up the
instrument. Instructions for reshipment are also included should the unit re-
quire return to Systron-Donner Corporation.

2-3. RECEIVING INSPECTION

2-4., As soon as the instrument is received, check the carton for evidence of
damage or rough handling. If damage is found, or is suspected, notify the car-
rier and your Systron-Donner representative. Open the shipping container only
in their presence. DO NOT USE THE INSTRUMENT UNTIL INSTRUCTED TO DO SO BY THE
REPRESENTATIVE.

2-5. Use care in removing the instrument from the container. Check immediately
for loose or broken control knobs, bent or broken connectors, and dents or
scratches on the panel surfaces. If damage of any nature is found, refer to the
warranty instructions in the front of this instruction manual.

2-6. All Systron-Donner instruments must pass rigid inspection tests before
leaving the plant. However, upon receipt, a receiving inspection test should be
performed immediately after unpacking to ensure that the instrument is still
operational. (Refer to Chapter 3.)

2-7. INSTALLATION
2-8. Power

2-9. The Model M107 is provided with a 3-conductor power cord which grounds the
case when connected through a compatible grounding outlet. If a standard ground
outlet is not available, a 3-conductor adapter must be used which provides the
necessary grounding. Make sure the rear panel 115/230 V switch is in the correct
position before connecting the instrument to a power source. Also be certain
that the proper fuse is installed (1/2 A 3AG). For 230 V operation, the fuse
supplied with the unit should be replaced with a 1/4 A 3AG fuse to adequately
protect the instrument.

2-10. IEEE-488 Interface

2-11. 1IEEE-488 interface connection is made to the rear panel connector as
shown in Figure 2-1. Table 2-1 defines the input/output pin configuration, and
Table 2-2 provides program format data.

M107-10-81 2-1



TABLE 2-1.

IEEE DATA INTERCHANGE CONNECTOR

PIN FUNCTION PIN FUNCTION
1 DIOL 13 DIO5
2 DIO2 14 DIO6
3 DIO3 15 DIO7
4 DI04 16 DIO8
5 EOQL 17 REN
6 DAV 18 Gnd DAV return
7 NRFD 19 Gnd NRFD return
8 NDAC 20 Gnd NDAC return
9 IFC 21 Gnd IFC
10 SRQ 22 Gnd SRQ return
11 ATN 23 Gnd ATN return
12 SHIELD (gnd) 24 Gnd Logic return
Notes:
1. DIO = Data Input/Output
2. EOI = End or Identify
3. DAV = Data Valid
4. NRFD = Not Ready For Data
5. NDAC = Not Data Accepted
6. IFC = Interface Clear
7. SRQ = Service Request
8. ATN = Attention
9. REN = Remote Enable
10. Ground refers to the signal ground return of the Referenced contact.
121 10 9 8 7 6 5 4 3 2
24 23 22 21 20 19 18 17 16 15 14 13
FIGURE 2-1. IEEE-488 INTERFACE CONNECTOR
2-2

M107-10-81




2-12. Parallel Interface Option 01

This option allows the Model M107 to accept remote control inputs in parallel
bcd format, single character serial format or group character serial format.
Table 2-3 defines the pin descriptions for the connector. Figure 2-2 shows the
Parallel Interface Connector. Mating connector is amphenol type 57-30500.

TABLE 2-2. PROGRAM FORMAT IEEE DATA INTERCHANGE

CODE ASCII
D107 D106 D105 D104 D103 D102 D101 CHAR FUNCTION GROUP
1 0 0 0 0 0 1 A 10°
1 0 0 0 0 1 0 B 10"
1 0 0 0 0 1 1 C 10° Voltage
1 0 0 0 1 0 0 D 102 Entry
1 0 0 0 1 0 1 E 10!
1 0 0 0 1 1 0 F 10°
1 0 1 0 0 0 0 P Polarity
1 0 1 0 0 1 0 R Range
1 0 1 0 0 1 1 S Strobe
TABLE 2-3. PARALLEL INTERFACE CONNECTIONS

PIN FUNCTION PIN FUNCTION

1 10° 1 bit 21 Not Used

2 10° 2 bit 22 Range & Pol Strobe

3 10! 1 bit 23 Not Used

4 10! 2 bit 24 Remote

5 10% 1 bit 25 HI Reference

6 10% 2 bit 26 10° 4 bit

7 10° 1 bit 27 10° 8 bit

8 10% 2 bit 28 10! 4 bit

9 10* 1 bit 29 10! 8 bit

10 10* 2 bit 30 102 4 bit

11 10° 1 bit 31 102 8 bit

12 10° 2 bit 32 10° 4 bit

13 Not Used 33 10° 8 bit

14 Not Used 34 10* 4 bit

15 10° - Strobe In 35 10" 8 bit

16 10! - Strobe In 36 10° 4 bit

17 102 - Strobe In 37 105 8 bit

18 103 - Strobe In 38 Not Used

19 10* - Strobe In 39 Current Limit Out
20 10° - Strobe In 40 Not Used

M107-10-81 2-3




TABLE 2-3. PARALLEL INTERFACE CONNECTIONS (CONT'D)

PIN FUNCTION PIN FUNCTION
41 1 V Range 46 - Polarity
42 10 V Range 47 + Polarity
43 100 V Range 48 Standby

44 1000 V Range 49 Remote

45 Not Used 50 Ground

2-13. STORAGE AND RESHIPMENT

Environmental conditions during storage and shipment should be limited to a
maximum temperature of 85°C and a minimum temperature of -20°C.

To protect the instrument during shipment or storage, use the best packaging
methods available. Contract packing companies are also available to provide
dependable custom-packaging service on short notice.

252423222120191817161514131211 109 8 7 6 54 3 21

O \Crsrrrrrsrrrrssrrrrsases)) O

90 49 48 47 46 45 44 43 42 41 40 39 38 37 36 35 34 33 32 31 30 29 28 27 26

FIGURE 2-2. PARALLEL INTERFACE CONNECTOR

1. If possible, use the original shipping container designed for the in-

strument. Otherwise, a strong carton (350 1lb. f/in? bursting strength)
or box.

2. Wrap the instrument in heavy paper or plastic before placing it in the
shipping container.

3. Completely fill the area around the instrument with packing material;
protect the front panel with several sheets of cardboard.

4. Seal the package with strong tape or metal bands. Mark FRAGILE-DELICATE
INSTRUMENT on the outside of the package.

5. Refer to the warranty in this manual and check with the nearest Systron-

Donner field office for shipping instructions. In all correspondence,
refer to the instrument by full model and serial number.

2-4 M107-10-81



3-1. INTRODUCTION

CHAPTER 3
OPERATION

3-2. This chapter contains a description of the front and rear panel controls,
connectors and indicators along with a step-by-step operating procedure.

3-3. FRONT PANEL FUNCTIONS

3-4. The following table describes the controls, connectors, and indicators on

the front panel of the instrument.

The index numbers refer to Figure 3-1.

TABLE 3-1. FRONT PANEL FUNCTIONS
INDEX NAME DESCRIPTION
1 ADDRESS Displays 5 bit IEEE Bus address. An
54321 illuminated LED indicates a one, an unlit
LED indicates a zero.

2 REMOTE LED indicator illuminates when the in-
strument is in remote control mode.

3 Digit Display Displays the programmed output voltage.
Decimal point corresponds to the VOLTAGE
RANGE selected.

4 VOLTAGE ENTRY Ten momentary pushbutton switches num-
bered zero through nine. Sets desired
voltage when pressed.

5 CURRENT LIMIT LED indicator illuminates when output

Indicator equals the setting of the Current Limit
Control.
6 CURRENT LIMIT Rotary knob controlling a potentiometer,
Control sets output current limit,
7 SENSE Red and black binding posts, can be tied
HI LO directly to the OUTPUT terminals for
local sensing or wired for remote
sensing.

8 OUTPUT Red and black binding posts to the right

HI LO of the SENSE binding posts provide out-
put of selected voltage. The red OUTPUT
binding post is always the same polarity
as the output polarity selected.

M107-10-81 3-1




sYsTRon G JEET s omeuss PRECISION D¢ POLIAGE SOURCE
, MOOE| sior CURRENT

F ; wwr 0%

43 2 1 mmOR
. » + ! Joc I W B o ¢ |\ e ®

t 407 ] VOLTAGE ENTRY

I 7@&,“ ol "

13 11 10 9

FIGURE 3-1. MODEL M107 FRONT PANEL

FIGURE 3-2. MODEL M107 REAR PANEL

3-2 M107-10-81



TABLE 3-1. FRONT PANEL FUNCTIONS (CONT'D)

INDEX NAME DESCRIPTION
9 Ground ,The white binding post is the chassis
ground.
10 VOLTAGE RANGE Momentary—-Action pushbuttons, when
pressed, select-sthe dc output range as
follows:

Range Max DC Output

1 0.999999
10 9.99999
100 99.9999
1000 999.999
11 POLARITY, STANDBY Pushbutton switches, when pressed, se-

lect the polarity of the output voltage,
(+) positive or (-) negative. The
STANDBY switch opens the power supply
and applies a short across the OUTPUT
terminals.

12 DIGIT SELECT Six momentary pushbutton switches, when
pressed, enable one digit to be changed
without disturbing other digits. From
left to right the switches control the
decades in descending order: 105, 10“,
103, 102, 10!, 10°. The digit about to be
entered will begin to blink.

13 CLEAR Momentary pushbutton switch, when pressed,
clears the display and returns the output
voltage to zero. If the Model M107 is in
SEQUENTIAL mode, the CLEAR pushbutton will
reset the sequencer.

14 SEQUENTIAL Momentary pushbutton switch, when jressed
enables the memory decades to sequentially
accept the 6-digit input corresponding to
the desired voltage output. The most sig-
nificant digit is entered first, followed
by the other figures in descending order
of significance. The digit about to be
entered will begin to blink.

15 POWER Toggle switch, applies primary power to
the instrument.

M107-10-81 3-3




3-5. REAR PANEL FUNCTIONS

3-6. Table 3-2, Rear Panel Functions, describes the controls and connectors on
the rear panel of the Model M107. The index numbers refer to Figure 3-2.

TABLE 3-2. REAR PANEL FUNCTIONS

INDEX NAME DESCRIPTION

1 OUTPUT Five terminal jack provides rear panel
connections for OUTPUT, SENSE and
GROUND terminals. Wired in parallel
with front panel binding posts.

2 LINE Slide switch internally connects the
power transformer to operate with
either 100/115 Vac or 200/230 Vac input.

3 AUX OUTPUT l4-pin connector provides external out-
put of current limit indicator. Pin
14 is ground, Pin 7 is current limit
signal.

4 REMOTE PROGRAM 5 slide switches allow selection of

(IEEE Address) IEEE-488 listen address.

5 REMOTE PROGRAM 24-pin connector per IEEE-488 GPIB.
(IEEE Connector)
or

Parallel Interface 50-pin connector, provides for remote

Option 01 programming of voltage level, polarity
and range. See Table 2-3 for pin
assignments.

6 FUSE Protects the Model M107 in the event of
an internal overload. Use only the
specified fuse:

1/2 A Slo-Blo 100/115 V
1/4 A Slo-Blo 200/230 V

7 AC POWER Three prong plug connects the power

line cord to the Model M107.
3-7. OPERATING PROCEDURES

3-8.

There are two operating modes, remote and local. If the unit is commanded

to go to remote mode via the IEEE or Parallel Interface, the remote indicator
will light and data can then be entered from a distant operating position.
Unless otherwise commanded, the unit is normally in local mode requiring manual
entry of operating data.

3-4

M107-10-81




3-9. Initial Turn-on and Checkout Procedure

3-10. Set the line switch on the rear panel to the voltage that will be used,

115 V or 230 V. Verify that 1/2 amp fuse supplied with the unit is replaced

with a 1/4 amp fuse if 230 V is to be used. Connect the power cord to the rear
panel and to the appropriate outlet, position the front panel switches as follows:

POWER Set upward
RANGE Press 10
CURRENT LIMIT Adjust as required

3-11. Digital Section Checkout
1. Press appropriate VOLTAGE ENTRY switches to display a desired voltage.
Enter the most significant digit first, followed by the other digits
in descending order of significance. Press CLEAR switch. Repeat step
number 1 until proper operation of all VOLTAGE ENTRY switches is verified.
2. Press the far left (10°) DIGIT SELECT switch. Press a voltage entry
switch and verify the correct placement of the entered digit. Repeat
step number 2 with each successive DIGIT SELECT switch (10%, 103, 102,
10, 107%).
3-12. Analog Section Checkout
1. Depress CLEAR switch.
2. Connect a Digital Voltmeter across the OUTPUT.
3. Enter selected voltage.
4. Press the + POLARITY switch and verify the ordered voltage on the DVM.
5. Press the STANDBY switch and verify zero output.

6. Press the -- POLARITY switch and verify the ordered voltage on the DVM.

7. Repeat steps 1 through 7 using different RANGE and voltage settings.
Verify the proper output on the DVM.

3-13. Load Regulation Checkout

1. Connect the proper resistance across the OUTPUT terminals:

1 V RANGE 10 M2 5% 1/2 W

10 V RANGE 200 Q 5% 1/2 W
100 V RANGE 2 kQ 5% 5W
1000 V RANGE 200 kQ 5% 5W

2. Connect the DVM across the load resistor.

M107-10-81 3-5



3. Program the maximum voltage for the RANGE under test (e.g. 99.9999 for
100 V RANGE).

4. Set the CURRENT LIMIT control to the maximum clockwise position for all
ranges.

5. Read the programmed voltage on the DVM.

3-14. Local Operation
To select an output voltage:

1. With the POWER switch on and the instrument at the proper operating
temperature, set the CURRENT LIMIT control to the desired output level.
(Note: The numbers on the CURRENT LIMIT control are approximate.)

2. Press the SEQUENTIAL switch. This sets the input to receive the desired
6-digit output voltage entry. The far left digit will begin to blink
(bright/dim/bright...).

3. Press the CLEAR switch. This sets all digits of the output to zero.

4. Press the STANDBY switch. This disconnects the power supply and
connects a short across the output terminals.

5. Press the desired VOLTAGE RANGE switch. Use the lowest range that will -
provide the required output voltage.

6. Enter the desired voltage by pressing in sequence, the VOLTAGE ENTRY
switches, most significant digit first. The digit about to be entered
will appear to blink beginning with the far left digit. As each digit
is entered the blinking digit progresses to the right. When the last
entry is made at the far right, the digit will stop blinking. If fewer -
than 6 significant digits are required, zeroes may be entered to make
up the 6-digit entry. This is not necessary, however, except when a
zero is one of the significant digits, i.e. 10.12 V dc.

7. Press the selected POLARITY switch, (+) positive or (-) negative.
8. The programmed voltage will now be present at the OUTPUT terminals.
To program a new 6-digit output voltage:

9. Press the CLEAR switch and enter the desired voltage in the same manner
as above (i.e. STANDBY, VOLTAGE RANGE, VOLTAGE ENTRY, POLARITY). Press-
ing the CLEAR switch sets the digits of the output to zero and resets
the sequencer. The far left digit will begin to blink indicating it is
ready to receive a voltage entry.

To program a new voltage changing only one digit:
10. Press the DIGIT SELECT switch below the digit to be changed. The digit
to be entered will blink. The SEQUENTIAL light goes out.

3-6 M107-10-81



11. Enter the desired new digit on the VOLTAGE ENTRY keyboard. The digit
entered will blink until another digit is selected for change. SE-
QUENTIAL mode is enabled, or remote control mode is enabled.

To return to sequential operation:

12. Press the SEQUENTIAL switch and enter the desired voltage as described
above (i.e. STANDBY, VOLTAGE RANGE, VOLTAGE ENTRY, POLARITY). The
SEQUENTIAL light illuminates.

3-15. IEEE STD-488 GPIB OPERATIONAL PROCEDURES

3-16. The M107 may be remotely operated via the General Purpose Interface Bus
(GPIB). The M107 can be controlled or talked to by any appropriate device or
devices that are IEEE STD-488 compatible.,

3-17. The M107 is a listen-only device. It may be used in Local or Remote
mode. When commanded to Remote mode over the interface bus lines, the front
panel controls become inoperative and the REMOTE indicator light illuminates.
The M107 may now be programmed as to voltage range, output and polarity, by
receiving device dependent commands. The M107 will ignore any device dependent
or independent command that it has not been programmed to respond to.

3-18. IEEE STD-488 Subsets Implemented

3-19. The following is a list of the subset configuration of the Model M107
Precision D.C. Voltage Source's GPIB.

SH-0 Source Handshake, None
AH-1 Acceptor Handshake, Full
T-0 Talk, None

TE-0 Extended Talker, None
L-2 Listen, Basic Listener
LE-0 Extended Listener, None
SR-0 Service Request, None
RL-2 Remote Local, No LLO
PP-0 Parallel Poll, None
DC-1 Device Clear, Full

DT-0 Device Trigger, None
c-0 Controller, None

3-20. GPIB Characteristics

3-21. The IEEE STD-488 GPIB system consists of a set of sixteen signal lines
that are used to carry data information, interface messages and device depen-
dent messages between different devices connected to the bus.

3-22. The GPIB is organized into three sets of signal lines:

1. Data bus, 8 signal lines (designated DIOl through DI08). Seven are
actively used by the M107.

2. Data byte transfer control bus, 3 signal lines, DAV, NRFD, and NDAC.

M107-10-81 3-7



3. Interface management control bus, 5 signal lines (3 are actively used
by the M107). These control lines are: IFC, ATN, REN, SRQ, and EOI.

3-23. Figure 3-3 illustrates the GPIB structure and its interface capabilities.

NOTE

For complete details on the electrical me-
chanical and timing requirements, refer to
IEEE STD-488 1978.

3-24. The bus interface lines are assigned IEEE STD-488 mnemonics which are
defined as follows:

DIOl through DIO8: Data Input/Output lines 1 through 8, transmitted message
bytes in bit parallel, byte-serial format, asynchronously and in a bi-directional
manner.

DAV: Data Valid, indicates the availability of data on the DIO lines.

NRFD: Not Ready For Data, indicates when the device is ready to accept data.

ATN: Attention, indicates how the data on the DIO lines is to be interpreted,
and which devices will respond to the data.

IFC: Interface Clear, is used to set the interface system, and the devices
connected to it into a known quiescent state.

NDAC: Not Data Accepted, indicates when the data received was accepted.

SRQ*: Service Request, is used to request service from a controller.

REN: Remote Enable, is used by a controller device (in conjunction with other
messages generated in the local logic) to place the Device in the Remote Mode

of operation.

EOI: End Or Identify is used to indicate the end of a data transfer or, with
the ATN line to execute a polling sequence.

3-25. Table 3-3 provides the pin designation for the rear panel GPIB 24-pin
connector.

TABLE 3-3. GPIB INTERFACE CONNECTOR

PIN NO. IEEE STD-488 MNEMONIC
1 DIO1
2 DIO2
3 DIO3
4 DI04

*These lines are not used by the Model M107 Precision D.C. Voltage Source, and
are supplied with terminations only.

3-8 M107-10-81



SD 3520

INSTRUMENTATION

CONTROLLER

ABLE TO TALK

LISTEN AND

CONTROL

SD 60548

REQUENCY COUNTER

| DATA BUS

DATA BYTE TRANSFER CONTROL

ABLE TO TALK

AND LISTEN

INTERFACE MANAGEMENT CONTROL

SD DPSD-50

PROGRAMMABLE

DUAL POWER SUPPLY

‘Jl
¢ N

“Ll
J«»

ONLY ABLE TO LISTEN

OTHER DEVICE

ONLY ABLE TO TALK

I DIO BITS 1 THRU 8

- DAV

$ NRFD

P NDAC
- IFC

> ATN

> SRQ

- REN

Jp EOI

FIGURE 3-3.

M107-10-81

GPIB INTERFACE CAPABILITIES AND BUS STRUCTURE



TABLE 3-3. GPIB INTERFACE CONNECTOR (CONT'D)

PIN NO. IEEE STD-488 MNEMONIC
5 EOI (not used)
6 DAV
7 NRFD
8 NDAC
9 IFC
10 SRQ (not used)
11 ATN
12 GND (shield)
13 DIO5
14 DIO6
15 DIO7
16 DIO8 (not used)
17 REN
18 GND (DAV Return)
19 GND (NRFD Return)
20 GND (NDAC Return)
21 GND (IFC Return)
22 GND (SRQ Return)
23 GND (ATN Return)
24 GND (Logic Return)

3-26. When the Model M107 is connected to the GPIB via its rear panel connector
and commanded to Remote mode, the M107 may be controlled by an instrument con-
troller, a calculator or any other devices that are IEEE STD-488 compatible.

The '"Handshake" process by which the M107 is remotely enabled is as follows:

1. The IFC command is issued by the controlling device and will cause the
M107 to monitor the GPIB for further instructions. If the M107 was
addressed as a listener, it will be unaddressed. The DIO1 through
DIO7 lines will go to the tristate mode.

2. The REN command is issued by the controller device. If the M107 re-
ceives its listen address while the REN line is active, the M107 will
enter the Remote Mode and listen for programming data. All front
panel controls will become inoperative.

3. When the REN line goes inactive, the M107 will enter its Local Mode and
the front panel controls will become operative.

3-27. The addressing process is controlled by the GPIB ATN line and functions
as follows:

1. The M107 is addressed to listen by the Controller issuing its a331gned
listen address while the ATN line is set active.

2. If the M107 was addressed to listen, and the Unlisten (UNL) ASCII command
is issued by the controller, the M107 will deselect itself as a listener.

3-28. Address Assignment Procedure

3-10 M107-10-81



3-29. The Listen address is selected by the Rear Panel 5-digit address switch.
The setting of the 5-digit switch determines which Listen address will be
assigned to the M107. Thirty-one Listen addresses may be assigned. Refer to

Table 3-4 for the address to ASCII code format.

TABLE 3-4. LISTEN ADDRESS ASSIGNMENTS VS. ASCII CHARACTER

ADDRESS SWITCH SETTING BITS

ASCII CHARACTER

(8]

4 3 2

—

~ K = 2 B B B B HF P OO OOOOOO O O O O o o o o
H H P O OO0 OO 0O o H H HFHKFPFHKFPHFHOOOOOO O O
o oo B B P OO OOHHRFPFH OOOOKMH HFEFH O O O O
H O O H oo H H OO Pk B oo B Pk O O+ +H O o +H +H O O
o r O o okHrHr o o Hr oH or o o o+ oK+ O+ O

=
[
o
=
=

LISTEN

SP

"

i
$
%

O 00 ~NN O U & W N B O S .

M107-10-81




TABLE 3-4.

LISTEN ADDRESS ASSIGNMENTS VS. ASCII CHARACTER. (CONT'D)

ADDRESS SWITCH SETTING BITS

ASCII CHARACTER

5

*1

4

e

3

T

2

= = O O

= O K+ O

LISTEN

*Not to be device assigned.

3-30.

3-31

Refer to note.

NOTE

A 1-1-1-1-1 must not be assigned to any device
interfacing the bus; these addresses are re-
served for unlisten, ASCII(?), and the untalk,
ASCII(-) commands.

IEEE STD-488 Multiline Interface Messages

. The IEEE STD-488 messages relate to an ASCII code. Table 3-5 provides
the DIO bit to ASCII character relationship.

TABLE 3-5.

IEEE STD-488 DIO CODE TO ASCII CHARACTER

IEEE STD-488 DIO BIT

ASCIT CHARACTER

7 6 5 4 3 2 1 LISTEN TALK
o1 0 o0 0 0 © SP
o1 o o o0 0 1 !
o1 o o 0 1 0 "
o1 o o o0 1 1 #
o1 o0 o0 1 0 0 $
o 1 o0 o0 1 0 1 %
o1 o0 o 1 1 0 &
o1 o o0 1 1 1 '
o1 o0 1 0 0 0 (
o 1 o 1 o0 0 1 )
o 1 0 1 0 1 0 *
o1 o 1 o 1 1 +
3-12 M107-10-81




IEEE STD-488 DIO CODE TO ASCII CHARACTER (CONT'D)

IEEE STD-488 DIO BIT

TABLE 3-5.

ASCII CHARACTER

LISTEN

TALK

cF N O Hd N N T NN O I~ 0O O

@ 4 M O AR KM O @D H P M

3-13

M107-10-81



TABLE 3-5. IEEE STD-488 DIO CODE TO ASCII CHARACTER (CONT'D)

IEEE STD-488 DIO BIT ASCII CHARACTER
7 6 5 4 3 2 1 LISTEN TALK
1 0 o0 1 1 o0 O L
1 0o o 1 1 o0 1 M
1 0o o 1 1 1 o0 N
1 0o o 1 1 1 1 0
1 0 1 o0 0 o0 o© P
1 0 1 o0 0 o0 1 Q
1 0o 1 o0 o0 1 o0 R
1 0o 1 o0 o0 1 1 S
1 0 1 o0 1 o0 o0 T
1 0o 1 o0 1 o0 1 U
1 0 1 o0 1 1 o0 v
1 0o 1 o0 1 1 1 W
1 0o 1 1 0 o0 O X
1 0 1 1 o0 o0 1 Y
1 0o 1 1 o0 1 o0 z
1 o 1 1 o0 1 1 [
1 0 1 1 1 0 0 \
1 o 1 1 1 o0 1 1
1 o 1 1 1 1 o0 -
1 0 1 1 1 11 -

3-32. GPIB Voltage Selection Data Entry Procedure

3-33. The Model M107 is remotely programmed by receiving ASCII characters on the
GPIB cable that represents desired program information. To program the D.C.
voltage, the M107 must receive an alphabetic character indicating the digit to be
changed and a numeric character that signifies the value that digit is to receive.
Table 3-6 shows the D.C. voltage programming format.

TABLE 3-6. VOLTAGE ENTRY CHARACTERS

ASCII CHARACTER DATA FUNCTION

"A Stores following numerical character in
10°% (MSD) register.

B Stores following numerical character in
10" register.

3-14 M107-10-81




TABLE 3-6. VOLTAGE ENTRY CHARACTERS (CONT'D)

ASCIT CHARACTER DATA FUNCTION

C Stores following numerical character in
10° register.

D Stores following numerical character in
102 register.

E Stores following numerical character in
10} register.

F Stores following numerical character in
10° (LSD) register.

Examples:

To change the 103 digit to a numerical 4, enter ASCII characters C4.

To change the 10° digit to a numerical 7, enter ASCII characters F7.

To change the 10° digit to a numerical 2, enter ASCII characters A2.
3-34. The above characters are stored in the interim voltage registers and are
not shifted to the output until a strobe character 'S', is received (See 3-37).
3-35. GPIB Range and Polarity Selection Data Entry Procedure
3-36. Programming the range and polarity of the output voltage is much like the
programming of the voltage digits. The M107 must receive an ASCII character R or
P indicating range or polarity followed by a numerical character representing the

function the range or polarity register is to assume. Table 3-7 shows the range
and polarity programming format.

TABLE 3-7. RANGE AND POLARITY ENTRY CHARACTERS

ASCII CHARACTER DATA RANGE REGISTER

Enter "R" followed by:

1 volt range

10 volt range
100 volt range
1000 volt range

WO

3-15 M107-10-81




TABLE 3-7. RANGE AND POLARITY ENTRY CHARACTERS (CONT'D)

ASCIT CHARACTER DATA POLARITY REGISTER

Enter "P" followed by:

0 Standby (output terminals
shorted)
1 "+'" Positive Polarity

"-"" Negative Polarity

3-37. Strobe Character, Interim and Working Registers

3-38. All entries of voltage, range and polarity are stored in interim registers
when entered via the GPIB cable. Only when the strobe character 'S' is entered
does the data shift to the working registers. The output voltage directly
follows the contents of the working registers.

Examples:
To program 27.3505 volts, 100 V Range, + Polarity:
ASCII String = A2B7C3D5EQF5R2P1S
To change output to 29.3505 volts, - Polarity:
ASCII String = B9P2S

3-39. The 'S' following the above examples causes the data to go immediately
to the working registers. Any letter-number pairs entered after the strobe
character will be entered only in the interim registers and will not affect the
working registers or the output voltage.

3-40. The interim registers retain all information until reprogrammed or cleared
by a device clear message on the IEEE Bus. If the M107 is placed in local mode,
the interim registers retain their information from previous remote commands.

If the M107 is returned to remote mode and given a strobe character, the output
voltage will assume the value it had prior to going to local mode.

3-41. The IEEE-488 Program Format is summarized in Table 3-7.

TABLE 3-8. IEEE STD-488 1975 PROGRAMMING FORMAT MEANING

PROGRAM BITS ASCII
7 6 5 4 3 2 1 CHARACTER FUNCTION
0 0 0 0 1 A 10° Digit
B 10" pigit
Cc 10°% pigit

3-16 M107-10-81




TABLE 3-8. [IEEE STD-488 1975 PROGRAMMING FORMAT MEANING {CONT'D)

PROGRAM BITS ASCII
7 6 5 4 3 2 1 CHARACTER FUNCTION
1 0 0 0 1 0 0 D 10 Digit
1 0 0 0 1 0 1 E 10 Digit
1 0 0 0 1 1 0 F 10 Digit
1 0 1 0 0 0 0 P Polarity
1 0 1 0 0 1 0 R Range
1 0 1 0 0 1 1 S Strobe

3-42. MWake-Up States

3-43. When power is applied to the M107, all interim and working register
contents are equal to O. Thus, the M107 "wakes up" to the following conditions:

All voltage digits = 0
Range 1v
"Standby" state

3-44. When the M107 receives a device clear command, the interim and working
registers are reset to the above wake-up states.

3-45. GPIB Program Example

3-46. The Model M107 may be program controlled by a number of different con-
troller devices. The following typical program example provides the keystroke
entry sequence for programming the Model M107 using the Systron-Donner 3520
Instrumentation Controller, the Hewlett-Packard HP9825A and HP9815 Desktop
Computers, and the Commodore PET Computer.

3-47. 1In this example an ASCII #* listen address is assigned to the Model M107.
The assigned address is set by placing the M107's rear panel address switches

to 01010. 1In the case of HP9825A, the Desktop Computer is addressed with its
rear panel address switches (710 address is used in this example, 7 being the
HP9825A's bus address and 10 being the Model M107's assigned address in decimal).

3-48. The steps of the example program are written to be keyed into the control- -
ler device one step at a time and the Model M107 will immediately respond to
each step entry made.

Prepare the controller for Bus operation.
Clear the Bus and command the M107 to remote.
Set the output to +25.0000 V.

. Change the polarity to "-'".

Set the output to -15.6667 V.

.

v W

M107-10-81 3-17




Systron-Donner 3522 Entry Keystrokes:

TO BE SUPPLIED

Hewlett-Packard 9825A Entry Keystrokes:

1. (Not Applicable)

2. RESET

3 wrt 710, "A2B5CODOEOFOP1R2S"
Execute

4, wrt 710, "P2s"
Execute

5. wrt 710, "AlC6D6E6F7S"
Execute

Hewlett-Packard 9815A Entry Keystrokes:

1. CLEAR

2. Alpha 5 Alpha U?#%* Alpha

3. Alpha 5 Alpha Blank A2B5CODOEQOFOP1R2S
4. Alpha 5 Alpha Blank P2S Alpha

5. Alpha 5 Alpha Blank AlC6D6E6R7S Alpha

Commodore PET Entry Keystrokes:

1. OPEN 1, 10

2. (Not Applicable)

3. Print #1, "A2B5CODOEOFOP1R2S"
CR

4. PRINT #1, "P2S"
CR

5. PRINT #1, "Al1C6D6E6F7S"
CR

3-49. Option 01 Parallel Interface
3-50. This option allows remote control of voltage output, range, and polarity.

The DTL-TTL-CMOS compatible inputs are referenced to chassis ground. The ground
true inputs for control of Range and Polarity have 10 k pull-up resistors and

3-18 M107-10-81



the positive true bcd inputs for voltage programming and digit strobe inputs
are provided with 10 K pull-down resistors. The remote mode may be selected
by a positive true input (internal 10 K pull-down) via pin 24 or by a ground
true input (internal 10 K pull-up), pin 49. A ground true current limit flag
output capable of 50 mA is also provided. The input programming pin assign-
ments are shown in table 3-9. The mating connector is Amphenol type 57-30500.
(S.D. P/N 101157)

3-51. The data input lines and separate strobe input lines allow flexibility of
programming format. The six digits may be programmed in full parallel operation
with individual or simultaneous use of the digit strobe inputs. To reduce the
number of programming interconnect wires required, the six groups of digit data
lines may be tied together (i.e., tie all the 1-bit lines together, all the 2-bits
together etc.) to form a single bed digit. The six digit strobe lines are then
used to program the voltage decades in serial format.

3-52. The range and polarity strobe input may be used to latch the range and
polarity data or it may be connected to the HI REFERENCE (+5 V) pin so that
range and polarity will "follow" the selected input data.

If the range and polarity strobe input is taken high while none of the range
and polarity input lines are selected (low), a default condition of 1 V Range
and standby will be programmed.

The strobe lines admit data set up on the input lines to the working storage

registers. The data should be present on the lines for a minimum setup time of
2 U Sec and the minimum strobe pulse width is 1 u Sec.

M107-10-81 3.19



TABLE 3-9

PARALLEL INTERFACE CONNECTIONS

PIN FUNCTION PIN FUNCTION
1 10° 1 bit 21 Not Used
2 10° 2 bit 22 Range & Pol Strobe
3 10! 1 bit 23 Not Used
4 10! 2 bit 24 Remote
5 10% 1 bit 25 HI Reference
6 10% 2 bit 26 10° 4 bit
7 10% 1 bit 27 10° 8 bit
8 10% 2 bit 28 10! 4 bit
9 10* 1 bit 29 10! 8 bit
10 10* 2 bit 30 102 4 bit
11 10° 1 bit 31 10% 8 bit
12 10° 2 bit 32 10° 4 bit
13 Not Used 33 10° 8 bit
14 Not Used 34 10* 4 bit
15 10° - Strobe In 35 10* 8 bit
16 10} - Strobe In 36 10° 4 bit
17 10% - Strobe In 37 10° 8 bit
18 10 - Strobe In 38 Not Used
19 10* - Strobe In 39 Current Limit Out
20 10% - Strobe In 49 Not Used
41 1 V Range 46 = Polarity
42 10 V Range 47 + Polarity
43 100 V Range 48 Standby
44 1000 V Range 49 Remote
45 Not Used 50 Ground

252423222120191817161514 13121110 9 8 7 6 5 4 3 2 1

©

30 49 48 47 46 45 44 43 42 41 40 39 38 37 36 35 34 33 32 31 30 29 28 27 26

3-20

M107-10-87




CHAPTER 4
PRINCIPLES OF OPERATION

4-1. INTRODUCTION

4=2. This chapter contains a general functional description of the M107 Preci-
sion DC Voltage Source and corresponding functional block diagrams (Figures 4-1
and 4-2). Also included in this chapter are descriptions of each circuit board.
References are made to the accompanying diagrams and to schematics in Chapter 7.

4-3. FUNCTIONAL DESCRIPTION

4-4. The Model M107 consists of two major sections: the digital section which
controls/programs the output voltage, and the analog section which generates the
output voltage.

4-5. DIGITAL SECTION

4-6. The digital section of the M107 (see Figure 4-1) receives voltage, range
and polarity data from local or remote sources, and generates timing pulses
that are output to the analog section. These operations are detailed in the
following paragraphs.

4-7. 1In the local mode, the front panel provides control of DIGIT SELECT,
VOLTAGE RANGE and POLARITY functions. This data is transferred from the digit
select and voltage select boards A7 and A8 to the encoder board A2.

4-8. The encoder board A2 converts the voltage digits into bed which are then
output to the data selectors on the IEEE-488 interface board Al. If local data
is desired instead of remote data, the data selectors on the IEEE-488 interface
board Al apply the local data to the working registers on the digital mother
board A4. Each working register accepts data when a digit strobe from the
encoder board A2 is received. From the working registers, each bed digit is
applied to the comparator on the digital analog (d/a) control board A3.

4-9. When in remote mode, the voltage data is applied to the IEEE-488 inter-
face board Al from connector J102. In this case, the data selectors on the Al
assembly select data from the IEEE bus instead of from the encoder board A2.

4-10. When the strobe character "S" is received on the bus, a strobe pulse
(shown as 'Remote Strobe') is sent to the encoder board A2. This causes digit
strobes to pass from A2 to the working registers on the digital mother board
A4, which enables these registers to receive the IEEE data. From A4, the
voltage data is sent to the comparator on A3.

4-11. Range and polarity data from local or remote sources is treated in a man-
ner similar to voltage data, but does not pass through the working registers
on A4,

M107-10-81 4-1



4-12. 1In local mode, range and polarity data is generated on the voltage

select board A8 and is fed to the encoder board A2 where it is bed latched and
encoded. From the encoder board A2, the data is routed across the digital mother
board A4 to the data selectors on the IEEE-488 interface board Al. On the Al
board, REN line status determines whether local or remote data will be accepted.
If the REN line is high, the local range and polarity data will be sent to the
d/a control board A3.

4-13. In remote mode, if the range and polarity commands from J102 are accepted
as valid; the data is stored on the IEEE-488 interface board Al. If the inter-
face has been placed in the remote mode, the remote data is presented to the

d/a control board A3.

4-14. The voltage data from the working registers on A4, and the range and
polarity data stored in the latch circuit on A3, are fed to the display driver
board Al0 and then to the display board A9.

4-15. The d/a control board A3 generates a duty cycle or —- cycle controlled
waveform whose positive and negative transitions create a time interval pro-
portional to the ordered voltage.

4-16. The operation of the d/a control board A3 begins with a stable oscillator
that drives a three-digit counter, which in turn provides a bed signal to the
comparators. After each start transition, the counter begins counting up from
zero. When the counter bcd level coincides with the set-up bcd data in the
working registers, the comparator applies the stop transition to the trans-
formers T2 and T3. Pulse transformers T2 and T3 couple the start and stop
transitions of the duty cycle controlled waveforms from the digital to the
analog section.

4-17. Range and polarity data is also processed on the d/a control board A3.
The selected range and polarity information is stored and a protection delay
is generated during range and polarity changes.

4-18. From there, the range and.polarity opto-isolators on A4 are energized;
which in turn operates range and polarity relays on the analog board AS.

4-19. ANALOG SECTION

4-20. In the analog section, a temperature compensated precision voltage device
develops a stable 6.95 V reference voltage. The 6.95 V is applied to the pulse
width modulator, essentially an analog gate in the path to the filter network.

A modulator start pulse (from the digital section) opens the gate and the filter -
will charge; a stop pulse closes the gate, disconnecting the 6.95 V charging
source. The filter network smooths out this 'chopped" 6.95 V to provide a
steady dc output voltage to a dc buffer amplifier which drives a high voltage

dc amplifier and emitter follower output stage. As the input to the buffer
amplifier changes from O to 6.95 V, the emitter follower output changes from

0 to 100% of full scale output. The voltage is applied to the output terminals
through the polarity reversing and standby relays.

4-2 | M107-10-81



4-21. A sample signal is taken from the OUTPUT terminals, via the SENSE terminals
and RANGE selector (a simple resistive voltage divider), for negative feedback

to the buffer amplifier. Full scale output is established by the division ratio
of the voltage divider and is selected by the range relays. Four divider ratios
may be set at the front panel for full range outputs of 1, 10, 100 and 1000 V dc.
The dc open-loop gain of the amplifier section is >150 dB. Therefore, even at
1000 V output, the worst case loop gain is approximately 100 dB with an inherent
line/load rejection of better than 1 part in 10°,

4-22. CIRCUIT DESCRIPTIONS
4-23, The following descriptions are of the circuit boards that comprise the M107:

a. Digit Select PC Board A7 and Voltage Select PC Board AS8.

b. Encoder PC Board A2.

c. IEEE-488 Interface PC Board Al.

d. Digital Mother PC Board A4.

e. Digital/Analog (D/A) Control PC Board A3.

f. Display PC Board A9.

g. Display Driver PC Board AlO.

h. Analog PC Board A.

i. High Voltage Amplifier PC Board A6.

j. CAL Switching PC Board All.
The above order of boards was determined by the operation of the M107 from front
panel data inputs to front panel voltage outputs.
4-24. DIGIT SELECT PC BOARD A7 AND VOLTAGE SELECT PC BOARD A8
4-25. The digit select board A7 is connected to the encoder board A2 via the
digital mother board A4. Whenever a DIGIT SELECT, SEQUENTIAL or CLEAR push-
button is pressed, a circuit is completed that places a high (logic 1) on the
corresponding input to the encoder board A2.
4-26. The voltage select board A8 works similarly. If a VOLTAGE ENTRY push-
button is pressed, a circuit is completed that places a high on an input of U19,
on the encoder board A2.
4-27. However, the VOLTAGE RANGE and POLARITY pushbuttons will apply a low

(logic "0") to their corresponding inputs on A2. Stand-by and current limit
LED indicators are located on this board and tied to circuitry on the A3 board.

M107-10-81 4-3



4-28. ENCODER PC BOARD A2

4-29. The encoder board A2 processes control signals from the voltage select
board A8 and digit select board A7 and encodes voltage, range and polarity in-
formation for the d/a control board A3. The operation of the encoder board A2
is detailed below.

4-30. When a VOLTAGE RANGE or POLARITY pushbutton switch is pressed on the vol-
tage select board A8, the corresponding line on the encoder board A2 is held low.
Gates Ul5 and U2l generate signals to the control latches Ul6. Pressing a
single VOLTAGE RANGE or POLARITY pushbutton sets up a two-digit binary code on
the latches which is output to the IEEE-488 interface board Al. Gates Ul5 and
U21 also ensure that the lower of two ranges is selected if more than one push-
button is pressed.

4-31. When a DIGIT SELECT pushbutton is pressed, a single line of the Ul4
priority encoder goes high, generating a binary code on the output pins. The
highest data line enabled has priority so that if more than one DIGIT SELECT
pushbutton is pressed, the lowest digit is selected. The binary outputs of Ul4
are connected to the program inputs on the Ul3 binary counter. When a digit

is selected, Ul4 outputs a high pulse on the group select line enabling the
debounce circuit, U5 and U6. This applies a high pulse to the preset enable
line on Ul3, setting up the 3 bit binary code on the digit pointer code outputs
,and. The digit select code output is also routed through the bcd-to-
decimal decoder U3 to the digit strobe gates.

4-32. The sequential mode control line also goes high when the SEQUENTIAL push-
button on the digit select board A7 is pressed. This sequential pulse sets the
sequential flip-flop U6-8 and resets the binary counter Ul3-9 to zero. The
reset is also accomplished when the CLEAR pushbutton is pressed; via gate U2-6.
After Ul3 is reset, the entry of a voltage numeral clocks the counter causing

it to strobe each digit in sequence. When not in sequential mode, U6-12 Q

holds the clock input high preventing voltage entries from advancing the counter.

4-33. When a voltage select signal is received from the voltage select board A8,
the corresponding input on Ul9 goes high. U19-6, 7, 9 generate bed bits 1, 2,
and 4 from inputs DO through D7, while Ul18-11 generates the bed 8 bit. Ul0 and
Ull constitute a debounce circuit, accepting only the first contact of a

VOLTAGE SELECT pushbutton. Ul0-6 is local strobe generator; pulsing the strobe
line selected by U3 decoder. Ull-2 clocks the binary counter Ul3-15 when
sequential mode is selected.

4-34. When power is first applied to the unit, the output of inverter U4-12
goes high and remains high until Cl charges through R1. This "Power On" pulse
sets latches on Ul6 (Pins 1, 9, 10, and 13) to the wake-up states indicated

by =(*).

U16-13 Out U16-9 Out
*1V 0 0
10V 1 0
100V 0 1
1000V 1 1

4-4 M107-10-81



U16-10 Out Ul6-1 Out

* Standby 0 0
'+' Polarity 1 0
'-' Polarity 0 1

4-35, The remote input D also goes high when remote is selected and re-asserts
the Power-On reset condition via U7-16. When the unit is returned to local
control U7-16 allows the RC circuit to charge and remove the reset signal from
the encoder circuitry. This results in the M107 always returning to the "wake-up"
state when local control is restored.

4-36. The remote line 3 (from Al board) goes high when the unit is commanded
to remote. This disables the local strobe decoder U3-11, the front panel CLEAR
pushbutton via Ul7-13 and the front panel DIGIT select pushbuttons via Ul4-4.

4-37. IEEE-488 INTERFACE BOARD Al

4-38. The IEEE-488 Interface board Al receives remote range, polarity and
voltage information from the IEEE bus and processes it for the digital mother
board A4.

NOTE

By definition, a high (+5 V) on the interface
bus represents a logic 0, while a low (0V)
represents a logic 1. After passing through
the bus and into the M107 circuitry, all logic
levels revert to standard TTL logic levels
where a logic high = 1 (+5 V) and a logic low
=0 (0V).

4-39. POWER ON ('PON') (see Figure 4-3). When the M107 is turned on, the PON
circuit R5 and Cl1l2 produces a high pulse that initiates power-on conditions.

4-40. U43-15 inverts PON to low, which inhibits gate U28-10 in the REMote
circuit, causing the M107 to wake-up in the local mode. The PON from U43-15
also inhibits U28-6 in the MLA circuit, preventing the M107 from receiving MLA
commands until the proper wake-up states are achieved. PON is also applied to
U6-4 in the Device Clear (DCL) circuit where the DCL Line resets the U4 and U5
interim range and polarity storage and the Ul7 through U22 voltage storage
registers, (not shown in Figure 4-3).

4-41. ROW AND COLUMN DECODERS 'ROW AND COL DEC' (see Figure 4-3). Messages on
the IEEE bus arrive via the standard 24-pin connector J102. Data arrives on
lines DI-01 through DI-07 in a bit-parallel byte-serial format, and is inverted
by U47 and U48. The data is then fed to Ul4, 15 and 16 ROW AND COL DEC. These
becd to decimal decoders provide the ROW AND COL of any character on the input
lines.

M107-10-81 4-5



4-42, HANDSHAKE Circuit (see Figure 4-3). Data is transferred on the input
lines according to the handshake process. If either ATN or MLA is low, the out-
put of U31-8 will be low allowing the NRFD and NDAC lines to respond on the bus.
Figure 4-4 shows the input handshake timing with references to text callouts
numbered 1 through 7.

® @ ©)

DAV —
®
u42—-9
® ®
Ud1—-12
0)
NRFD —
®
U427

® ®

U41-2

‘NDAC -@ ﬁl_

FIGURE 4-4. IEEE-488 INPUT HANDSHAKE TIMING DIAGRAM

4-43. The controller initializes DAV high which sets U41-12 low and resets
U41-2 high(D)

4-44. When the controller sees NRFD high and NDAC low, data is placed on the
DIO1 through DIO8 lines, and the DAV line is set lowc:) The low DAV triggers
U42-9 low for 4 us(:) The rising edge of the pulse from U42-9 clocks U41l-12
highc:) The output of U41-13, triggers U42-7 low for 10 pus. The rising pulse
from U42-7 clocks U41-2 1owc:) When the controller sees data accepted, it pulls
the DAV line(:)high again and puts the next byte of data on the bus. The cycle
repeats for each byte of input data.

4-6 M107-10-81



4-45, MY LISTEN ADDRESS ('MLA') Circuit (see Figure 4-4). The MLA puts the
M107 into listen mode when the correct listen address is detected.

4-46. U30, U12-10, U29-10, 11, U1l3-1 and U45-3 compare the IEEE-488 address
switches with bits DI-1, DI-2 through DI-5. If a match is detected U45-3
produces a high pulse. (Ul3-13 requires a valid MLA character DI-6 and DI-7
(COL 2 or 3), as well as ATN and DAV). If these conditions are met, U44-11
produces a low making U44-3 (MLA) high.

4-47. MLA remains high until an IFC, a UNL (ROW 15 DI-5, DI-6 and DI-7 or PON
Command is received. If any of these conditions are met, U28-6 will go low,
making U44-4 high, pulling U44-3 (MLA) low.

4-48, REMOTE 'REM' Circuits (see Figure 4-5). The REMOTE line commands the
voltage, range and polarity data selectors (U34 through U40) to select remote
data from the bus if REM is high or local data if low.

4-49, TIf ATIN, DAV and MLA are true, U28-9 goes high. The GTL (Go to Local)
message (ROW 1, COL 0) is NAND' ND 'ed with the output of U28-9 to produce a valid
GTL command. If either the GIL command is low, the REN command is false, or
the unit is in PON status, U28-10 will go low, driving the REM line, U27-10,
high. The M107 can be commanded to remote with a high REN and high MLA.
These are implemented by NAND gate U27-4 which triggers one-shot U26-9 pro-
ducing a low U27-13. (This drives the REM line, U27-11 high and the REM
U27-10, low.)

4-50. DEVICE CLEAR 'DCL' Circuit (see Figure 4-5. The DCL line detects a DCL .
or SDC (Selected Device Clear) message on the bus and resets the voltage, range
and polarity storage registers (U4, U5 and Ul7 through U23) to zero values.

4-51. A Pon signal will also drive the DCL line high. NAND gate U27-1 and
U27-2 accepts COL O and MLA inputs, two of the conditions for an SDC. Ul2-11
requires these conditions or a COL 1 which occurs with a DCL. U3-9 requires
a ROW 4 and ATN, completing the conditions for an SDC or DCL. A pon signal
at U6-5 will also drive the Clear line high.

4-52. VOLTAGE Circuit (see Figure 4-5). The voltage circuit detects valid
letter and number combinations and enables the appropriate voltage storage
register Ul7 through U22,

4-53. When a letter is present on the bus (COL 4, DI-4) and the MLA DAV ATN
A= AND operation) signal is present, Ul0-10 provides a hlgh pulse to the preset
enable line (Pg) of Ul. This sets up the output lines Qi through Q3 of Ul with
the data present on DI-1 through DI-3. The high pulse from U10-10 also clocks
the letter-number sequencer, U9-11, via Ul2-4., When the DAV signal is removed,
the Pg (Ul) line returns to a low state but the three-digit letter code remains
on Ul-6, 11 and 14. Gates Ul2 and U29 detect a character in ROWS 0-9. Bits
DI-2 and DI-3 are ORed at Ul2-3 and NAND'ed with bit DI-4 at U29-3. If these
conditions are true along with a COL 3 and MLA DAV AIN, then Ul0-6 produces a
high, indicating the character on the bus is a valid number O through 9.

4-54, If the character previously received was a letter, U9-13 will be high
allowing a low 'number strobe' pulse to pass from U29-4. This line is tied to
the D input of U2, the letter decoder. A low D input allows one of the lines

M107-10-81



Q1 through Q¢, A to F, to go high. This enables the appropriate storage regis-
ter Ul7 through U22 to receive the number on the data lines DI-1 through DI-4.

The low pulse from U29-4 also triggers the letter reset one-shot U26-4. The Q

output U26-6 resets U9 to prepare for another letter-number sequence and resets
Ul-9 via U6-10 to accept another letter.

4-55. RANGE Circuit (see Figure 4-5). The range circuit detects a valid range
command, an 'R' followed by a "0", "1", "2" or "3". This will clock the inter-—
im storage register U4, enabling it to receive data bits DI-1 and DI-2.

4-56. When a letter 'R' is received, the ROW 2 and COL 5 lines to U8-10 go high.
When DAV pulse is detected, U8-10 clocks the 'R’ storage register U25-11 pro-
ducing a high at U24-4. This letter 'R' pulse from U8-10 also clocks the letter—
number sequencer U9-11 via Ul2-4, A high U9-13 allows a valid number strobe to
pass from U29-4 only after a letter has been received.

4-57. If the next character on the bus is a valid number, a "o", "1, "2", or
"3", bits DI-3 and DI-4 will go high at U45-11 placing a high at U24-5. A num-
ber will also initiate a 'number strobe' in the voltage circuit, driving U24-6
high. This clocks storage register U4. The number strobe also triggers the
'letter reset' one-shot U26-6 (voltage circuit) which resets U25-10 via U7-10
preparing it for the next range entry.

4-58. POLARITY Circuit (see Figure 4-5). This circuit works in a manner simi-
lar to the voltage range circuit. If a 'P' followed by a "0", "1" or "2" is
detected, the interim polarity storage register U5 is clocked.

4-59. When a letter 'P' is received, the COL 5 and ROW O lines to U8 go high.
When a MLA DAV ATN pulse is detected, U8-6 clocks the 'P' storage register
U25-3. This letter 'P' pulse from U8-6 also sets the letter-number sequencer
U9-8 in the voltage circuit. A high U9-13 from the voltage circuit ensures
that a valid number strobe will pass from U29-4 ounly after a letter has been
received.

4-60. If the next character on the bus is a valid number, a "0", "1'" or "ar,
then the ROW 0, ROW 1 or ROW 2 (U7-5, 1 or 2) will be high, producing a high at
U24-1. This condition will also initiate a number strobe from the voltage cir-
cuit, driving U24-9 high. This clocks storage register U5. The number strobe
also triggers U26-6 in the voltage circuit which resets U25-4 via U7-12, pre-
paring it for the next polarity entry.

4-61. Range and Polarity Storage. This circuit stores remote range and polar-
ity data from the bus and selects between the remote data and the local data
provided by the Encoder board A2.

4-62. U4 and U5 are interim storage registers for remote data. When remote
polarity data is present, a high pulse is applied to U5-11, 3, clocking the
DI-1 and DI-2 bits into U5-9 and U5-5. Similarly, remote range data is clocked
into U4-9 and U4-5 by a high pulse at U4-11, 3. When a strobe pulse is applied
to U23-1, the remote data in the interim registers is transferred to the outputs
of the remote working storage U23-6, 11, 14, 2. The data selector U40 chooses
between the remote data from U23 (X lines) and the local data from Encoder
board A2 (Y lines). A high on the REM line at U40-9 places the X inputs on the

4-8 M107-10-81



Z output lines, U40-10, 11, 12, and 13, and a high REM line U40-14 places the Y
inputs on the Z output lines.

4-63. Strobe Circuit. The strobe circuit listens for an ASCII 'S' character.
When an 'S' is detected, COP 5 (U3-12) and ROW 3 (U3-13) go high. When a DAV
pulse is received, U3-10 will go high. If an SDC or DCL occurs, or a valid 'S'
is present, U6-3 will place a high at U3-3, 4. In the remote condition (REM
line high), U3-6 will produce a high strobe pulse. This transfers data from
the remote interim range and polarity register U4 and 5 to the working range
and polarity register U23, and produces remote voltage strobes on the Encoder
board A2.

4-64. Interim Voltage Storage and Data :Selectors. The interim voltage storage
registers, Ul7 through U22, store voltage data from the IEEE bus and transfer
it to the data selectors U34-39 which select between remote and local BCD in-
formation.

4-65. Each voltage storage register receives DI-1 through DI-4 at its program
input pins. If a valid letter—-number program sequence is detected, one of the
'A'" to 'F' lines from the voltage circuit will be momentarily high, clocking
the BCD digit into the appropriate register. A DCL, SDC or pon will reset all
registers setting their outputs to zero. U34 through U39 select between the
remote data at the X inputs and the local data from the Encoder board A2 at
the Y inputs. The status of the REM and REM lines determines which set of in-
puts is selected for the Z output lines.

4-66. DIGITAL MOTHER BOARD A4

4-67. The Digital Mother board A4 allows signals to pass between the IEEE-488
Interface board Al; the Encoder board A2; and the D/A Control board A3. The
only IC's mounted on the Digital Mother board are opto-isolators (Ul through
U4) and the working registers U9 through Ul4 and buffers U5-U8. The following
details the operation of the working registers.

4-68. The working registers U9 through Ul4 are quad latches with four data in-
puts and four Q line outputs. The working voltage levels that are sent to the
D/A Control board A3 are determined by the values on these Q line outputs. The
data inputs D through D, of the working registers are tied to the data selec-
tors U34 through U39 on é e IEEE-Interface board Al. These four data input
lines accept the 10° to 10° BCD digit data from the Al board.

4-69. In _local mode a single digit from Encoder board A2 is output on lines
through This BCD digit is applied to every data selector on Al and there-
fore to every working register latch U9 through Ul4 (A4). The appropriate latch
is enabled by a single digit strobe from the Encoder board A2 on one of the
lines@ through

4-70. _In remote mode, each remote strobe 'S' enables all of the digit strobe
lines@through . Each interim register, Ul7 - U22 (Al), holds a single
digit of voltage information; together all interim registers on Al store the
voltage digits and apply it to all of the data lines of the working registers.
through data selectors U34-U39. When the remote strobe is received, lines[:i

M107-10-81 4-9



through are all enabled, clocking all six BCD remote digits into the working
registers simultaneously.

4-71. The working register data is buffered by U5 through U8 on the Digital
Mother board A4 before it is applied to the D/A Control board A3 and the display
boards.

4-72. D/A CONTROL BOARD A3

4-73. The D/A Control board A3 controls the D/A conversion circuitry on analog
board A5 by generation timing waveforms. The 6-digit voltage BCD data is com-
pared with the output of a running counter. At the zero count a timing wave-
form is initiated when the count equals the BCD voltage selected, a stop gate
is triggered. The resulting waveform length is proportional to the programmed
voltage. The complete operation of the D/A Control board A3 is detailed below.

4-74. The crystal oscillator Y1 generates a 2.3 MHz squarewave which is buffered
through U12-10. U3-3 divides the 2.3 MHz waveform by two while U3-11 receives
the same 2.3 MHz signal inverted, and divides it by two. The outputs of U3,

pins 8, 9, and 5, 6, respectively, are four 1.15 MHz squarewaves, each one

pulse out of phase. Gates U2-6, 3 and 11, form a four phase clock, locking at
all possible combinations of the U3 outputs. (See Figure 4-6).

4-75. U3-6 provides 1.15 MHz clock pulses to three 4-digit counters; U9, 10 and
11. These counters count from zero to 999, reset to zero, and start again. Each
BCD voltage select digit is tied to a four input exclusive NOR gate, U2l through
U26. U21, 23 and 25 compare the BCD code of the three least significant digits
(LSD) with the count from U9, 10 and 11. At the same time U22, 24 and 26 com-
pare the three most significant digits (MSD) with the same count. When a match
occurs between a BCD digit and a count digit, the output line of the exclusive
NOR gate goes high. The gates are in a wired-OR configuration so that if any
one of the 12 output lines is low the MSD or LSD line will remain low. If all
12 bits match, the 12 output lines will go high, producing a high MSD or LSD
pulse.

4-76. Gates U5-5, U5-9, U6-5, U4-5 and U4-9 form a flip-flop chain which con-
trols the delay timing between count cycles. U5-5 and U6-5 also generate the
offset between the start of the MSD and LSD signals. U4-5 and U4-9 enable the
counter stop gates for the MSD and LSD. The operation of a typical count and
delay sequence is outlined in the timing diagram (Figure 4-6).

4-77. When the count from U9, 10 and 11 reaches 999, the 8-bit line to the U26

MSD comparator goes high When count 000 is reached, the low going transition
C)triggers the one-shot Ul-1. The low output pulse from Ul-4 clears the entire
flip-flop chain, U5-5 and 9, U6-5, U4-5 and 9 The Q line of U4-9 is tied to

U2-9, (an AND gate between the 1.15 MHz clock flip-flops. The cleared (low
U4-9 disables U2-9 and stops the count at 000.

4-78. The next high pulse from U3-5 starts the flip-flop sequence by clocking
U5—5(:l Each remaining flip-flop has a low data line. Therefore, each flip-
flop's Q output remains low until the preceding flip-flop in the chain is
clocked. The next high pulse from U3-5 clocks the high output from U5-5 into

4-10 ' M107-10-81



° ©
(© (@}
5 @
O
| -
—
®
-
1
®

Q)

=<
A A A

FIGURE 4-6. D/A CONTROL BOARD TIMING DIAGRAM

®
< >
)
< I
A
M107-10-81 4-11



the data input of U5-9 E . The high Q output U5-9 provides a MSD start pulse at
U7-3. U7-5 is the MSD waveform generator; when clocked, it produces a low MSD
pulse via U20-6.

4-79. U2-6 clocks U6-5 high 217 ns later F . This provides the LSD start pulse
to U7-11, generating the low LSD transition at U20-8. Flip-flop U6 causes a
217 ns delay between the MSD and LSD start pulses.

4-80. The next high pulse from U3-5 clocks the high Q output from U6-5 into the
data (D) input of U4 This flip-flop lengthens the delay between the end of
one count cycle and the beginning of the next count cycle. The high output of
U4-5 is clocked into the data line of U4-12, with the next rising edge from U3-5.
The high Q output of U4—9(:)serves several functions: It re-enables the stop
gates U8-8 and U8-12, generating MSD or LSD stop pulses from U7-1 or U7-13 wave-
form generators, and clocks the 1.15 MHz pulse into counters 49, 10, and 11.

4-81. In the following example, 001001 is the BCD voltage select code to be
set up on the comparators U2l through U26. 1.15 MHz clock pulses originating
from 43 enable counters 49, 10, and 11, and initiate a count cycle starting at
000. (As the count reaches the value on the BCD voltage lines, 001, all of the
comparator lines go_high, producing a high MSD Comparator pulse and a high LSD
Comparator pulse. ) The same high Q from U4-9 that enabled the counters has
also enabled the stop gates U8-13 and U8-10. A high pulse from U2-3 to U8-2
sends a MSD Stop pulse of 217 ns to U7-1. The low MSD Stop pulse clears U7-1
ending the MSD pulse(:). Similarly, a high U2-11 pulse enables stop gate U8-8,
clearing U7-13, ending the LSD pulse(:).

4-82. The D/A Control Assembly A3 also contains a working register for range

and polarity information. This data passes from the IEEE-488 Interface via A3

to relays on the Analog Assembly A5 and to the Display Driver Assembly A10. Data
is sent to Standby and Current Limit annunciators on the A8 board. The circuit
is examined below.

4-83. Ul6 in conjunction with Ul7, Ul8 and Ul9 serves to energize the protection
and standby relay K5 on the Analog Assembly A5. Ul6 is used as a latch circuit.
Existing range and polarity information is present at QO-Q ,'QBZQE output lines.
Any change of the data on the input lines D,-D, is detecteg by the comparators
Ul7-3, 4, 10 and 11, which place a low at one dr more of the inputs to U18-3.

A high from Ul8-13 triggers one-shot Ul9 which energizes current limit relay

K5 via U27-15, Ul3-11 and Ul4-12. At the end of the 170 ms duty cycle of U19,
the low going transition triggers one-shot Ul9. The high pulse from Ul9-6 clocks
new range and polarity data at the D.-D, inputs into the Q -Q3 'QG:Q“ outputs

of Ul6. The comparators detect the matZh, placing all Ul8 inpdts high and U18-13
low in preparation for the next Range and Polarity data change. Simultaneous
with clock pulse from Ul19-6 is a low pulse from Ul9-7 that keeps K5 energized

for an additional 85 ms after the high from Ul18-13 is removed. Ul9, pins 10 and
7, have ensured that K5 has remained energized for 250 ms, 170 ms prior to the
range and polarity change and 85 ms afterward.

4-84. The range and polarity relays on the Analog Assembly A5 are controlled

by the outputs of U14-13, 14, 15 and 16. The Q lines of Ul6 feed these inverters
the updated range and polarity information. U13-10 detects two 'O's on the
polarity lines, indicating the standby condition, and energizes the K5 protection
relay as well as driving the K4 standby relay.

4-12 M107-10-81



4-85. The Q outputs from Ulé also provide data for the Display Driver Assembly
Al10. U15-2, 4, 6 and 10 convert the CMOS of A3 to TTL for the Al0. The Q, and
Q3 outputs of Ul6 indicate the standby condition for the standby LED on thé front
panel.

4-86. The D/A Control Assembly A3 contains driver Ul4-11 for the current limit
LED on the display. Input comes from the opto-coupler on the Digital Mother
Board A4.

4-87. DISPLAY ASSEMBLY A9 AND DISPLAY DRIVER ASSEMBLY A10

4-88. The Display Assembly A9 and Display Driver Assembly Al0 accept voltage data
from the Digital Mother Assembly A4. Range data from the D/A Control Assembly A3
determines where the decimal point will appear and polarity data determines the
sign of the 6-digit LED readout. Information for the Remote and Sequential
annunciators and the IEEE-488 address indicators are also processed on the Display
Driver and Display Assemblies.

4-89. The voltage select digits, 10° to 10°, arrive via the Digital Mother Assem-
bly A4 in BCD form. U3 through U8 convert the BCD to 7-segment LED Display Data.
The outputs for the Display Assembly are active low. On the Display Assembly,

A9, the 7-segment output is displayed on the appropriate LED.

4-90. U9 (Al0) accepts range and polarity data from the D/A Control Assembly

A3 via the Digital Mother Assembly A4. U9 is a 256 bit PROM. The A and B range
inputs to U9 are a binary combination of one of the ranges from 1 V to 1000 V.
The PROM encodes a single output, Yi, Y2 , Y3 or Yy to an active low state for
one of the ranges. This single output Y1 to Y4 drives the decimal point on DS1,
DS2, DS3 or DS4, respectively.

4-91. U9 also accepts a 2-bit binary code for polarity. These two inputs reflect
the three polarity states, +, -, and standby. The PROM U9 encodes two lines; a
low state on Ys for minus, lows on both Ys and Y¢ for plus. If neither line is
low, the standby condition is indicated.

4-92, The blinking digit that signifies the digit about to be entered is
accomplished by Ul and U2 with information from A2 and A3. Ul is a decoder. One
of the lines 2 to 7 will go to the active low state depending on the digit pointer
code that is applied to the A, B and C inputs. However, this is not true low
level. The digit does not go out but flashes bright/dim, bright/dim, etc. The

D input is normally high, but is tied to a 5.75 kHz low and to a repetition rate
timer U2. The 5.75 kHz applied to Ul0-1 determines the brightness of the low
level. The repetition rate is determined by the RC constants of the timer U2,

4-93, If the remote line to U1l0-9 and 10 is high, indicating the M107 is in
remote status, the blinking digit must be disabled. Ul0-8 applies a low to U2-4,
the reset pin of U2. This holds Ul-12 high which disables the blinker Ul.

4=-94., Ul0-11 drives a remote annunciator. The IEEE address indicators are
driven by the IEEE address code from Al.

M107-10-81 4-13



4-95. ANALOG ASSEMBLY A5

4-96. U8 is a temperature controlled, active reference Zener device which
provides a nominal Zener voltage of 6.95 V. U9 is the source of the current
through the Zener. R4 and R5 act as a voltage divider causing the voltage at
U9-6 to be twice that of the input U9-3. The constant current through R2 is
the Zener current of 3.8 mA to U8. U7 is an LM302H op amp buffer, the output
of which is a reference_level to the gates of Q5 and Q8 FETS, ground is a
power supply ground and‘@7is signal ground for the filter netwdrk, reference
voltage, and main amplifier. C2 and C3 reduce noise between the grounds. The
diodes CR1 and CR2 are clamps allowing no more than .6 V difference.

4-97. The following describes the development of the voltage level produced
by the arrival of a MSD pulse. The LSD circuit works in a similar manner. Q5
and Q6 are series shunt choppers driven by the Ql and Q2 flip-flop. The flip-
flop state is toggled back and forth by transitions of the MSD waveforms, Ql
turns off at the start time and Q2 turns on.

4-98. When Q1 goes off, it allows the gate of Q5 to be pulled toward the voltage
levels at the output of U7. This allows Q5 to turn to a low drain-to-source
resistance state. When turned on it feeds current from the reference voltage
through R16 and R22 to the filter input.

4~99. The LSD waveform toggles Q3 and Q4, turning Q7 and Q8 on or off. R23 and
R24 provide a 1,000 X larger resistance than R16 and R22 so that when Q8 goes on,
the current equals only 1/1000 as much as is provided when Q5 is on.

4-100. Where R22 and R23 connect, the MSD and LSD voltages are added together.
The common tie point between R22, 23 and 36 is the summing junction for these two
voltages. Q7, the shunt FET, is also tied to the negative voltage developed
across R20. The drain of Q7 is tied to the source of Q8 so that either the
reference voltage will flow through Q8 or the negative offset will flow through
Q7. The drain of Q7 and the source of Q8 are tied together because any difference
between the FET on resistances are negligible compared to R23 and R24. The R17
potentiometer is adjustable so that the effective resistances of Q6 and Q7 can

be equalized. When the output is programmed to 500000 (when Q5 and Q6 are on

for the same time) R17 serves as a half scale linearity compensator.

4-101. At the output of filter R37-R41, C15-C20, the voltage varies from =0

at zero programmed volts to 7 volts, the nominal value of the reference, at full
scale programmed volts. This voltage is applied to the inverting input of
amplifier U6. Diodes CR17 through CR24 protect the amplifier from excessive
voltages. The output of U6 drives the input of the High Voltage Amplifier
Assembly A6. The output of the High Voltage Amp is returned to the non-inverting
input of U6 through relays K1 through K4; the resistive divider RN1; and the CAL
Switching Assembly All. The High Voltage Amplifier is an inverting amplifier.

It has the effect of reversing the inverting and non-inverting inputs of U6.

In this manner negative feedback occurs through the divider RNI1.

4-102. On each of the three ranges, RNl provides voltage division which results
in 7 V at the tap of the Scale Factor Adjust, R50, when the output is programmed
to full scale. Kl and K2 are the range selecting relays. K3 is the polarity
switching relay and K4 is an output relay. The standby condition is activated

4-14 M107-10-81



when K4 is de-energized. K1 through K4 are energized by the Darlington tran-
sistor driver Ul0. The inputs to UlO come from the optical couplers on the
Digital Mother Board Assembly A4 via jumpers W1, 3, 4 and 6. Reed relay K5,
connected across the input of the filter network, is energized by Ul0 pin 16
during range or polarity switching or in standby mode. When K5 is closed, the
output of the high voltage amplifier is formed near zero to protect any voltage
from the relay contacts during relay switching. K5 closes for 890 ms during
range or polarity changes.

4-103. The output terminals are connected in the following manner:

RANGE TERMINALS SENSE AND OUTPUT CONNECTIONS
10 to 1000 V LO OUT ANALOG GND A
LO SENSE SIGNAL GND 1
HI OUT H.V. AMP OUTPUT
HI SENSE TAP ON RN1 FOR RANGE IN USE
IV RANGE LO OUT OPEN
LO SENSE SIGNAL GND BOTTOM OF IV DIVIDER
HI OUT TAP ON IV DIVIDER
HI SENSE  OPEN

4-104. CR26 through CR29 are connected across the respective high and low sense
and output terminals. They act as protection against excessive output voltages
if the sense terminals are not externally connected to the output terminals.

4-105. CR30 through CR33 are connected as a full-wave bridge which develops
1400 V across Cl0l, mounted on the rear panel. R67, 68 and 69 form a 3 MQ
bleeder network to discharge Cl0l when the High Voltage Amp is not installed in
the unit. The 1400 V from C1l01 is connected to High Voltage pin 1. CR34 and
CR35 form a full-wave rectifier from transformer secondary #3 that develops
+140 V across C31l. (Ground from the +140 V and +1400 V supplies is joined to
the ground of the other analog power supplies through the current sensing re-
sistance of Rl & CR1 on A6. CR36 through CR39 form two full-wave rectifiers
which produce supplies +30 and -30 V from transformer secondary #2. U2 develops
a regulated +24 V source which supplies K1 through K4 relays and the reference
amps U7 through U9 and input to +15 V regulators Ul and U4. Q9 is an emitter
follower developing approximately -20 V at its emitter. =15 V supplies are
derived from the -20 V by U3 and U5,

4-106. HIGH VOLTAGE AMPLIFIER ASSEMBLY A6

4-107. The High Voltage Amplifier supplies the output power for all ranges. It
consists of two separate power sources with an automatic crossover from low-to-
high voltage output at approximately 140 V dc. The low voltage source is 140 V

M107-10-81 4-15



input at pins 5 and 6. High voltage is from the 1400 V input at pin 1.

4-108. At outputs up to 140 V, transistors Q3 and Q12 act as a shunt to the
high voltage output transistors, Q5 through Q10, and Q1 and Q2. Output is
through Q4, which is both output transistor and crossover switch. The emitter
of Q12 is biased at a negative voltage to enable accurate regulation at zero
volts. The positive analog out signal from the amplifier on the Analog Assembly
A5 turns on Q12. This voltage varies from approximately +1.79 V at zero output
to +0.54 V at 1000 V output with no load. As the output voltage increases, the
forward bias on the base of Q12 decreases. At an output of 140 V, bias on Q12
is reduced to the extent that the output of Q2 forward-biases the base-collector
junction of Q4. At that time, the base-emitter junction of Q4 acts as a for-
ward biased diode. Output voltage is then supplied from the high voltage supply
and CR8 is reverse biased to isolate the high voltage from the +140 V supply.
The shunt path comprised of Q3 and Q12 provides control for all output voltages.

4-109. R2 and CR2 establish a reverse bias for the base of Qll. The resistance
setting of current limit control R101 (Front Panel) determines the amount of
voltage across Rl and CR1 required to turn on Qll. Since the output current
return path is through analog ground and R1l, CR1l to high voltage common, Q11

will turn on when I out reaches the level determined by R10l. When Ql1l turns on
the junction of R6 and R10 is moved in a positive direction thus increasing turn-—
on bias to Ql2. Increased conduction in Ql2 and U3 then lowers the output voltage
to maintain load current at the limit value.

4-110. The High Voltage Amplifier output, pin 25, is switched and fed to the
output terminals. It is also routed back to the precision divider string to
provide feedback to the analog amplifier.

4-111. CAL SWITCHING ASSEMBLY A11

4-112. The CAL Switching Assembly All (attached to A5 Analog PC Board) works
with RN1 and Scale Factor Adjusting potentiometer R50 (A5 board) to make up a

voltage divider. The divider provides negative feedback to the analog amplifier,
U6 (A5).

4-113, RN1 (A5) is a string of resistors which connects to All pins L and H.
The CAL Switching Assembly All, utilizes eight four-pole double~throw slide
switches. Each switch selects a resistor when pushed up or down. Each resistor
is connected into one of two signal paths, the H-G signal path or the L-Y signal
path. Switches S1-S8 select resistors R1-R8, respectively, either into or out
of circuit of the H-G and L-Y bus lines to provide a coarse adjustment of the
scale factor calibration. Any resistance value between 0 and 394 k{2 may be
selected in 1.5 k{ increments in either the G-H or L-Y signal path. Each path
is the other's compliment, the total of the two paths always approximately equal
to 400 k. The voltage drop between pins H & L is 400 mV at full scale output.
The voltage drop across R50 Scale Factor Adjust is =5 mV. Each switch on All
moves the electrical position of R50 in the 400 mV range from RN1-2 to RN1-3.
The smallest step of *1.5 mV is provided by Sl and the largest step of %196 mV
is provided by S8. ‘

4-114. By selecting the appropriate switches, it is possible to move the range

of the resistance in conjunction with R50. R50 serves as a fine adjust and All
serves a coarse adjustment for the scale factor.

4-16 M107-10-81



CHAPTER 5

CALIBRATION

51 INTRODUCTION

Allow adequate warm-up time with bottom shield,
top shield, and top cover installed. The bottom
cover may be removed or loosely fitted in place
with the six #10 screws removed. One hour of
warm-up time should suffice, two hours or more
is preferred. Access to the calibration adjustments
is through the bottom shield, except for the three
factory set adjustments which are located on the
top side of the A5, Analog PC Board, inside the
top shield. A separate procedure section describes

the adjustment of the factory set calibration points:

10V Zero R8, FET SW Zero R74, and CAL Switch-
ing Assembly All.

In the calibration procedure, each adjustment
affects only the conditions for subsequent calibra-
tion steps and has no effect on other adjustments.
If one calibration adjustment is repeated, only the
later steps need to be checked and readjusted.
After the 10V Range adjustments are completed,
the 1V, 100V and 1000V Range adjustments may
be made independently and in any sequence.

WARNING: PERSONNEL HAZZARD

Due to the high voltage power supplies present
on the Analog and High Voltage Amplifier PC
boards the following cautions must be observed:

1)  Top and Bottom Shields must be in place

2)  Calibrate only with positive polarity out-
put selected.

3)  Use an insulated adjustment tool.

Make sure the shorting links are securely installed
between the respective sense and output terminals.
If rear panel output or remote sensing is used with
the front panel output, best accuracy is obtained
by calibrating the M107 with the same sensing con-
nections that will be used in the particular applica-
tion.

M107-6-80

52 CALIBRATION PROCEDURE

1) Select 1000V RANGE, + POLARITY and
CLEAR. Adjust 1 kV ZERO (R44) for Zero Volts
output £1 mV. If R44 will not reach Zero or is at
one end of rotation, see the separate section for
adjustment of FET Switch Zero (R74).

2) Select 10V RANGE, + POLARITY, and
CLEAR. Check output for Zero Volts £20 uV.
If adjustment is needed to balance 10V Zero with

1000V Zero, see separate section for adjustment
of 10V ZERO ADJ (R8).

3) Select 10V RANGE, + POLARITY and
program 9.99999V. Adjust SCALE FACTOR ADJ
(R50) for 9.99999V +20 uV output. If R50 will
not allow the required output to be reaced, refer
to the CAL Switching Assembly procedure.

4)  Select 10V RANGE, + POLARITY, and
program 9.99000V. Use MSD ADJ (R27) to set
output to 9.99000V £20 uV.

5) Select 10V RANGE, + POLARITY and
program 5.00000V. Adjust 1/2 SCALE ADJ (R17)
for 5.00000V +£20 uV output.

6) Select 10V RANGE, + POLARITY and
program 0.00999V. Adjust LSD ADJ (R24) for
9.99 mV +20 uV output.

7)  Select 1V RANGE, + POLARITY and
program .999999V. Adjust 1V ADJ (R63) for
999999V +2 uV output.

8) Select 100V RANGE, + POLARITY and
program 99.9999V. Adjust 100V ADJ (R60) for
99.9999V +£200 uV output.

9) Use CAUTION with High Voltage Output —
Select 1000 V RANGE, + POLARITY and pro-
gram 999.999V. Adjust 1 kV ADJ (R59) for
999.999V +£2 mV output.



5-3 SPECIAL PROCEDURES: FACTORY SET
CALIBRATION

The following three special procedures require re-
moval of the top cover and top shield to access ad-
justments on the A5, Analog Board. When the top
shield is removed observe cautions.

CAUTION

The Power Transistors and Heatsinks on the A6,
High Voltage Amplifier PC Board have voltages
in excess of 1000 Vdc.

FET Switch Zero Adjust (R74)

NOTE

This adjustment should be made only if 1 kV
ZERO ADJ in Step 1) did not allow zero output
to be reached, or if the 1 kV zero point is near
one end of R44’s adjustment range where reso-
lution is poor.

1)  Select 1000V RANGE, +POLARITY
and CLEAR.

2)  Center the 1 kV ZERO ADJ potentiometer
R44 to its electrical center as follows: turn R44
to its CW and CCW rotation limits and note the
output voltage at each end. Set R44 for an output
voltage at the algebraic mid-point between the two
output limits.

3) Adjust the FET SW ZERO potentiometer
R74 for Zero Volts output +2 mV.

4) Replace top shield and top cover and allow
unit to re-stabilize (approximately 15 to 20 min-
utes) before returning to Step 1) in the Calibration
procedure.

10V Zero Adjust (R8)

The purpose of this adjustment is to make the 10V
RANGE zero output voltage “track’ with the
1000V RANGE zero offset. Thus, if the 1 kV

zero output is -3 mV, for example, the 10V
RANGE zero output should be set to-30 uV
with 10V zero potentiometer (R8). The 1 kV
Zero adjustment will then set the zero output for
all ranges.

1) Select 1 kV RANGE, + POLARITY and
CLEAR. Adjust 1 kV ZERO R44, if necessary,
for zero output +1 mV.

2) Select 10V RANGE, + POLARITY and
CLEAR. Remove the top cover and top shield.
Observe caution with the exposed high voltage
as noted above. Adjust 10V ZERO (R8) for zero
output +10uV.

3) Replace top shield and top cover and allow
unit to re-stabilize (approximately 15 to 20 min-
utes) before returning to Step 1) in the Calibration
procedure.

CAL Switching Assembly (A11)

The switches on the CAL Switching PC Assembly
(A11) provide a coarse adjustment of the scale
factor calibration. This adjustment requires some
internal disassembly of the unit and can not be
done as part of a final calibration.

This adjustment is factory set and will not require
changing under normal conditions. The adjust-
ment will probably be needed if the reference
A5-U8 or the feedback divider A5-RN1 if replaced.

Procedure:

1) Select 10V RANGE, + POLARITY and
program 9.99999V.

2)  Adjust Scale Factor ADJ, R50, for the volt-
age output midway between the outputs at the ex-
treme CW and CCW settings of R50.

3) Turn off the unit and remove the top cover,
top shield, and the two shield cans on the AS,
Analog PC Board.

M107-6-80



WARNING
PERSONNEL HAZZARD

The Heatsinks and Transistors on High Voltage
Amplifier A6, have voltages up to 1500 Vdc on
their exposed surfaces. Use great care in moving
the switch positions on A11, CAL Switching
Assembly to avoid touching the A6 Heatsinks

or Transistors.

4) Turn on the unit and program +9.99999V
(10V RANGE). Using the following table as a
guide, find the combination of A11 switch posi-
tions that gives an output voltage as close as pos-
sible to +9.99999V. The up and down switch po-
sitions correspond to higher and lower outputs
respectively.

M107-6-80

Approximate Effect

Switch on Full Scale Output
Al11-S1 +225 ppm
Al11-S2 450 ppm
Al1-S3 3900 ppm
Al1-54 +1800 ppm
A1l1-S5 #3600 ppm
Al1-S6 +7200 ppm
A11-87 +14400 ppm
Al1-S8 +28800 ppm

5) After the proper setting of A11 switch is
obtained, turn off power to the unit. Allow about
30 seconds for the high voltage supplies to discharge
and then replace the shield cans, top shield and top
cover. The unit may now be warmed up for the
final calibration of Section 5-2.



CHAPTER 6

REPLACEABLE PARTS

6-1 INTRODUCTION

This chapter contains the spare parts list for each
assembly in the Model M107 Precision D.C. Volt-
age Source. Chapter 7 shows the assemblies where
the listed parts are installed. Ordering information
is included and should be used when purchasing
parts from the factory. Explanation of the column
listings and Table 6-1 Manufacturer’s Code-To-Name
Name Index are also included.

6-2. PART ORDERING INFORMATION

To order a part from the Replaceable Parts List,
state the Systron-Donner part number, and inci-
cate the quantity required and address the order
to the nearest Systron-Donner Sales or Service
Center.

To order a part not listed in the Replaceable Parts
List, state the instrument model number, instru-
ment serial number, the description and function
of the part and the number of parts required. Ad-
dress the order to the nearest Systron-Donner Sales
or Service Center.

6-3. PARTS LIST

The replaceable parts lists are placed in A number-
ed sequence.

M107-6-80

Each column in the parts lists provide specific in-
formation relating to the listed parts as follows:

(1) DESIGNATOR: Reference numbers appli-
cable to assemblies are listed in alpha-numeric
order.

(2) COMPONENT NOMENCLATURE AND
DESCRIPTION: Component names and specifi-
cations are provided in these columns and include
value, tolerance, wattage rating, working voltages,
construction, etc.

(3) MANUFACTURER’S CODE: H4-2 Federal
Supply Code numbers are listed to identify com-
ponent manufacturers. A Manufacturer’s Index is
provided in this chapter for cross-reference.

(4) MANUFACTURER’S PART NUMBER:
True manufacturer part numbers are listed in this
column.

(5) SD STOCK NUMBER: The Systron-Donner
stock number is listed in this column.

(6) T/Q (Total Quantity): This quantity, appear-
ing after an item entry, indicates the number of
times the component is used in that assembly. The
total quantity for each part is given only once — at
the first appearance of the part number in the list.

6-1



TABLE 6-1 MANUFACTURER'S CODE-TO-NAME INDEX

Code Name & Address Code Name & Address
00809 Croven Ltd. 06383 Panduit Corp.
500 Beech Street 17301 Ridgeland
Whitby Ontario, Canada Tinley Park, IL 60477
01121 Allen-Bradley Co. 06540 Amatom Electronic Hardware
1201 So. 2nd Street Division of Mite Corp.
Milwaukee, WI 53204 81 Rockdale Avenue
01295 Texas Instruments Inc. New Rochelle, NY' 10806
Semiconductor & Components Div. 07293 Bratu Engineering Co.
13500 No. Central Expressway 2048 Rascher Avenue
Dallas, TX 75231 Chicago, IL 60625
02660 Bunker Ramo Corp. 08289 Delbert Blinn Co. Inc.
Amphenol Connector Division P.O. Box 2007
2801 So. 25th Avenue 1678 Mission Blvd.
Broadview, IL 60153 Pomona, CA 91766
02735 RCA Corp. 09353 Cand K Components Inc.
Solid State Division 103 Morse
Route 202 Newton, MA 02158
Somerville, NJ 08876 11236 CTS of Berne Inc.
03296 Nylon Molding Corp. 406 Parr Road
40 Brown Street Berne, IN 46711
Springfield, NJ 07081 12014 Chicago Rivet & Machine Co.
03508 General Electric Co. 950 So. 25th Avenue
Semiconductor Products Dept. Bellwood, IL 60104
?le“mm";f{arﬁ 201 13103 Thermalloy Co.
yracuse, 2021 W. Valley View Lane
03877 Transitron Electronic Corp. Dallas, TX 75234
\1V6?< }.118(16 IC‘IIXI%I; 88;1;)eet 16299 Corning Glass Works
aketield, Electronic Components Division
03888 Pyrofilm Corp. 3900 Electronics Drive
60 So. Jefferson Road Raleigh, NC 27604
Whippany, NJ 07981 18324  Signetics Corp.
04713 Motorola Semiconductor Products Inc. 811 E. Arques
5005 E. McDowell Road Sunnyvale, CA 94086
Phoenix, AZ 85008 19701 Mepco/Electra Inc.
05245 Corcom Inc. Electra Division
2857 No. Halsted Street P.O. Box 760
Chicago, IL 60657 Mineral Wells, TX 76067
05574 Viking Industries Inc. 24796 Parelco Inc.
21001 Nordhoff P.O.Box 116
Chatsworth, CA 91311 San Juan Capistrano, CA 92675
62 M107-6-80



TABLE 61 MANUFACTURER’S CODE-TO-NAME INDEX (Cont’d)

Code Name & Address Code Name & Address
24655 General Radio 71279 Cambridge Thermonic Corp.
300 Baker Avenue 445 Concord Avenue
Concord, MA 01742 Cambridge, MA 01238
27264 Molex Products Co. 71400 Bussmann Mfg,
5224 Katrine Avenue Division of McGraw-Edison Co.
Downers Grove, IL 60515 2536 W. University Street
27556 IMB Electronic Products Inc. St. Louis, MO 63017
15401-E Carmenita Road 71590 Globe-Union Inc.
Santa Fe Springs, CA 90670 Centralab Electronics Division
28480 Hewlett-Packard Co. 317157 Nl‘(" G‘;;?“ 52"‘23’0‘1“"”“““’
1501 Page Mill Road tiwaukee,
Palo Alto, CA 94304 71785 TRW Electronic Components
28520 Heyman Mfg. Co. Cinch Connector Operations
o 1501 Morse Avenue
147 No. Michigan Avenue Flk G Vil IL 60007
Kenilworth, NJ 07033 rove Vitage,
30146 A P Inc. 73138 Beqkman .In’st.ruments Inc.
72 Corwin Drive Helipot Division
Painesville, OH 44077 2500 Harbot Blvd.
’ Fullerton, CA 92634
31918 International Electro Exchange Inc. 73734 Federal Screw Products Inc.
8081 Wallace Road .
Eden Prairie. NM 55343 3917 No. Kenzie Avenue
’ Chicago, IL 60618
51495 R & D Plastics 73803 Texas Instruments Inc.
780 — 32nd Street Metallurigical Meterials Division
Richmond, CA 94804 Attleboro, MA 02703
50522 Monsanto Co. .
Electronics Special Products 73957  Groov-Pin C.O P-
1125 Hendricks Causeway
10131 Bubb Road Rideefield. NJ 07657
Cupertino, CA 95014 gelield,
75915 Littlefuse Inc.
52542 Systron-Donn.el.’ corp' 800 E. Northwest Highway
Instrument Division Des Plai IL 60016
2727 Systron Drive ©s Tlamnes,
Concord, CA 94518 76381 Minnesota Mining and Mfg. Co.
. . . 3-M Center
55210 Gettig Engineering & Mfg.
P.O. Box 85 Off Route 45 St. Paul, MN 55101
Spring Mill, PA 16875 77342 AMF Inc.
. Potter & Bumfield Division
56289 Sprague Electronic Co.
P.O. Box 522 - 1200 E. Broadway
North Adams, MA 01247 Princeton, IN 47570
70903 Gelden Corp.
415 So. Kilpatrick 78189 llinois Tool Works Inc.
Chicago, IL 60644 Elgin, IL 60120

M107-6-80



TABLE 6-1 MANUFACTURER’S CODE-TO-NAME INDEX (Cont'd)

Code Name & Address Code Name & Address
79727 C-W Industries 91418 Radio Materials Co.
P.O. Box 96 4242 W. Bryn Mawr
550 Davisville Road Chicago, IL 60646
Warminister, PA 18974 91506 Augat Inc.
79963  Zierick Mfg. Co. 33 Perry Avenue
Radio Circle Attleboro, MA 02703
Mt. Kisco, NY 10549 91637 Dale Electronics Inc.
80294 Bourns Inc. P.O. Box 609
Instrument Division Columbus, NB 68601
6Rli fesr Sﬁaegngka ;2\5’?)’;“6 91737 ITT Cannon/German
’ 922 So. Lyon Street
81349 MIL STD Santa Ana, CA 72705
82389 Switchcraft Inc. 95146 ALCO Electronic Product Inc.
5555 No. Elston Avenue P.O. Box 1348
Chicago, IL 60630 Lawrence, MA 01842
83330 Herman H. Smith Inc. 96733 San Fernando Electric Mfg. Co.
812 Snediker Avenue 1509 First Street
Brooklyn, NY 11207 San Fernando, CA 91341
86797 Rogan Corp. 96906 MIL STD
3455 Woodhead Drive . )
Northborrk, IL 60062 98978 International Electronic Research Corp.
135 W. Magnolia Avenue
88245 Litton Systems Inc. Burbank, CA 91502
USECO Division
13536 Saticoy Street 99392 ST M Corp.
Van Nuys, CA 91409 2904 Chapman Street
Oakland, CA 94601
90201 Mallory Capacitor Co.
P.O. Box 372 99779 Bunker Ramo Corp.
3029 E. Washington Street 24 No. Lansdowne Avenue
Indianapolis, IN 46206 Lansdowne, PA 19050
6-4 M107-6-80



REPLACEABLE PARTS LIST

M107-6-80

TITLE MODEL M107 SHIPPING ASSEMBLY #067530 Rev A
MFR'S | MANUFACTURER'S | SD STOCK
ITEM| REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T/
ASSEMBLY, Final 52542 | 075129 075129 1
LINE CORD 70903 | BR-1736 102407 1
CONNECTOR, Rectangular 14-pin Plug 02660 57-30140 101181 1
6-5



REPLACEABLE PARTS LIST

TITLE MODEL M107 FINAL ASSEMBLY #075129 Rev C
MFR'S | MANUFACTURER'S | SD STOCK
ITEM| REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T/}

1 ASSEMBLY, Test 52542 | 06786101 06786101 1

2 COVER, Bottom 52542 | 067815 067815 1

3 COVER, Top 52542 | 067814 067814 1

4 STRIP, Trim 52542 | 033762 033762 2

5 LABEL, High Voltage 52542 | 067542 067542 1

6 BAIL 52542 | 067499 067499 1

7 TRIM, Side 52542 | 067868 067868 2

8 HANDLE 52542 | 067440 067440 2

9 SHIELD, Top 52542 | 067839 067839 1
10 SHIELD, Bottom 52542 | 067840 067840 1
11 FOOT 52542 | 067498 067498 4
12 SHIELD, AC 52542 | 067882 067882 1
14 SCREW, PHMS 4-40 x 1/4 96906 | MS51957-13 10062604 6
15 SCREW, PHMS 6-32 x 5/16 96906 | MS51957-27 10063205 | 15
16 SCREW, FHMS 6-32 x 1/2 96906 | MS24693-C28 10073108 8
17 SCREW, FHMS 6-32 x 7/16 96906 | MS24693-C27 10073107 8
18 SCREW, Cap Socket Head 8-32 x 3/8 KS17-832 103382 4
19 SCREW, FHMS 10-32 x 1/2 96906 | MS24693-C272 10075808 | 12
21 WASHER, Split-Lock #4 96906 | MS35338-135 100711 6
22 WASHER, Internal Tooth #6 96906 | MS35333-71 100647 15
24 NUT, Kep 6-32 78189 | 511-061800-01 112472 4
6-6 M107-6-80



REPLACEABLE PARTS LIST

TITLE MODEL M107 TEST ASSEMBLY #067861 Rev E
MFR’S MANUFACTURER'S SD STOCK

ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q
1 ASSEMBLY, Front Subpanel 52542 067860 067860 1
2 ASSEMBLY, Cross Member Front 52542 067887 067887 1
3 ASSEMBLY, Center Brace Front 52542 067896 067896 1
4 ASSEMBLY, Cross Member Rear 52542 067738 067738 1
5 GUSSET, Right 52542 067678 067678 1
6 GUSSET, Left 52542 067677 067677 1
7 ASSEMBLY, Rear Panel 52542 067859 067859 1
8 GUIDE, Card 52542 02134011 02134011 3
9 Al ASSEMBLY, IEEE-488 Interface PC 52542 06769901 06769901 1
10 A2 ASSEMBLY, Encoder PC 52542 06775001 06775001 1
11 A3 ASSEMBLY, D/A Control PC 52542 06775501 06775501 1
12 A6 ASSEMBLY, High Voltage Amp PC 52542 06777001 06777001 1
13 A4 ASSEMBLY, Digital Mother Board PC 52542 06775301 06775301 1
14 A5 ASSEMBLY, Analog PC 52542 06781701 06781701 1
15 TAPE, Cable 20-pin 30146 922521-20-02-14 117401 1
16 TAPE, Cable 34-pin 6” 30146 922521-34-02-06 117913 2
17 TAPE, Cable 34-pin 15” 30146 922521-34-02-15 117914 1
18 SHIELD, Top (Not Shown) 52542 075251 075251 1
20 K1 RELAY, 6 pole (26 V) 77342 R10-E1112-2 101295 4

thru
K4
21 SPRING, Relay 24796 20C251 10242601 4
22 GROMMET, Caterpillar 03296 G51H-A 102749 A/R
24 RESISTOR Shield 52542 067865 067865 1
25 AMPLIFIER Shield 52542 067813 067813 1
26 FOAM, Block 52542 075209 075209 1
27 SUPPORT, PC 52542 075208 075208 2
28 BUSHING, Snap 28520 5B-375-4 100781 2
29 KNOB 86797 RS-67-1-DC-M-L 100976 1
30 JUMPER 55210 L-2007-1 102879 10
32 TIE, Cable 06383 SSTIM 100753 A/R
33 U15,U16{ INTEGRATED CIRCUIT, 04713 MC7805CP 045256 2
Voltage Regulator

42 SCREW, PHMS 4-40x 7/16 96906 MS51957-16 10062607 2
43 SCREW, PHMS 6-32 x 5/16 96906 MS51957-27 10063205 29
44 SCREW, PHMS 6-32x 1/2 96906 MS51957-30 10063208 4
45 SCREW, FHMS 6-32 x 3/8 96906 MS24693-C26 10073106 8
46 SCREW, FHMS 8-32x 1/4 96906 MS24693-C46 10074304 6
47 SCREW, FHMS 8-32 x 3/8 96906 MS24693-C48 10074306 6
50 WASHER, Flat #6 86928 5710-23-10 100662 25
51 WASHER, Split-Lock #6 96906 ~ | MS35338-136 100712 31
53 NUT, Kep #4 78189 511-041800-00 100941 2
34 NUT, Kep #6 78189 511-061800-01 112472 2

M107-11-81 67




REPLACEABLE PARTS LIST

TITLE MODEL M107 FRONT PANEL ASSEMBLY #067860 Rev D
MFR’S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Qj
1 PANEL, Sub 52542 067720 067720 1
2 R101 RESISTOR, Variable 52542 075106 075106 1
10k 20%, 1/2W

3 POST, Red Binding 05276 3770-0 117885 2

4 POST, Black Binding 05276 3770-2 117886
5 POST, White Binding 05276 3770-9 117887 1
6 A8 ASSEMBLY, Voltage Select PC 52542 06771901 06771901 1
7 A7 ASSEMBLY, Digit Select PC 52542 06771701 06771701 1
8 AlQ ASSEMBLY, Display Driver PC 52542 06773101 06773101 1
9 A9 ASSEMBLY, Display PC 52542 06772601 06772601 1
10 NUT, Hex 4-40 96906 NAS671C4 100622 10
11 WASHER, Flat #4 96906 MS15795-803 100703 14
12 WASHER, Split-Lock #4 96906 MS35338-135 100711 14
13 SCREW, PHMS 4-40x 1/2 96906 MS51957-17 10062608 2
14 SCREW, PHMS 4-40 x 5/16 96906 MS51957-14 10062605 2
15 PANEL, Decorative 52542 067778 067778 1
16 TAPE, Adhesive 76381 950 117910 A/R
18 SWITCH, Toggle Power 08353 92015H3ZQ 117147 1
19 NUT, Dress 1/4-40 09353 B7099N 101086 1
20 LINK, Shorting 24655 0938-9503 100561 3
21 C102, CAPACITOR, Ceramic 56289 BL-S10 100362 2

C103 .01 uF 20%, 2 kV

68 M107-11-81



REPLACEABLE PARTS LIST

TITLE MODEL M107 REAR PANEL ASSEMBLY #067859 Rev D
MFR'S MANUFACTURER'S | SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T/Q]
1 PANEL, Rear 52542 067732 067732 1
2| s102 SWITCH, Slide 82389 46206LFE 102340 1
3| XFiol POST, Fuse 75915 345002 117381 1
41 Fl101 FUSE, 1/2A 71400 MDL 1/2 100589 1
51 z1o1 FILTER, Line 05245 3EF1 102461 1
6| TI101 TRANSFORMER 52542 067743 067743 1
71 cio1 CAPACITOR, 16727 KMOC2M2 117920 1
8 BRACKET, Mounting Capacitor 16727 By Description 117925 1
9 LUG, Solder #8 78189 2104-08-00 102961 1
10 LUG, Solder #4 83330 1416-4 100509 1
11 NUT, Kep 8-32 78189 511-081800-00 100940 6
12 NUT, Kep 4-40 78189 511-041800-00 100941 2
14 NUT, Hex 8-32 73734 70208 100659 1
15 NUT, Hex 4-40 96906 NAS671C4 100622 1
16 WASHER, Split-Lock #4 96906 MS35338-135 100°11 4
18 | 7J1ol CONNECTOR, Rear Panel Input 91737 KPTO00A14-5S 117696 1
19 SCREW, PHMS 4-40 x 1/4 96906 MS51957-13 10062604 3
20 SCREW, PHMS 4-40 x 5/16 96906 MS51957-14 10062605 1
21 SCREW, PHMS 4-40 x 3/8 96906 MS51957-5 10062606 4
22 SCREW, PHMS 4-40 x 7/16 96906 MS51957-16 10062607 2
23 SCREW, PHMS 8-32x 7/16 96906 MS51957-44 10064207 4
24 SCREW, PHMS 8-32 x 1/2 96906 MS51957-45 10064208 2
25 SCREW, PHMS 8-32x 1/4 96906 MS51957-41 10064204 1
32 ASSEMBLY, IEEE-488 Interface Cable 52542 067884 067884 1
35| J103 CONNECTOR, Rectangular 14-pin 02660 57-40140 101180 1
36 SCREW, PHMS 2-56 x 1/4 96906 MS51957-3 10062504 5
37 SCREW, PHMS 2-56 x 3/8 96906 MS51957-5 10062506 1
38 WASHER, Split-Lock #2 96906 MS35337-77 100661 6
39 NUT, Hex 2-56 96906 MS35649-224 100636 1
M107-11-81 6-9



REPLACEABLE PARTS LIST

TITLE MODEL M107 IEEE-488 INTERFACE CABLE ASSEMBLY #067884 Rev B
MFR'S MANUFACTURER'S | SD sTOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T1/Q]
2 ASSEMBLY, Switch Plate 52542 067886 067886 1
3 CONNECTOR, Rectangular 24-pin 02660 57-20240-2 (383) 117054 1
4 CONNECTOR, Mounting Plate 52542 067541 067541 1
5 WASHER, Split-Lock #8 96906 MS35338-137 100713 2
6 STUD, Mounting Connector 52542 057361 057361 2
7 TIE, Cable 06383 SSTIM 100753 A/R
8 LUG, Solder #2 79963 341-.093 100759 1
SWITCH PLATE ASSEMBLY 52542 067886 067886 Ref
1 PLATE, Switch 52542 067535 067535 1
2 SWITCH, Slide SPDT 79727 G-111-SPDT 102325
3 RIVET 12014 R-3484x1/8 NICL 100924 10
6-10 M107-6-80



REPLACEABLE PARTS LIST

TITLE A1, IEEE-488 INTERFACE BOARD PC ASSEMBLY #06769901 Rev A
MFR'’S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q]

Cl CAPACITOR, Ceramic 71590 UK 10-503 100122 6

thru .05 uF +80-20%, 10V

C4

Cs5 CAPACITOR, DP Ceramic 96733 DB45BY331J 117636 3
330 pF 5%, 100V

Cé6 CAPACITOR, Ceramic 71590 CW15C102M 100251 1
.001 uF 20%, 50V

C7 Same as C1

C8 Same as C5

C9 Same as C5

C10 Same as C1

Cl1 CAPACITOR, Tant 56289 150D396X9010B2 100183 2
39 uF 10%, 10V

Cl12 Same as C11

R1 RESISTOR, CC 01121 CB1035 101570 3
10k 5%, 1/4W

R2 Same as R1

R3 RESISTOR, CC 01121 CB3335 101576 2
33k 5%, 1/4W

R4 Same as R1

RS Same as R3

RN1 RESISTOR, Module 73138 785-5-R-3K/6.2K 117500 2
8 x 3k/6.2k, 2%

RN2 Same as RN1

RN3 RESISTOR, Module 11236 760-1-R10K 117241 1
13x 10k, 2%

RN4 RESISTOR, Module 73138 783-1-R15K 117559 1
5x 15k, 2%

Ul INTEGRATED CIRCUIT, CMOS 04713 MC14516BCP 117113 8
Binary Up/Down Counter

U2 INTEGRATED CIRCUIT, CMOS 04713 MC14028BCP 045286 4
BCD-to-Decimal Decoder

U3 INTEGRATED CIRCUIT, CMOS 04713 MC14073B 117360 5
3-Input AND Gate

U4 INTEGRATED CIRCUIT, CMOS 04713 MC14013BCP 103199 5
Dual D Flip-Flop

us Same as U4

U6 INTEGRATED CIRCUIT, CMOS 04713 MC14071CP 103940 3
3-Input OR Gate

M107-6-80



REPLACEABLE PARTS LIST

TITLE A1, IEEE-488 INTERCONNECT BOARD PC ASSEMBLY #06769901 (Cont'd)
MFR’S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q
U7 Same as U6
U8 Same as U3
U9 Same as U4
Ul10 Same as U3
U1l INTEGRATED CIRCUIT, CMOS 04713 023BCP 116099 1
3-Input NAND Gate
Ul12 Same as U6
U13 INTEGRATED CIRCUIT, CMOS 04713 MC14082BCP 117111 1
Dual 4-Input AND Gate
Ul4 Same as U2
thru
Ul6
u17 Same as Ul
thru
U23
U24 Same as U3
U2s Same as U4
U26 INTEGRATED CIRCUIT, CMOS 04713 MC14528BCP 045289 2
Dual Multivibrator
U27 INTEGRATED CIRCUIT, CMOS 04713 MC14011CP 103937 3
4 2-Input NAND Gate
U28 Same as U3
U29 Same as U27
U30 INTEGRATED CIRCUIT, CMOS 04713 MC14077B 117672 1
4 2-Input Exclusive NOR Gate
U31 INTEGRATED CIRCUIT, TTL SSI 01295 SN74LS08N 103967 1
Quad 2-Input AND Gate
U32 INTEGRATED CIRCUIT, CMOS 02735 M14049BCP 103217 3
Hex Inverter Buffer
U33 Same as U32
U34 INTEGRATED CIRCUIT, CMOS 04713 MC14519BCP 045288 7
4-Bit AND/OR Selector
U35 Same as U34
thru
U40
U41 Same as U4
U42 Same as U26
U43 Same as U32
U44 Same as U27
6-12 M107-11-81



REPLACEABLE PARTS LIST

TITLE A1, IEEE-488 INTERCONNECT BOARD PC ASSEMBLY #06769901 (Cont'd)
MFR'S | MANUFACTURER'S | SDSTOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T1/0]
U45 INTEGRATED CIRCUIT, CMOS 01295 MC14081BCP 116101 1
4 2-Input AND Gate
uU46 INTEGRATED CIRCUIT, TTL SSI 01295 SN75453BP 045291 1
Dual Positive OR Gate
u47 INTEGRATED CIRCUIT, TTL SSI 01295 SN74LS14N 117083 2
6 Inverter Schmitt
U48 Same as U47
PIN, Spring 3957 50-094-0250 100752 2
EXTRACTOR 51495 1743 100865 1
EXTRACTOR, Stamped Al 52542 03984201 03984201 1
BOARD, PC 52542 067699 067699 1
6-13

M107-11-81



REPLACEABLE PARTS LIST

TITLE A2, ENCODER BOARD PC ASSEMBLY #06775001 Rev B
MFR’S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q

C1 CAPACITOR, Tant 56289 150D226X9015B2 100125 2
22 uF 10%, 15V

C2 CAPACITOR, Ceramic 91418 TYPE B 100076 4
.001 uF 20%, 1 kV

C3 Same as C2

C4 CAPACITOR, Ceramic 71590 UK10-503 100122 2
.05 uF +80-20%, 10V

Cs Same as C2

Cé6 Same as C2

C7 Same as C4

C8 Same as C1

R1 RESISTOR, CC 01121 CB4735 101574 1
47k 5%, 1/4W

R2 RESISTOR, CC 01121 CB2235 101572 4
22k 5%, 1/4W

R3 Same as R2

R4 Same as R2

R5 RESISTOR, CC 01121 CB4725 101598 1
4.7k 5%, 1/4W

R6 Same as R2

RNI1 RESISTOR, Module 11236 760-1-R10K 117241 3
13x 10k

RN2 Same as RN1

RN3 Same as RN1

Ul INTEGRATED CIRCUIT, CMOS 04713 MC14081BCP 116101 6
4 2-Input AND Gate

U2 Same as Ul

U3 INTEGRATED CIRCUIT, CMOS 04713 MC14028BCP 045286 1
BCD-to-Decimal Decoder

U4 INTEGRATED CIRCUIT, CMOS 02735 MC14049BCP 103217 1
Hex Inverter Buffer

Us INTEGRATED CIRCUIT, CMOS 04713 MC14528CP 045289 2
Dual Multivibrator

U6 INTEGRATED CIRCUIT, CMOS 04713 MC14013BCP 103199 2
Dual D Flip-Flop

u7 INTEGRATED CIRCUIT, LIN MSC 04713 MC1413P 117558 1
Darlington NPN 500 mA

U8 INTEGRATED CIRCUIT, CMOS 04713 MC14071CP 103940 3
3-Input OR Gate

6-14 M107-8-80



REPLACEABLE PARTS LIST

TITLE A2, ENCODER BOARD PC ASSEMBLY #06775001 (Cont'd)
MFR’S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q}

U9 Same as U8

uUl0 Same as U5

Ul1 Same as U6

Ul12 Same as U8

Ul13 INTEGRATED CIRCUIT, CMOS 04713 MC14516BCP 117113 1
Binary Up/Down Counter

Ul4 INTEGRATED CIRCUIT, CMOS 04713 MC14532BCP 116213 2
8-Bit Priority Encoder

Uls Same as Ul

Ul6 INTEGRATED CIRCUIT, CMOS 04713 MC14044B 117379 1
R-S NAND Latch

u17 Same as Ul

U18 INTEGRATED CIRCUIT, CMOS 04713 MC14001CP 045283 1
Quad 2-Input NOR Gate

u19 Same as U14

U20 Same as Ul

U21 Same as Ul
PIN, Spring 73957 50-094-0250 100752 2
EXTRACTOR 51495 1743 100865 1
EXTRACTOR, Stamped A2 52542 03984202 03984202 1
BOARD, PC 52542 067750 067750 1

M107-6-80 6-15



REPLACEABLE PARTS LIST

TITLE A3, D/A CONTROL BOARD PC ASSEMBLY #06775501 Rev B
MFR'S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q]

Cl1 CAPACITOR, Ceramic 71590 UK10-503 100122 6
.05 uF +80-20%, 10V

C2 CAPACITOR, DP Ceramic 96733 DB44BY220] 117641 2
22 pF 5%, 100V

C3 Same as C2

C4 Same as C1

C5 Same as C1

Cé6 CAPACITOR, Ceramic 56289 5C023104X0500C5 100178 1
.1 uF 20%, 50V

Cc7 CCAPACITOR, DP Ceramic 96733 DB45BY331J 117636 1
330 pF 5%, 100V

C8 Same as C1

C9 Same as Cl

C10 CAPACITOR, Tant 56289 150D226X9015B2 100125 1
22 uF 10%, 15V

Cll Same as C1

C12 CAPACITOR, Tant 91418 TYPE B 100076 2
.001 uF 20%, 1 kV

C13 Same as C12

Cl4 CAPACITOR, Tant 56289 196D225X9025HA1 103495 1
2.2 uF 10%, 25V

CR1 DIODE, Signal 50V 03508 1N4151 100385 2

CR2 Same as CR1

CR3 DIODE, Signal 70V 28480 5082-2800 100442 2

CR4 Same as CR3

R1 RESISTOR, CC 01121 CB6825 101544 2
6.8k 5%, 1/4W

R2 Same as R1

R3 RESISTOR, CC 01121 CB2225 101562 2
2.2k 5%, 1/4W

R4 Same as R3

R5 RESISTOR, CC 01121 CB1025 101569 2
1k 5%, 1/4W

R6 Same as R5

R7 RESISTOR, CC 01121 CB4725 101598 2
4.7k 5%, 1/4W

R8 RESISTOR, CC 01121 CB3315 101536 2
330 Q2 5%, 1/4W

6-16 M107-6-80



REPLACEABLE PARTS LIST

TITLE A3, D/A CONTROL BOARD PC ASSEMBLY #06775501 (Cont'd)
MFR’'S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q}

R9 RESISTOR, CC 01121 CB4715 101625 5

thru 470 Q 5%, 1/4W

R13

R14 Same as R8

R15 Same as R7

R16 RESISTOR, CC 01121 CB1035 101570 3
10k 5%, 1/4W

R17 Same as R16

R18 RESISTOR, CC 01121 CB2715 101542 4

thru 270 Q 5%, 1/4W

R21

R22 Same as R16

R23 RESISTOR, CC 01121 CB2235 101572 1
22k 5%, 1/4W

Ul INTEGRATED CIRCUIT, TTL SSI 01295 SN74LS123N 103976 1
Dual Rectifier One Shot

U2 INTEGRATED CIRCUIT, TTL SSI 01295 SN74LS08N 103967 1
Quad 2-Input AND Gate

U3 INTEGRATED CIRCUIT, TTL SSI 01295 SN74LS74N 103132 5

thru Dual D Flip-Flop

u7

U8 INTEGRATED CIRCUIT, TTL SSI 01295 SN74LS10N 103968 1
3-Input NAND Gate

U9 INTEGRATED CIRCUIT, TTL MSI 01295 SN74LS160AN 117871 3
Synchronous 4-bit Counter

ul10 Same as U9

Ull Same as U9

U12 INTEGRATED CIRCUIT, TTL SSI 01295 SN74LS04N 103749 1
Hex Inverter

U13 INTEGRATED CIRCUIT, CMOS 04713 MC14011CP 103937 1
4 2-Input NAND Gate

Ul4 INTEGRATED CIRCUIT, LIN MSC 04713 MC1413P 117558 1
Darlington NPN 500 mA

uUl5s INTEGRATED CIRCUIT, CMOS 02735 MC14049BCP 103217 1
Hex Inverter Buffer

ule INTEGRATED CIRCUIT, CMOS 04713 MC14042BCP 116187 1
Quad Latch

u17 INTEGRATED CIRCUIT, CMOS 04713 MC14077B 117672 1
4 2-Input Exclusive NOR Gate

M107-6-80 6-17



REPLACEABLE PARTS LIST

TITLE A3, D/A CONTROL BOARD PC ASSEMBLY #06775501 (Cont'd)
MFR’'S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q}

Ul18 INTEGRATED CIRCUIT, CMOS 04713 MC14012CP 103938 1
2 4-Input NAND Gate

u19 INTEGRATED CIRCUIT, CMOS 04713 MC14528BCP 045289 1
Dual Multivibrator

U20 INTEGRATED CIRCUIT, TTL SSI 01295 SN7404N 025779 1
Hex Inverter

U21 INTEGRATED CIRCUIT, TTL SSI 01295 SN74LS266N 117378 6
Quad 2-Input NOR Gate

U22 Same as U21

thru

U26

u27 INTEGRATED CIRCUIT, CMOS 04713 MC14040BCP 117143 1
12-Bit Binary Counter

XY1 SOCKET, Crystal 91506 8000-DG2 100769 1

Y1 CRYSTAL, 2.3 MHz 00809 AO061EHF-32 102458 1
PIN, Spring 73957 50-094-0250 100752 2
EXTRACTOR 51495 1743 100865 1
EXTRACTOR, Stamped A3 52542 03984203 03984203 1
RIVET 12014 R-3484XY8NICL 100924 2
BOARD, PC 52542 067766 067755 1

618 M107-6-80



REPLACEABLE PARTS LIST

TITLE A4, DIGITAL MOTHER BOARD PC ASSEMBLY #06775301 Rev A
MFR’S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q]

Cl1 CAPACITOR, El Can 99392 23C15TS53 106459 1
5000 uF, 15V

C2 CAPACITOR, Tant 56289 150D105X9035A2 100082 4

thru 1 uF 10%, 35V

C5

Cé CAPACITOR, Tant 56289 150D396X9010B2 100183 1
39 uF 10%, 10V

CRI1 DIODE, Rectifier S0V 81349 30S05 103252 2

CR2 Same as CR1

J1 CONNECTOR, Header 34-pin 30146 929836-01-17 117178 3

J2 Same as J1

J3 CONNECTOR, Header 20-pin 30146 922584-20 117211 1

J4 Same as J1

Ul INTEGRATED CIRCUIT 50522 MCT6 102858 4

thru Optoisolator Dual

U4

Us INTEGRATED CIRCUIT, MCOS 04713 MC14050 103492 4

thru Inverter Buffer

U8

U9 INTEGRATED CIRCUIT, CMOS 04713 MC14042BCP 116187 6

thru Quad Latch

Ul4

Uls INTEGRATED CIRCUIT 04713 MC7805CT 045256 2
Voltage Regulator +5V

Ule Same as U16
CONNECTOR, PC Edge 50-pin 71785 252-25-30-012 101239 2
CONNECTOR, PC Edge 36-pin 05574 2VK18D/4-12 103190 4
SOCKET, Transistor 27264 10-18-2031 117324 2
TERMINAL, Swage 88245 2000B 100482 4
BOARD, PC 52542 067753 067753 1

M107-6-80 6-19



REPLACEABLE PARTS LIST

TITLE A5, ANALOG BOARD PC ASSEMBLY #06781701 Rev E
MFR’'S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Qi

Cl CAPACITOR, Tant 56289 196D865X0035KE3 106515 1
6.8 uF 20%, 35V

C2 CAPACITOR, Ceranic 91418 TA110 100103 2
.01 uF +80-20%, 100V

C3 CAPACITOR, Tant 56289 196D106X9020JA1 103715 5
10 uF 10%, 20V

C4 Same as C3

C5 Same as C2

Cé6 Same as C3

C7 CAPACITOR, DP Ceramic 96733 DB44BY470J 117359 4
47 pF 5%, 100V

C8 Same as C7

C9 CAPACITOR, DP Ceramic 96733 DB44BY150] 117624 2
15 pF 5%, 100V

C10 CAPACITOR, El Can 90201 VTT220K 35 100308 1
220 uF, 35V

Cl1 Same as C7

C12 Same as C7

Cl13 Same as C9

Cl4 CAPACITOR, Ceramic 91418 TYPE B 100076 6
.001 uF 20%, 1 kV

C15 CAPACITOR, Polypr 27556 GA2G332 100356 6
.0033 uF 20%, 600V

Clé6 Same as C15

thru

C20

C21 CAPACITOR, DP Ceramic 96733 DB44BY220J 117641 1
22 pF 5%, 100V

C22 CAPACITOR, Ceramic 91418 SM250 100077 1
.005 uF 20%, 500V

C23 CAPACITOR, DP Ceramic 96733 DB45BY102] 117639 1
.001 uF 10%, 100V

C24 Same as C14

C25 CAPACITOR, Polypr 27556 GA2G473] 100352 2
.047 uF 5%, 600V

C26 Same as C25

C27 CAPACITOR, Polypr 27556 GA2C104) 100345 1
.1 uF 5%, 200V

C28 Same as C14

6-20 M107-8-80



REPLACEABLE PARTS LIST

TITLE A5, ANALOG BOARD PC ASSEMBLY #06781701 (Cont’d)

MFR'S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q]
C29 Same as C14
C30 Same as C3
C31 CAPACITOR, El Can 56289 36D351F250AB2A 117919 1
350 uF +50-10%,250 V
C32 CAPACITOR El Can 99392 23C50TS152 106468 2
1500 uF, 50 V
C33 Same as C32
C34 CAPACITOR, Tant 56289 150D105X0050A2 103275 2
1uF 10%, 50V
C35 CAPACITOR, Tant Axial Lead 56289 150D105X9035A2 100082 5
thru 1uF 10%, 35V
C39
C40 CAPACITOR, Tant Rad. Lead 56289 196D105X9035HA1 103716 3
thru 1 uF 10%,35V
C42
C43 CAPACITOR, Tant 56289 196D476X020LA1 106514 3
47 uF 20%, 20 V
C44 Same as C3
C45 CAPACITOR, Ceramic 56289 BL-S10 100362 1
.01 uF 20%,2k V
C46 Same as C34
Cc47 Same as C43
C48 Same as C43
C49 Same as C14
C50 Same as C14
CR1 DIODE, Signal 50 V 03508 1N4151 100385 18
CR2 Same as CR1
CR3 Not Used
CR4 Not Used
CR5 Same as CR1
thru
CR7
CR8 Not Used
thru
CR10
CR11 Same as CR:1
CR12 Same as CR1
M107-11-81 6-21



REPLACEABLE PARTS LIST

TITLE A5, ANALOG BOARD PC ASSEMBLY #06781701 (Cont'd)
MFR’S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q]
CR13 Not Used
CR14 Not Used
CR15 Same as CR1
CR16 Not Used
CR17 DIODE, Selected 2N3563 52542 037769 037769 5
CR18 Same as CR17
CR19 Same as CR1
CR20 Same as CR17
thru
CR22
CR23 Same as CR1
thru
CR29
CR30 DIODE, Rectifier 3 kV 04713 MR250-3 100466 5
thru
CR33
CR34 DIODE, Rectifier 400 V 12969 IN5617 116594 6
thru
CR39
CR40 Not Used
CR41 Same as CR1
CR42 Same as CR1
CR43 Same as CR30
K5 RELAY, Reed 21317 EAC1A05Y500 117557 1
Q1 TRANSISTOR, SINPN 15V 02763 PN4275-18 102716 4
thru
Q4
Qs TRANSISTOR, J-FET N Channel 40 V 04713 2N4091 101409 3
thru
Q8
Q9 TRANSISTOR, SIPNP 04713 2N5193 101405 1
Q10 TRANSISTOR, SIPNP 40 V 04713 2N3906 101378 1
Q11 TRANSISTOR, SIPNP 50 V 07263 2N5087 105575 1
Q12 TRANSISTOR, INPN 04713 MPS6521 101430 1
R1 RESISTOR, CC 01121 CB1065 101564 1
10M 5%, 1/4 W
6-22 M107-11-81



REPLACEABLE PARTS LIST

TITLE A5, ANALOG BOARD PC ASSEMBLY #06781701 (Cont'd)
MFR’S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q}

R2 RESISTOR, MF 81349 RN60C1821F 106170 1
1.82k 1%, 1/8 W

R3 RESISTOR, CC 01121 CB2225 101562 11
2.2k 5%, 1/4 W

R4 RESISTOR, MF 19701 MF5C-E-8661 102044 2
8.66k 1%, 1/8 W

RS Same as R4

R6 RESISTOR, CC 01121 CB4725 101598 2
4.7k 5%, 1/14W

R7 RESISTOR, MF 19701 MF5C-E-3571-F 101927 2
3.57k 1%

R8 RESISTOR, Variable 73138 68WRS5K 117235 1
5k 10%

R9 Same as R3

thru

R12

R13 RESISTOR, CC 01121 CB3925 101601 1
3.9k 5%, 1/4 W

R14 RESISTOR, CC 01121 CB1835 101579 5
18k 5%, 1/4 W

R15 Same as R14

R16 RESISTOR, MF 19701 MF5C-D-63R4-F 102133 1
63.4 Q 1%,1/8W

R17 RESISTOR, Variable 80294 3059L-1-101M 117921 2
100 Q 10%,1W

R18 Not Used

R19 Same as R3

R20 RESISTOR, MF 16299 NA60 106210 1
10 Q 1%,1/8W

R21 Not Used

R22 RESISTOR, MF 16299 NA60 116668 1
953 Q 1%, 1/8 W

R23 RESISTOR, MF 03888 PME60T9 101966 1
IM1%,1/8W

R24 RESISTOR, Variable 73138 78LBWR100K 102877 3
100k 10%, 3/4 W

R25 Same as R3

M107-11-81 6-23



REPLACEABLE PARTS LIST

TITLE A5, ANALOG BOARD PC ASSEMBLY #06781701 (Cont'd)
MFR'S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q]
R26 Same as R14
R27 Same as R24
R28 Same as R3
thru
R31
R32 Same as R14
R33 Same as R14
R34 Not Used
R35 RESISTOR, CC 01121 CB4755 101661 1
4.7M 5%, 1/4W
R36 RESISTOR, MF 19701 MF5C-D-3243-F 102225 6
324k 1%, 1/8W
R37 Same as R36
thru
R41
R42 RESISTOR 19701 MF5C-D-2743-F 102101 2
274k 1%, 1/8 W
R43 RESISTOR, MF 19701 MF5C-D-1270-F 102134 2
127 2 1%, 1/8 W
R44 RESISTOR, Variable 80294 3059L-1-102M 117923 2
1k 10%, 1 W
R45 Same as R43
R46 RESISTOR, CC 01121 CB1035 101570 1
10k 5%, 1/4 W
R47 Not Used
R48 Not Used
R49 Same as R42
R50 RESISTOR, Variable 80294 3059L-1-502M 117924 1
5k 10%, 1 W
R51 Not Used
thru
R57
R58 RESISTOR, CC 01121 HB4725 101654 1
47k 5%, 2 W
R59 Same as R44
R60 Same as R17
6-24 Mi107-11-81



REPLACEABLE PARTS LIST

TITLE A5, ANALOG BOARD PC ASSEMBLY #06781701 (Cont'd)
MFR’S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q]

R61 RESISTOR ,CC 01121 CB1025 101569 1
1k 5%, 1/4W

R62 RESISTOR, MF 81349 RN65C1214F 102287 1
1.21M 1%, 1/4 W

R63 Same as R24

R64 RESISTOR, MF 19701 5043RD150KF 117617 1
150k 1%, 1/8 W

R65 RESISTOR, Set 2 k 52542 067722 067722 1

R66 P/O R65 222.2 2, .05%

R67 RESISTOR, MF 01121 GB1055 102210 3
1M 5%,1 W

R68 Same as R67

R69 Same as R67

R70 RESISTOR, CC 01121 CB1525 101577 1
1.5k 5%, 1/4 W

R71 RESISTOR, CC 01121 CB4735 101574 1
47k 5%, 1/4W

R.2 RESISTOR, CC 01121 CB1825 101602 1
1.8k 5%, 1/4 W

R73 RESISTOR, MF 81349 RN55D4121F 117577 1
412k 1%

R74 RESISTOR, Variable 80294 68WRI1K 117336 1
1k 10%, 5SW

R75 Same as R7

R76 Same as R6

R77 RESISTOR, MF 81349 RN60D4531F 106323 1
453k 1%, 1/8 W

RNI1 RESISTOR, Network 52542 067721 067721 1

Ul INTEGRATED CIRCUIT 04713 MC78L15ACP 117260 2
Voltage Regulator

U2 INTEGRATED CIRCUIT 07263 MC7824CT 045246 1
Voltage Regulator +24 V

U3 INTEGRATED CIRCUIT 04713 MC7915CT 103040 1
Voltage Regulator, 15V

U4 Same as Ul

uUs INTEGRATED CIRCUIT 04713 MC79L15ACP 117261 1
Voltage Regulator

M107-11-81 6-25



REPLACEABLE PARTS LIST

TITLE A5, ANALOG BOARD PC ASSEMBLY #06781701 (Cont‘d)
MFR'S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q

U6 INTEGRATED CIRCUIT 24335 52K 117917 1
Operational Amplifier

u7 INTEGRATED CIRCUIT 27014 ILM302H 025721 1
Voltage Follower

U8 INTEGRATED CIRCUIT 27014 LM299AH 117537 1
Voltage Reference

U9 INTEGRATED CIRCUIT 07263 741TC 106621 1
Operational Amplifier

Ul10 INTEGRATED CIRCUIT, LIN MSC 04713 MC1413P 117558 1
Darlington NPN

VR1 Diode, Zener 03877 IN748A 100384 1

VR2 Diode, Zener 03877 IN4744A 100422 1

VR3 Diode, Zener 04713 IN968B 100409 1

VR4 Diode, Zener 04713 IN958B 102992 1
HEATSINK 98978 PSD1-2ND 117107 2
CONNECTOR, PC Edge 25-pin 71785 252-25-30-012 101239 1
PIN, Socket 06776 PS-402-44 102430 9
SPACER, Swage 6-32x 1/4 88245 1530B 1/4 100783 4
SPACER, Swage 6-32x 1-1/4 06540 9640B-B-0632-3A 101096 2
SPACER, Threaded 6-32 x 1-1/2 83330 8349 100944 2
SPACER, Swage 6 x 1/8 88245 1530B 5/8 100517 2
TERMINAL, Swage 88245 2000B 100482 4
TERMINAL, Swage 88245 1309B-1 100508 10
TERMINAL, Swage 88245 1309B-1 100508 10
SOCKET, Transistor 3-pin 27264 10-18-2031 117324 2
SOCKET, Relay 24796 A11-S006 102426 4
SPACER, Mtg. Cover 52542 067864 067864 1

All ASSEMBLY, CAL Switching PC 52542 06785701 06785701 1
SCREW, PHMS 10-32 x 5/16 96906 MS51958-60 10064405 2
SCREW, PHMS 6-32 x 7/16 96906 MS51957-29 10063207 4
SCREW, PHMS 6-32 x 5/16 96906 MS51957-27 10063205 4
SCREW, PHMS 4-40x 5/16 96906 MS51957-14 10062605 1
SCREW, PHMS 4-40 x 3/8 96906 MS51957-15 10062606 1
WASHER, Flat #10 96906 MS15795-808 100648 2
WASHER, Split-Lock #10 96906 MS35338-138 100714 2
WASHER, Internal Tooth #6 96906 MS35338-70 100647 2
WASHER, Flat #6 86928 5710-23-10 100662 8
WASHER, Split-Lock #6 96906 MS35338-136 100712 8
WASHER, Dome #4 04713 B52200F003 103351 1
NUT, , Kep 4-40 78189 511-041800-00 100941 2
JUMPER 55210 1-2007-1 102879 1
BOARD, PC 52542 067817 067817 1

6-26 M107-11-81



REPLACEABLE PARTS LIST

TITLE A6, HIGH VOLTAGE AMPLIFIER BOARD PC ASSEMBLY #06777001 Rev C
MFR’'S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q]

Cl1 CAPACITOR, Ceramic 91418 TA110 100103 1
.01 uF +80-20%, 100V

C2 CAPACITOR, Tant 56289 196D106X902J Al 103715 1
10 uF 10%, 10V

C3 CAPACITOR, Tant 56289 196D685X0035KE3 106515 1
6.8 uF 20%, 35V

C4 CAPACITOR, Ceramic 56289 BL-S10 100362 1
.01 uF 20%, 2 kV

CR1 DIODE, Rectifier 400V 04713 IN5395 100413 2

CR2 DIODE, Signal 50V 03508 1N4151 100385 4

CR3 Same as CR2

CR4 Same as CR1

CRS Same as CR2

CR6 Same as CR2

CR7 DIODE, Rectifier 3 kV 04713 MR?250-3 100466 2

CR8 Same as CR7

Q1 TRANSISTOR, SINPN 1500V 04713 BU205 117915 3

Q2 Same as Q1

Q3 Same as Q1

Q4 TRANSISTOR, SINPN 100V 01295 2N4240 101428 1

Q5 TRANSISTOR, SINPN 350V 04713 2N3439 117916 6

thru

Q10

Q11 TRANSISTOR, SIPNP 60V 07293 PN4250-18 102725 1

Q12 TRANSISTOR, SINPN 02735 2N3440 101420 1

R1 RESISTOR, CC 01121 CB1015 101609 1
100 2 5%, 1/4W

R2 RESISTOR, CC 01121 CB3935 101561 1
39k 5%, 1/4W

R3 RESISTOR, CC 01121 CB1035 101570 2
10k 5%, 1/4W

R4 Same as R3

R5 RESISTOR, CC 01121 CB2225 101562 2
2.2k 5%, 1/4W

R6 RESISTOR, CC 01121 CB1535 101552 1
15k 5%, 1/4W

R7 Same as RS

R8 Not Used

M107-8-80 6-27



REPLACEABLE PARTS LIST

TITLE A6, HIGH VOLTAGE AMPLIFIER BOARD PC ASSEMBLY #06777001 (Cont'd)
MFR’'S MANUFACTURER’S | SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T/Q

RO Not Used

RIO RESISTOR, CC 01121 CB3325 101559 1
3.3k 5%, 1/4W

R11 RESISTOR, CC 01121 CB1815 10166801 1
180 Q 5%, 1/4W

R12 RESISTOR, CC 01121 EB6805 102238 1
68 Q 5%, 1/2W

R13 RESISTOR, CC 01121 CB4725 101598 2
4.7k 5%, 1/4W

R14 RESISTOR, CC 01121 EB2245 101458 1
220k 5%, 1/2W

R15 RESISTOR, CC 01121 EB4345 101465 2
430k 5%, 1/2W

R16 Same as R15

R17 RESISTOR, CC 01121 EB6835 101462 1
68k 5%, 1/2W

R18 RESISTOR, CC 01121 EB5615 101631 1
560 Q 5%, 1/2W

R19 Same as R13

R20 RESISTOR, CC 01121 EB1845 101470 6
180k 5%, 1/2W

R21 Same as R20

thru

R25

VRI DIODE, Zener 5.1V 03877 IN751A 100378 1

VR2 DIODE, Zener 15V 03877 IN4744A 100422 1

VR3 Not Used

VR4 DIODE, Zener 5.6V 03877 IN752A 100376 1

VR5 DIODE, Zener 8.2V 04713 1N959B 100429 1
SPACER, Swage 6-32 x 3/16 88245 1530 B 3/16 100511 8
HEATSINK, TO-3 98978 UP-TO3 100936
PAD, Transistor 08289 501-000-D 100666 7
SCREW, PHMS 6-32 x 3/8 96906 MS51957-28 10063206 8
WASHER, Split-Lock #6 96906 MS35338-136 100712 8
BOARD, PC 52542 067770 067770 1

6-28 M107-8-80




REPLACEABLE PARTS LIST

TITLE A7, DIGIT SELECT BOARD PC ASSEMBLY #06771701 Rev A
MFR'S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q}
S1 SWITCH, Pushbutton 31918 MDP W/AG CONT 117899 8
thru
S8
BUTTON, Keytop Dark Gray 31918 By Description 117939 8
SPACER, Swage #6 52542 067718 067718 5
BOARD, PC 52542 067717 067717 1
M107-8 80 6-29



REPLACEABLE PARTS LIST

TITLE A8, VOLTAGE SELECT BOARD PC ASSEMBLY #06771901 Rev A
MFR'S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q}

DS1 LED, Red 50522 MV5753 117227 1

DS2 LED 50522 MV5774B 117487 1

S1 SWITCH, Pushbutton 31918 MDP W/AG CONT 117899 17

thru

S17
BUTTON, Lt Gray Marked “0” 52542 06775410 06775410 1
BUTTON, Lt Gray Marked “1” 52542 06775401 06775401 1
BUTTON, Lt Gray Marked “2” 52542 06775402 06775402 1
BUTTON, Lt Gray Marked “3” 52542 06775403 06775403 1
BUTTON, Lt Gray Marked “4” 52542 06775404 06775404 1
BUTTON, Lt Gray Marked “5” 52542 06775405 06775405 1
BUTTON, Lt Gray Marked “6” 52542 06775406 06775406 1
BUTTON, Lt Gray Marked “7” 52542 06775407 06775407 1
BUTTON, Lt Gray Marked “8” 52542 06775408 06775408 1
BUTTON, Lt Gray Marked “9” 52542 06775409 06775409 1
BUTTON, Lt Gray Marked “+” 52542 06775411 06775411 1
BUTTON, Lt Gray Marked “-” 52542 06775412 06775412 1
BUTTON, Dark Gray 31918 By Description 117939 3
BUTTON, Lt Gray 31918 By Description 117938 1
BUTTON, Red 31918 By Description 117940 1
CONNECTOR, PC 34-pin 30146 929836-01-17 117178 1
SPACER, Swage #6 52542 067718 067718 1
SPACER, Nylon 06540 9207-N091 117941 1
BOARD, PC 52542 067719 067719 1

6-30 M107-8-80



REPLACEABLE PARTS LIST

TITLE A9, DISPLAY BOARD PC ASSEMBLY #06772601 Rev A
MFR'S | MANUFACTURER'S | SD STOCK
ITEM| REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T/}
DS1 DISPLAY, LED 5-Segment 50522 | MAN4630 10339201 | 1
DS2 DISPLAY, LED 7-Segment 50522 | MAN4610A 10317201 | 6
thru
DS7
DS8 DISPLAY, LED MV5774B 117487 7
thru
DS14
SOCKET, IC 14-pin 73803 | ©83-14-02 117040 7
SPACER, Nylon 06540 | 9211-N091 117942 7
SCREW, PHMS 2-56 x 1/4 96906 | MS51957-3 10062504 | 2
SCREW, PHMS 2-56 x 7/16 96906 | MS51957-6 10062507 | 2
WASHER, Flat #2 96906 | MS15795-802 100614 4
WASHER, Split-Lock #2 96906 | MS35337-77 100661 4
BOARD, PC 52542 | 067726 067726 1
M107-8-80 6-31



REPLACEABLE PARTS LIST

TITLE A10, DISPLAY DRIVER BOARD PC ASSEMBLY #06773101 Rev B
MFR’S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q

Cl CAPACITOR, Tant 56289 196D225X9025HA1 103495 1
2.2 uF 10%, 25V

C2 CAPACITOR, Tant 56289 150D226X9015B2 100125 1
22 uF 10%, 15V

J1 CONNECTOR, Header 39-pin 30146 929836-01-17 117178 2

J2 Same as J1

R1 RESISTOR, CC 01121 CB2735 101587 1
27k 5%, 1/4W

R2 RESISTOR, CC 01121 CB2245 101610 1
220k 5%, 1/4W

RNI1 RESISTOR, Network 73138 899-3-R270 117896 8

thru 7x270Q

RN8

Ul INTEGRATED CIRCUIT, TTL MSI 01295 SN74LS42N 103131 1
BCD-to-Dec Decoder

U2 INTEGRATED CIRCUIT, LIN MSC 18324 NES55V 045208 1
Wide Range Timer

U3 INTEGRATED CIRCUIT 01295 SN74LS247N 103166 ()

thru 4-7 Decade Counter

U8

U9 INTEGRATED CIRCUIT 52542 067749 067749 1
PROM SN74188AN

ul0 INTEGRATED CIRCUIT, TTL SSI 01295 SN74LSOON 103130 1
Quad 2-Input NAND Gate
SPACER, Swage 71279 350-7423-11-19 103297 2
BOARD, PC 52542 067731 067731 1

6-32 M107-8-80



REPLACEABLE PARTS LIST

TITLE A11, CAL SWITCHING ASSEMBLY #06785701 Rev A
MFR'S | MANUFACTURER'S | SD STOCK
ITEM| REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T/

RI RESISTOR, MF 91637 MFF-1/8-T9 102251 1
1.5k 1%, 1/8W

R2 RESISTOR, MF 19701 MF5C-D-3011-F 101896 1
3.01k 1%, 1/8W

R3 RESISTOR, MF 91637 MFF 1/8 T1 102199 1
6.19k 1%, 1/8W

R4 RESISTOR, MF 81349 RN60E1242F 102045 1
12.4k 1%, 1/8W

RS RESISTOR, MF 81349 | RNG60E2492F 102297 1
249k 1%, 1/8W

R6 RESISTOR, MF 81349 RN60E4992F 102296 1
49.9k 1%, 1/8W

R7 RESISTOR, MF 81349 RN60E1003F 101967 1
100k 1%, 1/8W

R8 RESISTOR, MF 81349 | RNG6OE1963F 102295 1
196 k 1%, 1/8W

S1 SWITCH, Slide 4-position 95146 | MSS-4200 117918 8

thru

S8
BRACKET, Right Angle 79963 176 100849 2
RIVIT 12014 | R-3472X1/8NICL 100645 2
BOARD, PC 52542 | 067857 067857 1

M107-8-80 6-33



REPLACEABLE PARTS LIST

TITLE OPTION 01, TEST ASSEMBLY #075134 Rev D
MFR'S | MANUFACTURER'S | SD STOCK
ITEM| REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T/q]
1 ASSEMBLY, Front Panel 52542 075143 075143 1
2 ASSEMBLY, Cross Member Front 52542 067887 067887 1
3 ASSEMBLY, Center Brace 52542 067896 067896 1
4 CROSS MEMBER, Rear 52542 067738 067738 1
5 GUSSET, Right 52542 067678 067678 1
6 GUSSET, Left 52542 067677 067677 1
7 ASSEMBLY, Rear Panel 52542 075135 075135 1
8 GUIDE, Card 52542 01234011 01234011 3
9 | Al ASSEMBLY, Parallel Interface PC 52542 06790301 06790301 1
10 | A2 ASSEMBLY, Encoder PC 52542 06775001 06775001 1
11 | A3 ASSEMBLY, D/A Control PC 52542 06775501 06775501 1
12 | A6 ASSEMBLY, High Voltage Amp PC 52542 06777001 06777001 1
13 | A4 ASSEMBLY, Digital Mother Board PC 52542 06775301 06775301 1
14 | AS ASSEMBLY, Analog PC 52542 06781701 06781701 1
15 TAPE, 20-pin Cable 30146 922521-20-02-14 117401 1
16 TAPE, 34-pin Cable 6” 30146 922521-34-02-06 117913 2
17 TAPE, 34-pin Cable 15” 30146 922541-34-02-15 117914 1
18 ASSEMBLY, Shield 52542 075251 075251 1
20 | K1-K4 | RELAY, 6-pole 26V 77342 R10-E1112-2 101295 4
21 SOCKET, Relay 20-pin 24796 A11-5006 10242601 4
22 STRIP, Caterpillar 03296 G51H-A 102749 A/R
23 NAMEPLATE, (Not Shown) 52542 045435 045435 1
24 SHEILD, Resistor 52542 067865 067865 1
25 SHIELD, Amp 52542 067813 067813 1
26 FOAM, Block 52542 075209 075209 1
27 SUPPORT, PC 52542 075208 075208 2
28 BUSHING, Snap 28520 SB-375-4 100781 2
29 KNOB 86797 RB-67-1-DC-M-L 100976 1
30 JUMPER 55210 L-2007-1 102879 10
32 TIE, Cable 06383 SSTIM 100753 A/R
33 | U15,U16| INTEGRATED CIRCUIT 04713 MC7805CT 045256 2
Voltage Regulator
38 ASSEMBLY, Parallel Interface Cable 52542 067936 067936 1
39 ADHISIVE 116566 A/R
42 SCREW, PHMS 4-40 x 7/16 96906 MS51957-16 10062607 1
43 SCREW, PHMS 6-32 x 5/16 96906 MS51957-27 10063205 | 29
44 SCREW, PHMS 6-32 x 1/2 96906 | MS51957-30 1--63208 4
45 SCREW, FHMS 6-32 x 3/8 96906 MS24693-C26 10073106 8
46 SCREW, FHMS 8-32 x 1/4 96906 MS24693-C46 10074304 6
47 SCREW, FHMS 8-32 x 3/8 96906 MS24693-C48 10074306 6
50 WASHER, Flat #6 78189 511-061800-00 100862 25
51 WASHER, Split-Lock #6 96906 MS35338-136 100712 31
52 NUT, Kep #4 78189 511-041800-00 100941
54 NUT, Kep #6 78189 511-061800-00 112472 2
6-34 M107-880



REPLACEABLE PARTS LIST

TITLE OPTION 01, FRONT PANEL ASSEMBLY #075143 Rev A
MFR'S | MANUFACTURER'S | SD STOCK
ITEM| REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | /0]
1 PANEL, Sub 52542 | 067720 067720 1
2 | rio1 RESISTOR, Variable 10 k 52542 | 075106 075106 1
3| 1637 BINDING POST, Red 05276 | 3770-0 117885 2
4 | 18J9 BINDING POST, Black 05276 | 3770-2 117886 2
s | 5o BINDING POST, White 05276 | 37709 117887 1
6 | A8 ASSEMBLY, Voltage Select PC 52542 | 06771901 06771901 1
7| A7 ASSEMBLY, Digit Select PC 52542 | 06771701 06771701 1
8 | Al0 ASSEMBLY, Display Driver PC 52542 | 06773102 06773102 1
9 | A9 ASSEMBLY, Display PC 52542 | 06772601 06772601 1
10 NUT, Hex 4-40 96906 | NAS671C4 100622 10
11 WASHER, Flat #4 96906 | MS15795-803 100703 14
12 WASHER, Split-Lock #4 96906 | MS35338-135 100711 14
13 SCREW, PHMS 4-40 x 1/2 96906 | MS51957-17 10062608 2
14 SCREW, PHMS 4-40 x 5/16 96906 | MS51957-14 10062605 2
15 PANEL, Decorative 52542 | 067778 067778 1
16 ADHESIVE 26066 | 950 117910 A/R
17 WINDOW, (Not Whown) 52542 | 067780 067780 1
18 | sio1 SWITCH, Toggle Power 09353 | 9201SH32Q 117147 1
19 NUT, Dress 09353 | B7099N 101086 1
20 LINE, Shorting 24655 | 0938-9503 100561 2
M107-8-80 6-35



REPLACEABLE PARTS LIST

TITLE OPTION 01, REAR PANEL ASSEMBLY #075135 Rev A
MFR'S | MANUFACTURER'S | SD STOCK
ITEM| REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T/0]
1 PANEL, Rear 52542 067732 067732 1
2 SWITCH, DPDT Slide 82389 | 46206LFE 102340 1
3 | XF101 | POST, Fuse 75915 345002 117381 1
4 | Flo1 FUSE, 3-AGSB 1/2-A 71400 | MDL1/2 100589 1
5| zio1 FILTER, Line 05245 3EF1 102461 1
6 | T101 TRANSFORMER 52542 067743 067743 1
7 | cio1 CAPACITOR, 2 uF 2000V 16727 | KMOC2M2 117920 1
8 BRACKET, Mtg. Cap 16727 By Description 117925 1
9 LUG, Solder #8 78189 2104-08-00 102961 1
10 LUG, Solder #4 83330 1416-4 100509 1
11 NUT, Kep 8-32 78189 511-081800-00 100940 6
12 NUT, Kep 4-40 78189 511-041800-00 100941 2
14 NUT, Hex 8-32 73734 | 70208 100659 1
15 NUT, Hex 4-32 96906 | NAS671C4 100622 1
16 WASHER, Split-Lock #4 96906 | MS35338-135 100711 4
18 | J1o01 CONNECTOR, Rear Panel Output 71468 | KPTO00A14-58 117696 1
19 SCREW, PHMS 4-40 x 1/4 96906 | MS51957-13 10062604 3
20 SCREW, PHMS 4-40 x 5/16 96906 | MS51957-14 10062605 1
21 SCREW, PHMS 4-40 x 3/8 96906 | MS51957-15 10062606 4
22 SCREW, PHMS 4-40 x 7/16 96906 | MS51957-16 10062607 2
23 SCREW, PHMS 8-32x 7/16 96906 | MS51957-44 10064207 4
24 SCREW, PHMS 8-32 x 1/2 96906 | MS51957-48 10064208 2
25 SCREW, PHMS 8-32 x 1/4 96906 | MS51957-41 10064204 1
32 ASSEMBLY, Parallel Interface Cable 52542 067936 067936 1
34 PLATE, Cover 52542 067540 067540 1
35 PLATE, Cover 52542 067542 067542 1
36 SCREW, PHMS 2-56 x 1/4 96906 | MS51957-3 10062504 4
37 SCREW, PHMS 2-56 x 3/8 96906 | MS51957-5 10062506 2
38 WASHER, Split-Lock #2 96906 | MS35337-77 100661 6
39 NUT, Hex 2-56 96906 | MS35694-224 100636 2
6-36 M107-8-80



REPLACEABLE PARTS LIST

TITLE OPTION 01, A1, PARALLEL INTERFACE PC ASSEMBLY #06790301 Rev A
MFR’S MANUFACTURER’S SD STOCK !
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q}
C1 CAPACITOR, Ceramic 91418 TYPE B 100076 1
.001 uF 20%, 1 kV
C2 CAPACITOR, Tant 56289 150D396X9010B2 100183 2
39 uF 10%, 10V
C3 Same as C2
C4 CAPACITOR, Ceramic 71590 UK 10-503 100122 4
.05 uF +80-20%, 10V
C5 Same as C4
thru
Cc7
Rl RESISTOR, CC 01121 CB2235 101572 1
22Kk 5%, 1/4W
R2 RESISTOR, CC 01121 CB3335 101576 1
33k 5%, 1/4W
R3 RESISTOR, CC 01121 CB1535 101552 1
15k 5%, 1/4W
R4 RESISTOR, CC 01121 EB1015 101498 1
100 2 3%, 1/2W
RN1 RESISTOR, Network 10k x 13 11236 760-1-R10K 117241 4
thru
RN4
Ul INTEGRATED CIRCUIT, CMOS 04713 MC14081BCP 116101 3
4 2-Input AND Gate
U2 INTEGRATED CIRCUIT, CMOS 04713 MC14071BCP 103940 2
4 2-Input OR Gate
U3 Same as U2
U4 INTEGRATED CIRCUIT, CMOS 04713 MC14013BCP 103199 1
Dual D Flip-Flop
Us INTEGRATED CIRCUIT, CMOS 04713 MC14011BCP 103937 1
4 2-Input NAND Gate
U6 INTEGRATED CIRCUIT, CMOS 04713 MC14528BCP 045289 1
Dual Monostability Multiplier
u7 Same as Ul
8}] INTEGRATED CIRCUIT, CMOS 04713 MC14073B 117380 1
3 3-Input AND Gate
U9 INTEGRATED CIRCUIT, CMOS 04713 MC14012BCP 103938 1
2 4-Input NAND Gate
Ul10 INTEGRATED CIRCUIT, CMOS 04713 MC14050BP 103492 7
thru 6-Inverter Buffer
Ul5
M107-8-80 6-37



REPLACEABLE PARTS LIST

TITLE OPTION 01, A1, PARALLEL INTERFACE PC ASSEMBLY #06790301 (Cont'd)
MFR’S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/
ulé6 INTEGRATED CIRCUIT, CMOS 04713 MC14519BCP 045288 7
thru 4-Bit AND/OR Selector
U22 _
U23 INTEGRATED CIRCUIT, CMOS 04713 MC14049BCP 103217 1
Hex Inverter Buffer
U24 INTEGRATED CIRCUIT, CMOS 04713 MC14516BCP 117113 1
Binary Up/Down Counter
U2s INTEGRATED CIRCUIT, CMOS 04713 MC14044B 117379 1
R-S NAND Latch -
U26 Same as Ul
U227 Same as U10 R
PIN, Spring 73957 50-094-0250 100752 2 i
EXTRACTOR 51495 1743 100865 1
EXTRACTOR, Stamped Al 52542 03984201 03984201 1
BOARD, PC 52542 067903 067903 1 -

6-38 M107-8-80



REPLACEABLE PARTS LIST

TITLE OPTION 01, A6, HIGH VOLTAGE AMPLIFIER #06777002 Rev C
MFR’'S MANUFACTURER'S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q}

Cl1 CAPACITOR, Ceramic 91418 TA110 100103 1
.01 uF +80-20%, 100V

C2 CAPACITOR, Tant 56289 196D106X9020JA1 103715 1
10 uF 10%, 20V

C3 CAPACITOR, Tant 56289 196D685X0035KE3 106515 1
6.8 uF 20%, 35V

C4 CAPACITOR, Ceramic 56289 BL-S10 100362 1
.01 uF 20%, 2kV

CR1 DIODE, Rectifier 400V 04713 IN5395 100413 2

CR2 DIODE, Signal 50V 03508 IN4151 100385 4

CR3 Same as CR2

CR4 Same as CR1

CRS Same as CR2

CR6 Same as CR2

CR7 DIODE, Rectifier 3 kV 04713 MR250-3 100466 2

CR8 Same as CR7

Ql Not Used

Q2 TRANSISTOR, SINPN 1500V 04713 BU205 117915 2

Q3 Same as Q2

Q4 TRANSISTOR, SINPN 300V 02735 2N4240 101428 1

Qs Not Used

thru

Q9

Q10 TRANSISTOR, SINPN 350V 04713 2N3439 117916 1

Q11 TRANSISTOR, SIPNP 60V 07263 PN4250-18 102725 1

Qi12 TRANSISTOR, SINPN 02735 2N3440 101420 1

R1 RESISTOR, CC 01121 CB1015 101609 1
100 2 5%, 1/4W

R2 RESISTOR, CC 01121 CB3935 101561 1
39k 5%, 1/4W

R3 RESISTOR, CC 01121 CB1035 101570 2
10k 5%, 1/4W -

R4 Same as R3

R5 RESISTOR, CC 01121 CB2225 101562 2
2.2k 5%, 1/4W

R6 RESISTOR, CC 01121 CB1535 101552 1
15k 5%, 1/4W

R7 Same as RS

6-39

M107-8-80



REPLACEABLE PARTS LIST

TITLE OPTION 01, A6, HIGH VOLTAGE AMPLIFIER #06777002 (Cont'd)
MFR'S MANUFACTURER’'S | SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | 1/Q]
RS Not Used
R9 Not Used
R10 RESISTOR, CC 01121 CB3325 101559 1
3.3k 5%, 1/4W
R11 RESISTOR, CC 01121 CB1815 10166801 1
180 Q 5%, 1/4W
R12 RESISTOR, CC 01121 EB6805 102238 1
68 Q 5%, 1/2W
R13 RESISTOR, CC 01121 CB4725 101598 2
4.7k 5%, 1/4W
R14 RESISTOR, CC 01121 EB2245 101458 1
220k 5%, 1/2W
R15 RESISTOR, CC 01121 EB4345 101465 2
430k 5%, 1/2W
R16 Same as R15
R17 RESISTOR, CC 01121 EB6835 101462 1
68k 5%, 1/2W
R18 RESISTOR, CC 01121 EB5615 101631 1
560 Q 5%, 1/2W
R19 Same as R13
R20 Not Used
thru
R24
R25 RESISTOR, CC 01121 EB1845 101470 1
180k 5%, 1/2W
VRI DIODE, Zener 5.1V 03877 IN751A 100378 1
VR2 DIODE, Zener 15V 03877 IN4744A 100422 1
VR3 Not Used
VR4 DIODE, Zener 5.6V 03877 IN752A 100376 1
VRS DIODE, Zener 8.2V 04713 1N959B 100429 1
SPACER, Swage 6-32 x 3/16 88245 1530 B 3/16 100511 6
HEATSINK, TO-66 98978 UP-TO66-B 101107 1
HEATSINK, TO-3 98978 UP-TO3 100936 1
PAD, Transistor TO-5 08289 501-000-D 100666 2
SCREW, PHMS 6-32 x 3/8 96906 MS51957-28 10063206 6
WASHER, Split-Lock #6 96906 MS35338-136 100712 6
BOARD, PC 52542 067770 067770 1
6-40 M107-8-80



REPLACEABLE PARTS LIST

TITLE OPTION 01, A10, DISPLAY DRIVER PC ASSEMBLY #06773102 Rev B
MFR'S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/Q}
Cl CAPACITOR, Tant 56289 196D226X9010JA1 103495 1
2.2 uF 10%, 10V
C2 CAPACITOR, Tant 56289 150D226X9015B2 100125 1
22 uF 10%, 15V
J1 CONNECTOR, Header 34-pin 30146 929836-01-17 117178 2
J2 Same as J1
R1 RESISTOR, CC 01121 CB2735 101587 1
27k 5%, 1/4W
R2 RESISTOR, CC 01121 CB2245 101610 1
220k 5%, 1/4W
R3 RESISTOR, CC 01121 BB2715 101703 2
270 Q2 5%, 1/8W
R4 Same as R3
RN1 RESISTOR, Network 7 x 270 73138 899-3-R270 117896 7
thru
RN7
Ul INTEGRATED CIRCUIT, TTL MSI 01295 SN74LS42N 103131 1
BCD-DEC Decoder
U2 INTEGRATED CIRCUIT, LIN MSC 18324 NES555V 045208 1
Wide Range Timer
U3 INTEGRATED CIRCUIT, TTL MSI 01295 SN74LS247N 103166 6
thru 4-7 Decade/Divider
U8
U9 INTEGRATED CIRCUIT 52542 067749 067749 1
PROM
Ul10 INTEGRATED CIRCUIT, TTL SSI 01295 SN74LSOON 103130 1
Quad 2-Input NAND Gate
SPACER, Swage 71279 350-7423-11-19 103297 2
BOARD, PC 52542 067731 067731 1
M107-8-80 6-41



REPLACEABLE PARTS LIST

TITLE OPTION 06, HIGH VOLTAGE AMPLIFIER PC ASSEMBLY #06777003 Rev B
MFR’'S MANUFACTURER’S SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER T/

Cl CAPACITOR, Ceramic 91418 TA110 100103 1
.01 uF +80-20%, 100V

C2 CAPACITOR, Tant 56289 196D106X9020TA1 103715 1
10 uF 10%, 20V

C3 CAPACITOR, Tant 56289 196D685X0035KE3 106515 1
6.8 uF 20%, 35V

Cc4 CAPACITOR, Ceramic 56289 BL-S10 100362 1
.01 uF 20%, 2 kV

C5 Not Used

thru

C10

Cl1 CAPACITOR, Ceramic 91418 TYPE B 100076 1
.001 uF 20%, 1 kV

CR1 DIODE, Rectifier 400V 04713 IN5395 100413

CR2 DIODE, Signal 50V 03508 1N4151 100385

CR3 Same as CR2

CR4 Same as CR1

CRS Same as CR2

CR6 Same as CR1

CR7 DIODE, Rectifier 3 kV 04713 MR250-3 100466 2

CR8 Same as CR7

Q1 TRANSISTOR, SINPN 04713 BU205 117915 3

Q2 Same as Q1 )

Q3 Same as Q1

Q4 TRANSISTOR 04713 MJ3042 116608

Q5 TRANSISTOR, SINPN 350V 04713 2N3439 117916 6

thru

Q10

Q11 TRANSISTOR, SIPNP 60V 07293 ON4250-18 102725 1

Q12 TRANSISTOR, SINPN 02735 2N3440 101420 1

R1 RESISTOR, CC 01121 EB4705 101575 1
47 Q 5%, 1/2W

R2 RESISTOR, CC 01121 CB3935 101561 1
39k 5%, 1/4W

R3 RESISTOR, CC 01121 CB1035 101570 2
10k 5%, 1/4W

R4 Same as R3

R5 RESISTOR, CC 01121 CB2225 101562 2
2.2k 5%, 1/4W

6-42 , | M107-10-81




REPLACEABLE PARTS LIST

TITLE OPTION 06, HIGH VOLTAGE AMPLIFIER PC ASSEMBLY #06777003 (Cont'd)
MFR'S | MANUFACTURER’'S | SD STOCK
ITEM| REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T/0}
R6 RESISTOR, CC 01121 CB1535 101552 1
15k 5%, 1/4W
R7 Same as RS
R8 Not Used
R9 Not Used
R10 RESISTOR, CC 01121 CB3325 101559 1
3.3k 5%, 1/4W
R11 RESISTOR, CC 01121 CB1815 10166801 1
180 Q 5%, 1/4W
R12 RESISTOR, CC 01121 EB1805 101863 1
18 5%, 1/2W
R13 RESISTOR, CC 01121 CB4725 101598 2
4.7k 5%, 1/4W
R14 RESISTOR, CC 01121 EB2245 101458 1
220k 5%, 1/2W
R15 RESISTOR, CC 01121 EB4345 101465 2
430k 5%, 1/2W
R16 Same as R15
R17 RESISTOR, CC 01121 EB6835 101462 1
68k 5%, 1/2W
R18 RESISTOR, CC 01121 EB5615 101631 1
560 2 5%, 1/2W
R19 Same as R13
R20 RESISTOR, CC 01121 EB1845 101470 6
thru 180k 5%, 1/2W
R25
VR1 DIODE, Zener 5.1V 03877 IN751A 100378 1
VR2 DIODE, Zener 15V 03877 1N4744A 100422 1
VR3 Not Used
VR4 DIODE, Zener 5.6V 03877 IN752A 100376 1
VRS DIODE, Zener 8.2V 04713 1N959B 100429 1
8
SPACER, Swage . 88245 1530B 3/16 100511 8
HEATSINK, TO-3 98978 UP-TO3 100936 2
HEATSINK, TO-5 13103 1115B 101071 6
PAD, Transistor TO-5 08289 501-000-D 100666 7
SCREW, PHMS 6-32 x 3/8 96906 MS51957-28 10063206 8
WASHER, Split-Lock #6 96906 MS35338-136 100712 8
BOARD, PC 52542 067770 067770 1
M107-10-81 6-43



REPLACEABLE PARTS LIST

TITLE OPTION 07, TEST ASSEMBLY (Local Control) #075145 Rev C
MFR'S | MANUFACTURER'S | SD STOCK
ITEM REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | T/
11 ASSEMBLY, Front Sub-Panel 52542 067860 067860 1
2 ASSEMBLY, Cross Member Front 52542 067887 067887 1
3 ASSEMBLY, Center Brace 52542 067896 067896 1
4 CROSS MEMBER, Rear 52542 067738 067738 1
5 GUSSET, Right 52542 067678 067678 1
6 GUSSET, Left 52542 067677 067677 1
7 ASSEMBLY, Rear Panel 52542 067859 067859 1
8 GUIDE, Card 52542 01234011 01234011 1
9 | Al ASSEMBLY, Jumper Board 52542 067902 067902 1
10| A2 ASSEMBLY, Encoder PC 52542 06775001 06775001 1
11| A3 ASSEMBLY, D/A Control PC 52542 06775501 06775501 1
12 | A6 ASSEMBLY, High Voltage Amp PC 52542 06777001 06777001 1
13 | A4 ASSEMBLY, Mother Board PC 52542 | 06775301 06775301 1
14 | A5 ASSEMBLY, Analog PC 52542 06781701 06781701 1
15 TAPE, 20-pin Cable 30146 922521-20-02-14 117401 1
16 TAPE, 34-pin Cable 6” 30146 922521-34-02-06 117913 2
17 TAPE, 34-pin Cable 15” 30146 922521-34-02-15 117914 1
18 ASSEMBLY, Shield 52542 075251 075251 1
20 | KI-K4 | RELAY, 6-pole 26V 77342 R10-E112-2 101295 4
21 SPRING, Relay 24796 20C251 10242601 4
22 STRIP, Caterpillar 03296 G51H-A 102749 A/R
23 NAMEPLATE 52542 045435 045435 1
24 SHIELD, Resistor 52542 067865 067865 1
25 SHIELD, Amp 52542 067813 067813 1
26 FOAM, Block 52542 075209 075209 1
27 SUPPORT, PC 52542 075208 075208 2
28 BUSHING, Snap 28520 SB-375-4 100781 2
29 KNOB 86797 RB-67-1-DC-M-L 100976 1
30 JUMPER 55210 L-2007-1 102879 10
32 TIE, Cable 06383 SSTIM 100753 A/R
33 | U15,Ul6| INTEGRATED CIRCUIT 04713 MC7805CT 045256 2
Voltage Regulator
39 ADHESIVE 116566 A/R
42 SCREW, PHMS 4-40 x 1/2 96906 MS51957-17 10062608 2
43 SCREW, PHMS 6-32 x 5/16 96906 MS51957-27 10063205 | 29
44 SCREW, PHMS 6-32 x 3/8 96906 MS51957-28 10063206 4
45 SCREW, FHMS 6-32 x 3/8 96906 MS24693-C26 10073106 8
46 SCREW, FHMS 8-32 x 1/4 96906 MS24693-C46 10074304 6
47 SCREW, FHMS 8-32 x 3/8 96906 MS24693-C48 10074306 6
50 WASHER, Flat #6 86928 5710-23-10 100662 14
51 WASHER, Split-Lock #6 96906 MS35338-136 100712 31
53 NUT, Kep #4 78189 511-041800-00 100941 2
54 NUT, Kep #6 78189 511-061800-01 112472 2
6-44 M107-8-80



REPLACEABLE PARTS LIST

TITLE OPTION 07, REAR PANEL ASSEMBLY #075144 Rev A
MFR'S | MANUFACTURER'S | SD STOCK
ITEM| REF COMPONENT DESCRIPTION CODE PART NUMBER NUMBER | /0]
1 PANEL, Rear 52542 | 067732 067732 1
2 | s102 SWITCH, Slide DPDT 82389 | 46206LFE 102340 1
3 | XF101 | POST, Fuse 75915 | 345002 117381 1
4 | F1o01 FUSE, 3-AGSB 1/2-A 71400 | MDL1/2 100589 1
s | zio1 FILTER, Line 05245 | 3EF1 102461 1
6 | TI01 TRANSFORMER 52542 | 067743 067743 1
7 | cio1 CAPACITOR, 2 uF, 2000V 16727 | KMOC2M2 117920 1
8 BRACKET, Mtg. Cap. 16727 By Description 117925 1
9 LUG, Solder #8 78189 | 2104-08-00 102961 1
10 LUG, Solder #4 83330 | 14164 100509 1
11 NUT, Kep 8-32 78189 | 511-081800-00 100940 6
12 NUT, Kep 4-40 78189 | 511-041800-00 100941 2
14 NUT, Hex 8-32 73734 | 70208 100659 1
15 NUT, Hex 4-40 96906 | NAS671C4 100622 1
16 WASHER, Split-Lock #4 96906 | MS35338-135 100711 4
18 | 7101 CONNECTOR, Rear Panel Output 71468 | KPTO0A14-58 117696 1
19 SCREW, PHMS 4-40x 1/4 96906 | MS51957-13 10062604 3
20 SCREW, PHMS 4-40 x 5/16 96906 | MS51957-14 10062605 1
21 SCREW, PHMS 4-40 x 3/8 96906 | MS51957-15 10062606 4
22 SCREW, PHMS 4-40 x 7/16 96906 | MS51957-16 10062607 2
23 SCREW, PHMS 8-32 x 7/16 96906 | MS51957-44 10064207 4
24 SCREW, PHMS 8-32 x 1/2 96906 | MS51957-45 10064208 2
25 SCREW, PHMS 8-32 x 1/4 96906 | MS51957-41 10064204 1
33 PLATE, Cover 52542 | 067540 067540 2
35 | J103 CONNECTOR, Rectangular 14-pin 02660 | 57-40140 101180 1
36 SCREW, PHMS 2-56 x 1/4 96906 | MS51957-3 10062504 4
38 WASHER, Split-Lock #2 96906 | MS35337-77 100661 6
39 NUT, Hex 2-56 96906 | MS35649-224 100636 1

M107-8-80

6-45/(6-46 blank)



7-1.

CHAPTER 7
DRAWINGS

INTRODUCTION

This chapter contains final assembly and schematic drawings for the Model M107 Pre-

cision D.C. Voltage Source.
descriptions located in Chapter 4 of this manual.

Chapter 6 relate to the reference designation callouts on the diagrams.
provides a list by figure number of the drawings, with title, drawing numbers and
manual page number.

TABLE 7-1. LIST OF DRAWINGS

{

The schematic diagrams relate to the detailed circuit
The parts list contained in

Table 7-1

Figure Drawing Page
No Drawing Title No. No.
7-1 M107 Outline Assembly 075253 7-3
7-2 M107 Final Assembly 075129 7-3
7-3 M107 Test Assembly (Sheet 1 of 2) 067861 7-4
7-4 M107 Test Assembly (Sheet 2 of 2) 067861 7-5
7-5 Front Cross Member Assembly 067887 7-6
7-6 Center Brace Assembly 067896 7-7
7-7 Front Panel Assembly 067860 7-8
7-8 Rear Panel Assembly 067659 7-9
7-9 IEEE-488 Interface Cable Assembly 067884 7-10
7-10 Switch Plate Assembly 067886 7-10
7-11 Block Diagram (Standard) 067881 7-11
7-12 Al, IEEE-488 Interface PC Assembly 06769901 7-13
7-13 Al, IEEE-488 Interface Schematic (Sheet 1 of 2)| 7-06769901 7-14
7-14 Al, IEEE-488 Interface Schematic (Sheet 2 of 2)| 7-06769901 7-15
7-15 A2, Encoder PC Assembly 06775001 7-16
7-16 A2, Encoder Schematic 7-06775001 7-17
7-17 A3, D/A Control PC Assembly 06775501 7-18
7-18 A3, D/A Control Schematic 7-06775501 7-19
7-19 A4, Digital Mother Board PC Assembly 06775301 7-20
7-20 A4, Digital Mother Board Schematic 7-06775301 7-21
7-21 A5, Analog PC Assembly 06781701 7-22
7-22 A5, Analog Schematic 7-06781701 7-23
7-23 A6, High Voltage Amp PC Assembly 06777001 7-24
7-24 A6, High Voltage Amp Schematic 7-06777001 7-25
7-25 A7, Digit Select PC Assembly 06771701 7-26
7-26 A7, Digit Select Schematic 7-06771701 7-26
7-27 A8, Voltage Select PC Assembly 06771901 7-27
7-28 A8, Voltage Select Schematic 7-06771901 7-27
7-29 A9, Display PC Assembly 06772601 7-28
7-30 A9, Display Schematic 7-06772601 - 7-29
7-31 Al0, Display Driver PC Assembly 06773101 7-30
7-32 Al10, Display Driver Schematic 7-06773101 7-31

M107-11-81 7-1




TABLE 7-1. LIST OF DRAWINGS (Cont'd)

Figure Drawing Page
No. Drawing Title No. No.
7-33 All, CAL Switching PC Assembly 06785701 7-32
7-34 All, CAL Switching Schematic 7-06785701 7-33
7-35 M107R Rack Mount Assembly 075120 7-34
7-36 M107R Slide Mounting Assembly 075249 7-35
7-37 Option 01, Test Assembly (Sheet 1 of 2) 075134 7-36
7-38 Option 01, Test Assembly (Sheet 2 of 2) 075134 7-37
7-39 Option 01, Front Panel Assembly 075143 7-38
7-40 Option 01, Rear Panel Assembly 075135 7-39
7-41 Option 01, Block Diagram 075141 7-41
7-42 Option 01, Al, Parallel Interface PC Assembly | 06790301 7-42
7-43 Option 01, Al, Parallel Interface Schematic 7-06790301 7-43
7-44 Option 01, A4, Digital Mother Board Schematic | 7-06775302 7-45
7-45 Option 01, Al0, Display Driver PC Assembly 06773102 7-46
7-46 Option 01, AlQ0, Display Driver Schematic 7-06773102 7-47
7-47 Option 06, A6, High Voltage Amp PC Assembly 06777003 7-48
7-48 Option 06, A6, High Voltage Amp Schematic 7-06777003 7-49
7-49 Option 07, Test Assembly (Sheet 1 of 2) 075145 7-50
7-50 Option 07, Test Assembly (Sheet 2 of 2) 075145 7-51
7-51 Option 07, Rear Panel Assembly 075144 7-52
7-52 Option 07, Block Diagram 075163 7-53
7-53 Option 07, Jumper Board Schematic 7-067902 7-54
7-54 Option 07, A4, Mother Board Schematic 7-06775303 7-55

M107-11-81




—

2c.2r

PO
(

i— £.375 s.00C '

L L N

- |

! S.e2c
7.f7 i

; | 1

| ‘ !

| ]

M107-11-81

FIGURE 7-1
M107 OUTLINE
ASSEMBLY #075253 Rev A

REMOVE ADHESIVE BACKING
& LOCATE AS INDICATED

- < e FLaces | © PLACES TOP.
/ T % (9@ S PLACES BOTTOM.
€2 S ;

4 PLACES NEAR SIDE.
4 FLACES FAR SIPE.

HANDLES § MOUNTING SCREWS
MUST BE ASSEMBLED 7C GUSSET
BEFORE MOUNTING TRIM.

FIGURE 7-2
M107 FINAL ASSEMBLY

#075129 Rev ¢,

7-3



7-4

&
F‘j

== S Vi

HI’"‘ |I"

m & ——— &

[

S

FIGURE 7-3
M107 TEST ASSEMBLY
#067861 Rev E (Sheet 1 of 2)

M107-11-81



FIGURE 7-4
M107 TEST ASSEMBLY
#067861 Rev E (Sheet 2 of 2)

7-5

Uis§ uie
MOUNTING

e A S AR

hﬂﬁ‘

S

T~
y——=

+
>
-
7~
-
~

e e ———— p——

[

’-l
N p——

Lo
—
il
!

M107-11-81



J'\nnn{l.w.ﬂ.ru—_...-______

FIGURE 7-5
FRONT CROSS MEMBER ASSEMBLY

#067887 Rev A

M107-11-81

7-6



M107-11-81

FIGURE 7-6
CENTER BRACE ASSEMBLY
#067896 Rev A

7-7



REAR VIEW OF LECORATIVE PANEL~

’
~t APPLY ITEM AS INDICATED
BEFORE mouNTING.

]
L2

-

T
&
r

FIGURE 7-7
FRONT PANEL ASSEMBLY
#067860 Rev D

M107-11-81



M107-11-81

(8Xzixie)

FIGURE 7-8
REAR PANEL ASSEMBLY
#067859 Rev D

7-5



© C)]
ADORESS
r—
2| EEE
2, FEE
——
° ? , O] dmem [ ©
[ S —]
° E_;] . [o4— [0

o]

o3, Q=D

(§; @
Swirck PLaTE
CC/EATRLTON

LG [

v

@@@J
®C

CIOINISIE
®@OOO®®

®
©)

5 (9
S (o
N @!3(3

7-10

SwITCH %}

FIGURE 7-9
IEEE-488 INTERFACE CABLE
ASSEMBLY #067884 Rev B

i —
b,
@)
W
OCmO C
L° S 1)
ormO olilili
IO <4 ||
ocmoO 018 86
Lo 3 1
omo ekl
ozl
e

FIGURE 7-10
SWITCH PLATE ASSEMBLY
#067886 Rev A

M107-11-81



l— REMOTE PROGRAM

J/OE! )

J192) |AZESSORY | A7 Ag ' AE i

ACORESS A ARV VAV VIV AV VIV e DIGIT SELECT VOLTAGE SELECT | DisPLAY |

Es + 3 2 / G G A A A () A G (0 (U () (U, (O AU AU (B @0 AU @) U GO () O [ ] 06771701 oe771901 | ac7726C! l
(2] [2] ’ c / (2] ! (o] / i

.—._o"o
3;0
4
W
i
"
<
3
le
T
!
Bl
3
|
§
|
:
»
b N
-1

0 |
i ZISPLAY DRIVER 1
| 05772101 |
i B . o T
f _____ R 2 3
_____ N
I T- oz l
~APE CABLE TAPE CABLE
i SN I G D7) § o
mw !t t+rrr !yttt rtryrtrrYtrrrY YTt Y~Y~YM— ey —_——_—_,,, Y A_____'A
ccrrer L N 7 NG 7 'F____di_ 'T ,F B _T * o _T T T
' = 6) s 7 7/
pslllC - ColoCCC U wE0 Ul 0CECCEOuE
T
Heun le A4
~TalhE T DIGITAL MOTHER BOARD
230 | s 13 L : : : ™ s 0677530/
" 2 W L ||| -—o——————20 £l £2 E3 £e
e PR ) ol I TT ] 1 HERRE
Y |Frer ;J\C s 12 3 S . RTTTTTTT 2 T_—-““—"“'}\ ———————— -T l i I ,
~ 9 2 7 ? ! [0 N | L USRI B SN ) I —— |
WG |||l == ! L 1 & l_ o
200/ i@_l_ nsv 230w _Lf—o'-4 | HE Al A2 5 A3 7 o Udds e UUU e
= - = i T H o
= nlie IEEF 488 ENCODER Dl covrroL | W | W2 | WS We WS | WG| WT W | WE | e
—— |l T 06769501 06775001 06775501 feoun o— |7 | 7s
)| e - et————— ! b
2| i | |
—— ' 1
T3 e —— &
Sl idetal 7% 10 5 & £ £2 £ e ]
r 3| ——— |
| Ll i
.——?—!-«’l :7 v: |12 AS ;
- 'E o ANALOG
: — /3 0678170/
- "5
l —0—0—0—0- Ra R |
! R S e G .
- N i =
s g HI | HI
e JHHH | "S> e
1 alul A6 ”IO/ ; =2 i G
Rl HV AmP '—“’:3’” T leO4—, o
I ~ Al/ ’ pe = JE
— L 0G7770C1  STANDARD Lt i i ©
- C +—+—1 06777003  OPTION 06 CAL SWITCHING O ) :
t (100mA) 06785701 ’ d1o) l < =
4 ELDE ’ FRONT PANEL
J/o/
ouTPUT
REAR PANEL

FIGURE 7-11
BLOCK DIAGRAM (Standard)
#067881 Rev E

M107-11-81 7-11/(7-12 blank)



M107-11-81

urz

ug

P& ]

U37

9 [_%d

q

2/

us

vz

U39

(@)

8co

[=>]

ur

U/3

[@GX))

(GH)

FIGURE 7-12
A1, IEEE-488 INTERFACE
PC ASSEMBLY #06769901 Rev t

7-13



Ji102

~

&

|
. —3
) " =
| —_Ty
13
A RN3 ion tve o = - \ <
RNI 4 % s $3 s 5 b 5
@2K S g e < < => 12 : uis L m - »graone L 1.. 0]
Tve S — N
i < ¥t strts I e e B o) L:{;_ P E) »r:.lfA G} .:. 2
2 [ H b k
7 o] s| 4] 3 2[L [(as . e Ul P 22 S ;<
" . s of, Gopt rowé 2(un(e—® A THRG G a1 e ooz 2 T >\-c(
Do @ ?‘f Q : +5V S5 3300F ‘3 ’ - ot =
oo 2 @@ . e I ; et o saf— E
U = = =
Do 3 (&3 ~Hiso-pe 2 S ofc > e Lag ks
77 3 - " & ue U2 e
DIO 4 J.&-: ° ‘
:{ o)~ i o ) ) ‘fv
D‘OSO | T l IIO )
o 10 —-
D‘OB@f v |3A 2- Ld B
1) Py MLA:DAV ATN =
U47 We Ule g[8
D07 @) - = = 4 D
ROW \S J N
Dav @7 2 ll>: 8 2 " [_ 1@ (<)
IFC @ L) N L) ‘j\.ﬂi) o
w =N P A
ReN (W 3 20O
o =
! !
[ - -
 Conel ue (i©)
NRFD@ 3%_'!_‘ : Jue
® @ "k
NDAC Ude| 7
pio 8(Vv) il > S [ |7 |0 |9 | |3 :
- ;
£ LYYV VYV YV Y 1 | —e
Tz 2 I« |8 fTe [i2 o [i5s [2 T r :
SRQ (18, asv 1;}028\,9 = 5 T &
° o 2| 3| 5| 7| 4| fo o
9 3 ELY
TYPR
© RNz 1 REN
&2
® oy PON
© 6
o v T on = u28
© %'g % E g %RN4 - : ’
A
ISKTYR |:U\3 2 ‘U“ 4 PR
- < !
e |3 [= |e '
; % .
U44
l 4573 ey '

488 ADDRESS
2 2 5 a

REMOTE Al

FIGURE 7-13
A1, IEEE-488 INTERFACE SCHEMATIC
#7-06769901 Rev B (Sheet 1 of 2)

(3) DEncTes conncTion
TO BNEET 2

M107-11-81



STROBE
2 +5v
¥ 1 i
3.3@-4&[ 3| E BEREEES BECREE! EECEBES BEERIE]
e e L R P3RR R "R RAR A RRRe R . ame R "RERR
ui7 uig e u20 Uzt uzz
S, &1@33 "E0,3, 43 Qe P61 Q7 Gaa PEQ Q3G FEG Gy XS %2 T
e ] 2f s|] ICEERECH e slef 1] w[ ] 2] 5] ICEERECH o [4]s[d
L
REN
BEEERE BEEERE BREERE o[ 4] 25| o] o BEEERE BEEEEE
Yo Xy Xo¥3 YoX. X2 X3 XoXi XoXg XoXiXy %3 e X R1¥3 Re XoXg%z
8] of 8] e = U34 u3s use u37 U3e 1 Lae
2 * of3 e ® oo B * ofd Bl ® o o2 22236V oY) [ZZZi73%Y % Y, 2, 2, 73%% Vo ¥ 22,2, Z3%Y, ¥ 22,2 vvw,l L TR
" 12 7 3) 2273 Y Y3 12, a6 Y0 Yo V3 LoZ. 2273\ 2 27 7,20V o
awee L u. us || us Joue S Y% W 1:3'1 [ uf=]a 7 <[ 3]+ [ ule]l 753-1 SEEEKEEB! lclIlZl3753ll |:||!7134753~1
@_ < o= I—- R ¢ ® © R
= - [=) g
@m.. ]
Jo
== DL or_PON
513[0r2|4f 1
R BB PR PE
uz3
Xo % ¥ X3
o}
@ REM
DETAIL NO. TvPE +=v [ sne pETALNa]  Tvee +5 | enD of 2] 2w
Ui MCiaSIe e € uz7 MCIADHB 14 7 W
vz MZlal28s -3 e uze SIA 32 14 7 '
u3 MCI4OT3E - b U9 Sie. U271 14 7
U4 MCMOIRR (23 7 u3c MCI4CTTB “ 7
Ut S/A ua 4 7 us 74508 o 7
UG MCWOTIE | € | 7 Usz | Mcecass | | e i
07 S/a UG a | 7 us3 smusz | 1 | B 2| 4 ¢ 't__b" ‘] 2] 4] & '\7__L]“9 o248 1 d N i e
e e T T e Twesee (R IEE BI0R OBEED MMDE DEED UUEDE NHEE BEBE
Ue SIA Us . | 7 ’ES YA uza |16 | & 0% BCD Io* BCD 103 8D 102 BCD 1t BCD e e Licar acnd “';SQL'TC’:;"':""‘;TzB'E‘f
Uo S/A UZ PYE U3e s/A U4 | 6 | & -
un MC14023E | 14 | 7 u3? sA UM |16 | &
Uiz l SA Le 4 7 vas S/IA U3ae [1-% 8
uls MCKo82 - 7 u3e SIA U4 1@ 8
Uta sauUz. | | e U4c s/A U3 |16 | 8
uls S/IA UL 16 8 ua! S/A U4 4 7 +5v
UG S/A Uz 3 2 Uez SIA U206 | 16 | & @ g] @ 2
U7 S/IA Ul e | e Usz siA U3 ! 8
uvie S/A Ut e e Uad S/IA U227 4 7 o &2z cak catcr l L cn E:
uie SIA UL e | e Ua-s Mci40818 | \4 | 7 o5uf | .0suf | .osuf | oSuF | .osuF | .oSuf 30uF
v2o | S/a Ui e a Uae  |SNT754E3 8 4
U2t ! SIA U 3 e ua7 741514 > R4 é é d] E] =
vz i S/IA Ul 3 =) uag SIA UaT 14 7
vz | sS/A U e | e
Uze | SmuUz 1@ |7
U2s | S/Aua | 1a | T
U2e | MCI4S28B | 1e 8

FIGURE 7-14
A1, TEEE-488 INTERFACE SCHEMATIC
#7-06769901 Rev B (Sheet 2 of 2)

M107-11-81



u7

us

1]

uo

ui7

uz

ulo

U3

un

uw

uig

uio

us

Ui

RN

Uk

U4

Uis

Ule

RN2

uz20

RN3

a2l

FIGURE 7-15
A2, ENCODER PC ASSEMBLY
#06775001 Rev B

M107-11-81



M107-11-81

LOCAL BCC

REMOTE | 7 - &

e B8O EH%

RANGE

POLARITY

()
S
lo‘ :‘3
Ble - |2
el U3 2
< SlE
"C Mo
CRE] sle
(=)
4
,oom}'Rnx
+5V > + A5V
e 0 : [ (I T O — 12
c < c Joa @& oc oo cv| A4 ale
S Pfon 2 x| +5v
Ule Ule Ul e—— Uiz ulo
B
R < R < R s e L? <
. R RGP =
ey 7 2 T 1 T =T 73
" 4 " -
U1 874] ¢
R r] 2 B¢ o] e 45V

RNC

= @

AHEIEIEIEE]

¢la [ SA_ Y c
Us Is Uo
8 5
49 7 R O
I .L_t_i]
L
1 9 s o2
" c Ue I3 \2
[
L 2 0
+sv
Rl F1 1 B Bl BT o |1 le [
oG @ @ @ la
B Ul4 -
. d Del=
] ©o O Dz D3 Da Ds
“ 10 D @ @ @ © W 3 ) T B -
U% 1OV 100V 1009V STANDBY <+ 5
<

[+]
S
o

DI6IT  SELECT

3

Y

15

B

SEQUENTIAL

b}
z

||}——

]

@
@

ERCECES
S]]
T
2 3 .
i V) @ 1c” STROBE
LJ -
. ug I sTrRosE
8 A\ S
L VE 10° sTRoBE
t s .
JUE c*sTROBE
1z "
= Ug (8] o' sTRoEe
i a
U2 2 sTaceE
TLEAR

I

o v "z et tove o CLEAS
TO DISPLAY VOLTAGE SELECT
Power ConneCTIONS Power CONNECTIONS
TYPE +5v GND TYPE 45V GND

(VR MC 408 “ 4 (VAL S/A UL - g
vz SIA Ul - T uvie MC 14044 © e
u3s MC 14028 13 8 uir SIN UL “ -
ua MC 14049 ' 8 ]1-Y MC 4001 - 7
us MC 14528 " 7 U9 SIN U e 8
ue MC 14013 4 7 uz20 SIA UL 23 T
(i) MC 1443 9 8 RN | IB3X ORI - 4
ve MC 40T - 7 RN?2 | S/A RNI — 4
U9 s/ia UB 14 7 RN3| S/ARNL 14 —
uo MC 4528 I3 8
un S/A UG “ 7
Uiz s/A U8 14 7
Uz MCSI6 e [
Uia MCia532 e 8

FIGURE 7-16
A2, ENCODER SCHEMATIC
#7-06775001 Rev B



7-18

U9

ver

vio

uzz

Y/

o F
g A\ A\ J \ J
177 Uz U3 U4 us U6
R,
/
d
A\
© .ZE 2
un ur ‘é’ <
H o -
¢ ver| =
U U4 uls Ule urz
Awa A \ s J ay fay
+
u23 v24 ues vad e
9 10 1"

uz

Cun)

us

ue

U9

3|1
R
1 5
= |8 g

veo

L]
(I

FIGURE 7-17

A3, D/A CONTROL PC ASSEMBLY

#06775501 Rev C

M107-11-81



[
é R4 c: R2
. - 8w
p 2.2k 22pF 2 © MSD  STAR”
r‘ 3 4 W ® “ 15 4 "3 b a
(i7) B [ s START cre
(:E [] 9 - =B af—30o als ] QSLSD we 280c K
10 = ] U6 [o Ul U5 us Ue - RI8
MSD — 70.
= : 2 “da g A ~c c 2 s qff © Vb o=
! LR QR QAR CLR © mso
3 B 0 U7
MaD __T i 1 T B
< =lo )
R @ MsC
3 o |~ wEETE T it
us +5v -
-
10
MsC La Io T
s
B s
—4c als 2y al2 CR3 1&
HP280O
U4 U4
3] o] o w 3e e LS §7zz;.n
c w2 » CLR LR al L] AAA ®
s T = ] 9
= 4\ 2 T T
10 5| U2? ¢ vsv
[V 2110 W
1 z —_— — —_— f—
' £ wi K2 " w3
R3 rR22
2.2« LSD 10K 4 @ m
" L TST stor 1
[T ; T ]
12 3 I <
66 ac =2 EJ - avon s Re ae
E n o . oo
o el uzs [ oo cp : e L B
ot 2 S 3 & . Ull e
l o 2 v U U4
\ “nEp  Ey 2
7 1
| [ +5V -L____T__)
3] 4| 0] W s, 3 2 \ L s
- g 3 (F) RANGE &
87 = 2 Ll PR % @2 ve| [uz W £ |
) 12 . \ J — Ao H
' 4 |H S P4 S| 1a of |z w3f [ i
10 z [F: ues e o, Y10 2 ° &l . :
& ——q =} ° \ 3 () RANGE &
Lsc ' ' 2 “l adl U3 > - .
1™E Ev 2 a TO DISPLAY
l-, © 8 & < m dl |
S 5%‘ © Pt A |
3] 4 o u 15 ' B s |
p—a +5V
& £ 2 ~oc Re 24
c 8 e 2 \ Zyur — (@ FoL B
10° 4 = < <Rpl4 a )
5| Uzl © = ¢ U
Lse 2 - - Qe . % o
"
! Oa £p  ErSY U3 1€ o 2k g - P v
T To \ g —C) STAND 3Y
S7SKHz  DISUAY  NMODULATION G:v(] € L__L_ Ut = U2 a < 2
® 2 [ S ] 3 -5y - e
N esv +5V
3 - 3] ot 2305
t_____z - /3y CURRENT
. . . . R = ”2 ———R) CURRENT
! 22K LiMIT
, ¥4 22
+5V ﬁ c (<] cs [ co |.cro cn ‘ 1
: .0suF o 0suf =2 osuf = osuf = .08 o= 220F = o5 uF . ¢ 1., Ry Rs I" t-.
l he ° 68K " AEY ¥t -
=da 2.3MHz  |INGISI| INGISE = arw
pb U‘ ‘)—‘—4;7\ CURRENT
DIGITAL WER CONNECTIONS Fower CoNNEZTIONS I ! = = LT
DWITAL GND TYPE +5Vv GND TYPE +5V 6ND Tc" e CLR I.-uF aTw
N ~ [ c .
Ul [sN7alsizan e e ui4 | MC1413P © & I.. = awr,Ez PO ‘_95
Uz [SN74LSOBN - 7 UIE | MCI4049BCP ! e =
U3 BNTALSTAN 7 Ule |MC14042BCP e 8
ua /A U3 4 7 V1T {MCI4077B - 7 Nove?
us S/A U3 ] T vig |MCci4012CP | 14 7 1) ALL RESISTOR VALUES IN OHMS, Vew, 5%,
Ue S/a U3 “ 7 U9 |MCI4528BCP | B
uT s/Aa U3 ) 7 UZO [SN740eN “ 7
U8  [SNT4 LSION 4 7 U2l [SNT4LS 2N - 7
U9 [SH74LSIGON e e vz s/au2! . 7
uvio S/A U9 3 e ues S/A U2! 14 7
un S/AUS 16 8 v2e s/Au2! - 7
Uiz |SN74LSO4N 1= 7 ues S/AU2! i 7 FI GURE 7'] 8
Uiz |MCi4ciiICcP “ 7 u26 S/AU21 4 7
527 | we woaoecr | 16 | 6 A3, D/A CONTROL SCHEMATIC

#7-06775501 Rev C

M107-11-81



(=] e =] e

XA3-2 ] xXA3-/ T

J4 Jg/
cr/ D sz
XU/l

D t.f - -

cs L XA2-2 l XA2-/ l

] =[] Fe ] e ||
v3 B vz | b ve | B v | B oo | vz

P o | b wz | b s ] b oo ]

cE + —

XA/-2 [ XA/=/

FIGURE 7-19
A4, DIGITAL MOTHER BOARD

PC ASSEMBLY #06775301 Rev C,

7-20 M107-11-81



+3v (LoGIL

+5V (LOGKC)

~ CURRENT LIMIT
& Fus coTRT

334 23
~ o
REMOTE ---;u pio J4
e g EPE
O
A
bal—
= [ -
= Pa o @ "
3 & TR et
(2) @ 2 —kr(\; ;ANGE ¢ Z s : ‘2 VOLTAGE
o m@ =g L, oLy B G EY N« '
B T o= 5 |
mD‘ 4 @“" - LOCAL T—8. — A :
e 2 m 7eco c ——o 8 !
el T e i %) §
i, {5 — 2 [ER |
Al & Lo 3 e, :
IEEE4ss BT T ecwer £ v.___;i_,.zyo ;
L] 10C = > s q - — :
'NTERFAEE @Ep c* 1';"‘r.:\ STROBE ; s—-v '—):; 2 i
PCASSY = = e
0L72990! r]@ G 3
& "‘ AZ | SR = z7
8 < pa .
. e Z ~ ENCODER - e !
c® BeD L 7 T A PC ASSY s i
n " -
2 06775001 W
Frrey) 107(W S0
il [
94@-I ‘zzd D ::
z 2 T SO N
1©* B0 @E € ©% T o (Dom seuct
LB+ = @ IO‘X oy
Sl =y
T s ; "
£) 52
= 6| = e
_J 3|9l 51" |ju |n ﬁ T iy
10° Bcc Eg] 3 $ s
N T [Y YVYY "Y] s£Q
é 2| 0| 4| & s |:z ®
-
7
£ ~
) o K—2 ol 5| 3B |u|o =%
< BCD pa—= 7
= [VVVV' T =3
] 5] al 2 @ 12 ho =
s & G - us —g
@ £ 73 INRE] g
4 —
“B “ VA —hdl _
\v4 VY V -
ADDRESS 3G9 @ =
~ I al o 2| |z [54m &
2 3 o —5
' G O ﬂv
[ Z {j”—
a E AZ
z :3 ‘7’ ; T 1 H pC ASSY
] 1 0677550!)
5 u 8 10 1€
Ti01 _ _ 2 OroraY
V[ - s
— = Pt ’ N ouT 45V (DISPLAY ==l = ===l =4 =|==]=]- -]~ __’:l'_____
i & . c?- com V~ N L Vi VN VY v VN fv 22 ‘Llw y
{ o 30505 Ccas cs &5 3229 27,3020 e|;s-4 810 @ 7 5 4 /34/24/222615K ) 2 l: Ll 9C
| g [ O uuFT T owf o° e 7 e 0 33 @ 2 45v & >
: : ! A DiGIT bl and il et Dt Dl Bt Dt O Dt
1S . g'o';gs 3 DISPLAY DRINVER one | DMK 13RI R W N TBWODB U LWOE 1T
! - P 1™ T ’ 5V L6 TYPE | +5 |enD TYPE | 45V [GND +OV REMoTL 1e®
A o ‘3’]. lca _|:c4 Ul | MCTe 7 | = us| mciacaz [1e | 8 e JZ |
——o0—4¢ scooufF wf wf 2R a9,F uz | S/A U 4 [ — ulo| A us e | 8 lD\SP\J\Y DRIVER
T T I lov Us| s |4 | — ull| s ue e | 8
= ua| s;au L4 | — u2[ s/ause e | 8
U5 | MC KWOS50 ' 8 uis S/IA U9 e 8
ue| S/IAUS ' 8 via SIA US 16 8
u7| S/A us [ 8 UIs| MC7805 — | =
us S/A US ' 8 Ule| ™mC 7805 —_ _

M107-11-81

FIGURE 7-20

A4, DIGITAL MOTHER BOARD
SCHEMATIC #7-06775301 Rev C

7-21



7-22

O O o O
=] X
— —
CcRrR28 CRrR2¢
Al
@ Reo
K4
O SN
r__] K2
|
® .
| ! '
' | RS0
®! xz
il
K1
RSS9
O &= 6
-+
&
s
.

FIGURE 7-21

A5, ANALOG PC ASSEMBLY

#06781701 Rev H

M107-11-81



tiav

hé
rR9 R/
2.2x oM 2 2”3
S 1825 1% 22K
\
s ' All CAL SWITCHING FC ASSY
cR5 Y oe78570/
£e 16
3 ce I3 u{
'3
ir Q2 SCALE
p/v?w' Ru  QRE~(Pmz75 ’:C;
crrdp S8 ax
£ lem
.QoIuF
-15v,
® kv
RN/ 3 2 {ZERO
co67727
- ~
445.7K #49.7K 82K 2806 |400.40| 6734k ! * . B
PAAAASAAN S AN = :
"3 =
29K
{ R38 R39 ReO R¥ T
R29 | R 324K 324K 320K 324K 2z
226 |2.2¢ e 1% 1%
> cr22
R2s QR26 237769
CR12|22K BK
-
= Q8
Te £z C?F 2r=C* 2N409/ R27 Y AMP aum./fv X s
“ 1
o3 . € : cre3 oo
oz R32 mezcfl T
£ C‘VD’; 8K 8K Acx+r Lceo 20 P *— 2KV
. K .001uF 20 | v LO SENSE~ ?7
' y VR ] ; our
" +————co
o ks R20 H wR2 50 | & i ;‘ P:A::ZNT
. IN- 7 ” 3 : -
Y o c28 S /on ‘ e e? : R Y ]iczﬁ T OHIOUT | oNNECTION
-5V, = R : 7 i
< oomF L2 4 O +1/ SENSE Ae
cak |11 HV AMF
T’ 29 : A ASSY
HIFT =777 3‘"" o6~ 7007
| : - e | o st ~
| Ié ' : < T 1500v M, 1w —_— 0 2 oUT ;E::_‘-'
! nve . o
iy v ¢ res : Lyr | COvNECTION
e o MW © My i
, : ) : — o s sENsE
i : : RG9S v
i MW .24y @—
|} sy
R ol A
: ' s A P -001 uF” TC CURREN™ L1MIT CONTROL
it | e ¢I c31 S rse k;’ ~ rz
| - =350 FO 4TK : /-\ ©
N 1 T 250v O 2w raev . N, 150 B
! IC b !
] | 1 INSE/7 : —
| | '
| 1= . ml'. c it ce/ f el
! 1 X wf [~ uf el : W 11200 = : '
| i H | &M VOLTAGE COMMON - &
: : ! 7140 V —= K
: —Zov— T IZov—= 20
| *.____.;.,' 1724 Ul TV E 22
Iy s c36 *, cer Lt ces
A s -TL,“*}’ s = A *““7 ;o NOTE: (EXCEPT AS NOTED) 1 o
NN i . o oy TYPE ) RESISTORS — — — — - saW, 5% 220uF
ks or | mcoeiroach RGS AND RGG ARE A MATCHED PWR (2E7722) 3sv
1] ; 2) CANCITORS - — = —— LESS THAN / /N ¥
1IN RAF>T vz |mcTezecT 3) ALL DYQDES - — ——— IN#45/.
i Qs +% wr U3 | McrsuscT i W DENOTES ANALOG  GND-
: 1 2ns193 ve | sa Ut SIGNAL ‘
'
Hi L U3 ourt—dg Us | MCTSLI5ACP v
i R7O
I : ran < us ve seK
} i ' out '—‘L vr | earzo2m
1
| c37 VRS Jc ciod cezl & Lces
: ' - T ruf N invegs  Triuf 1wF T 1uF T T TFoarar | YB | £M2954 FIGURE 7 22
[ SV 4 zov | us | 7c =
v w0 | A /43

A5, ANALOG SCHEMATIC
#7-06781701 Rev E

M107-11-81 7-23



R/8

I @

E
~N
]
0
8
L]
~ D

RIZ

Y | IZI} —
R
2

RIS Rl

FIGURE 7-23
A6, HIGH VOLTAGE AMP
PC ASSEMBLY #06777001 Rev F

7-24 M107-11-81



@/ (4

8205 8U205

/N
Q5 Qe Q7 ﬁ Q8 Q9 )]

2N3439  2N3439 2N343 2M3439  2N3435  2N3439

RIG
47K, 4w
R2C R2/ R22 23 R24 PZ:L
180K, 1oW] /80K 12w | /160K l2w | /180K, 12w | 180K, faw | 180K, e w
#1500V | ————ANM—ANA—6AN y »-«M-«—/vw—d—-ﬁg
VRE
INS598
cr4
5 INE3E
+ 140V \E ] CR7
e ma250-3 $—P—9
RI7
68 K12V, Ri6
430K, lbw
Ri4
220K, f2w p @3

> 25
(0. 24724

Ty 24v

v

/2

S

2AA% BU205
CR5
IN#/5/
Q2
2N 3440
RI/
e Y
INZSIA
c4
R9
350K, /e w O\/’l’f’ 2nv
AN
c2
’01‘1‘5 zov < ;
+1X CR9
In5395 S RIO "4

1/

23K, fow 10K, tlaw R2
15 & —)I————4L-——k o/ 39K, 4w
INPUT cRre VRZ cR3 B F
IN#15] IN4 7447 INGISI 22K AAA
vaw\_ gl )1 R3 caz
4250 y/
2. 10K, 1o W i
/
Rs 2.2K, faw Ry
10K, e w won
22 < q c3 hBw
-5V vR3 + 6.8, F /%395
INT7SIA 35v
20 ¢
-20v

M107-11-81

> &
H.V. COMMON

> 17
ANALOG GNC

FIGURE 7-24
A6, HIGH VOLTAGE AMP
SCHEMATIC #7-06777001 Rev D

7-25



3V
I 2 © 3 4 11l 1217 181511314 9 107 8

2 _/r\_/\_/\_ _/\_ __/\_ _/\_ _A\__ _4\__ _P_- 33
. . . i R R
8 S7 So |} S5)| 54| s3 , Si

0

——

@)

!r \ & {r A 2 1r: - @

FIGURE 7-25 ool s . .
s 5 sa|l |s3| |s2| s
A7, DIGIT SELECT PC ASSEMBLY &k S0 N S G G AP S B L LB
#06771701 Rev A T T T T T T T

i
SEQ CLR (106> 107 103 10?2 o' ‘o°l
I——D\GlT SELECT

FIGURE 7-26
A7, DIGIT SELECT SCHEMATIC
#7-06771701 Rev A

7-26 M107-11-81



+5V GND
2 4+ 17 18 3 I 516 5 6 7 812 14 9 10 Il 12 25 206 27 28 19 20 21 22 2> 24 33 3 29 30 32 34
A N 2~ N 2N\ AN N N N N N AN N AN AN
e O O B M, B
m [ & o—! ¢ ,
1o L ¥ ¢ L 4 ¢ 4 - -9 -9 2 9- 2 ¢ #
DSl DS2 L
r e I 4 -
CUR. sTRY
si| |s2| s3] |eal |lss| lse| |s7| lse| |ss| Iso ‘L'M'T sul |se| |swe sial las| s e
S 68885858 58 &8 588548 858 &8 O & &6 60 O 6 6 o6 4 & b
! RS T T T | \17 I 1 \F" —lq" T Il R | IR T
ot 3" 4" s ‘e 7 ‘8" Yo" o * ¢ - IV IOV 100V 1000V
l_ sSTBY —l L _J
VOLTAGE ENTRY STAND BY-LIMIT PO LARITY VOLTAGE RANGE
ANNUNCIATORS
DS|
=1 SZ S$3
@ 123
sal 4 |l 5|l 6 ||se s2 O
DS2
STINT7T I8 It 9 |se
0 !l FIGURE 7-27
A8, VOLTAGE SELECT PC ASSEMBLY
SI10
@ -2 — Si14 SIS Sle SI17 #06771901 Rev A-I FIGURE 7-28
|J\._.._..-___J\J
o A8, VOLTAGE SELECT SCHEMATIC

M107-11-81

#06771901 Rev A

7-27



7-28

D258 pS9 Dsio psil psn os 14
(Z) <:> <:) @j} <:> (:) o5/ DS2 083 Ds# 0S5 056 oSy
D5/3
©
T T T T T T T T T T T T T T T T T T T T T e e e e e e —————— “:
r'“" J/ L-_ﬂ'
L N

FIGURE 7-29

A9, DISPLAY PC ASSEMBLY

#06772601 Rev B

M107-11-81



M107-11-81

\
P M I21113 M R T U 1B 161517

[r—————-———————

+5V
DS e DS 8 D5 10 DS il DS 12 DS 13 DS \4
PN RIS DU PR, NI R R
A 2 B 4 3 D
5 4 3 1 SEQ. REM
L ADDRESS BITS !

_/ /L- \_ C—/\—_ . \‘—/\—/L-/ -/L_ \——\__\— \— \—/\—/\ A AN

S VvV 2021 Y W 19 X

NA A k/\ N

22 A B 25¢3 2 24

Uf\'

4
7

—|=——-——] J1

+5 Vv

FIGURE 7-30
A9, DISPLAY SCHEMATIC
#7-06772601 Rev A

7-2



u3

7-30

J ] O D 2 Jz ]
c2 + &
C U4 q us C ue d U7 us UsS q
uo (
RN2 C RN3 RN4 (] RNS C RNG (] RNT C
RN | RNS
FIGURE 7-31

A10, DISPLAY DRIVER PC ASSEMBLY

#06773101 Rev C

M107-11-81



DEC. POINT

DRIVE
+
oV 000V - ADDRESS
Y 1oov
SHMS‘:\E .o _ o _ 1" 2 3 a s'REMSEQ
F J KIo 8 7 9 LN P W 12 11 13 T u 18 16 15 17 V 2021 Y W 18 X 22 A B 25 23 Z 24 C 2728 F D 26 4 C B2 A D =
Y YVY VY Y Y W’ \’ W( \r Y VY Y W/ \/ v 4 w( Y VY \/ A\ Y VY VY \( Y VY Y Y \/ W/ Y N v 1! \t W/ v Y Y Y VY V
RN| 7 RN| © RN| 5 RN| 4 RN| 3 RNj 2 RN| | RN &
4 |9 I o 12 13 ‘W Il |19 |8 12 |12 ho 4 IR |o |8 |u |@ |9 v 12 o |8 |1t |3 |9 W lio |8 |8 |13 iz In 219 |8 [0 |1’ |« |u W |2 |8 |9 Ju |13 | 8 Jit 13 jo |4 Iu |o
W o] 4] 5| 3| 2 1| 4] e 7 3] 2| 5 |3 s| 7 4] 2] e [ 3] 5| 1| 4] ¢ & 8| 7| e 2| 3] 4 2] | 7| s| 3] [ 4 i 3] 7| ¢ 4| 2| 5 71 3| 2| 5| 1| 4] ©
] 2 3 |4 |8 |e 13 12 |0 jwo |9 s |« B3 12 |w o |9 B | 3 12 | jw |9 5 | 3 12 |n o o s |wu B3 |2 ju ho |9 s | 13 2 v jw |e S |
Y Yy Y3 Y4 Ye Y% a bcd e f g e £ Cad e f g 2 b6 C o e fF g a bca ef g @ b6 cag e fg @ s C d & f
007749 S N74LS247N S N74LS247N SN74LS 247N SNT4LS247N SN74LS247N SNT4LS247N
uos ug ur Ub Uub U4 U3
ABCDE—C—S BI A B ¢ D BI A B C D Bl A B C D BI A B cC¢ D Bl A B <C D BI A B C O
o] ul 2] = |m;|5 4T 2 ] 2] e a7 7] | 2 e ay 7| 1| 2| e a7 1] ] 2] e 4T 71 ] 2] e 49 71 ] 2] e
— 45V
¢ [ S
Jz |- - 44 - = <]—- I - -] — - -._-_____-El-_--.._____..__.-_ -____.-___._._____.__.____J_l_-___________._ ]
¥ +5v N \L A 4 \L . N
232420 29201718 3334 3132252627282930, | 2 34 — (5 6 1 ol7|3s iz
RNG6 RNG POL POL %5—/ S8KHz = REMOTE
A B A B 10 ! S ¢ ¢ L 108 4 &
QL___I__-_I__ e __ JRND N N RN O NN (O U Y NN DU FENN RN DU S NN N DR A B |- — ey 2 24 s
1] 3 9 [ 2N N \L N3 NN N \L b 4 J [N N \L N N2 L, N N ¥'—\—J
POINTER|  POINTER] POINTER 151626 23242122 ¢ 7 5 3 4 4 8 IC 1z,33 34 30 718132028 25 3\ RV 7, 2 ADDRESS
A e c \_W—__j \;W———/ %r——/ H___/ ¥'—‘v—‘/
2 o
jo* o 1 o' 10
1"
ol 7| o 5| 4| 3 A5V
\3C7 e 5 4 > 2 \ v 8 [§]le}
SN74LS4?2 N NEB 5SSV c
S Ul o g (i 2ot Y2 15 : 1
\5 RESET|4 T 224F 8 o '
A GND TWRTRIE  DIS 4 7
\ c| 2 7 -
| NoTE:
TYPE +5Sv | GND '—C)u ) RNL To RNB ARE 770N X7
l ! R2 R
Ul | Sn74Lsazn] 16 | 8 = zé‘jf 220k 27k
Uz | NESS5V 8 [ ° V4w, 5%  1/4W, 5%
U3 |SN74LS247N| 16 8
ua s/A U3 16 8
us S/A U3 16 8
Ue S/A U3 e 8
u7 S/A U3 16 8
usg S/A U3 16 8
us 067749 le 8 F 2
UI0 | SN74LSoON | 14 7 IGURE 7-3

A10, DISPLAY DRIVER SCHEMATIC
#7-06773101 Rev C

M107-11-81 7-31



S8 S2 =

I

S7 S|
=N =N

FIGURE 7-33
A11, CAL SWITCHING PC ASSEMBLY
#06785701 Rev C

7-32 M107-11-81



- e anm s wm  cm o o - l',

O

7
-’
L

R8
196K
-

NoTE:

1) ALL RESISTORS .I12W, 1% .

FIGURE 7-34
A11, CAL SWITCHING SCHEMATIC

#7-06785701 Rev A

33

7

M107-11-81



T ——
—~

=t
1

q
25
155 :ﬂo_ 8.000 0)
I L i i
I 9.545 ‘ 8.375 -l
4
i 9.7
| L -
5.220 T_
2250
- S
1964
i

FIGURE 7-35
M107R RACK MOUNT ASSEMBLY
#075120 Rev B

M107-11-81

7-34



M107-11-81

16.99

1

1

i\
W

2 PLACES

i §) & PLACES
I—

q p
»/®
q
| 25
! _
—
i 'f—!" -
3 140 .
s 4 L L
- :
L— 9.545 | 8.375 J
¢
.70 ]
i
| H
=- a o
5.220 |
2.
(@)

J\@z PLACES

FIGURE 7-36

MI107R SLIDE MOUNTING ASSEMBLY

#075249 Rev A

7-35



ODE—C Ly

e e = ———— - —
’,

.ﬁg&D

Ll
l

_——

S G e L

N
R e e S
s AN o " N (Y

&

.
X

SEE NeTE 2 .

i !

@\ !

1

X

FIGURE 7-37
OPTION 01, TEST ASSEMBLY

#075134 Rev E (Sheet 1 of 2)

M107-11-81

7-36



Uis S uie
MOUNTING

i o, W

g @ T - =
} w AR R M
““ | " —oLT Hnllklnvllqﬂ.llnla“'wlrlu, E- wh%,,nux.vu e e LM LY SR ETTET
m,", I X
- —— ) _;Ul -

303

Jlo2a

DI LU0 Y 4

| S N iy

o — ———— —aBe =~ — . — e —— = — = — — -

!

FIGURE 7-38
OPTION 01, TEST ASSEMBLY

#075134 Rev E (Sheet 2 of 2)

7-37

M107-11-81



@

fn Ve Yo Y Yo Ve P =N N N0
' ﬁrﬂéqF4?=ﬁ=#hiﬁ=ﬁ=¢__1rﬂTHlH[ELJ
1 X
T'Trrm-rm-rm-m’ N rrm-rrrrman’T !

5 ! \\
| \
i \
/ i \
/' ‘

C 7
/>—’ ;)
| J 9
q J?ﬁ:74” 5 /::<j //
001 09 Py ;
1 Y @) ©) °: /]
BT——0L .0 o & = 93‘&
o= - S - — R ;
P ) €] S ‘ - i
. (7] Tk
O 5 © gg P%F}F
6 —— o ‘
GO0

I
- B
) PEAR VIEW OF DECORATIVE PANEL-
Az 4PPLy 1TEM (B) AS INDICATED
/e BEFORE MOUNTING.
4
1<

S|
"N

@

[
O
0]“:
0
(o]
(o]
O
O
(0]

W]
A

FIGURE 7-39
OPTION 01, FRONT PANEL ASSEMBLY
#075143 Rev A

7-38 M107-11-81



sice

e e e e

O
I
&

=

=19

PO

FIGURE 7-40
OPTION 01, REAR PANEL ASSEMBLY

#075135 Rev B

7-39/(7-40 blank)

M107-11-81



REMOTE  PROGRAM ;

[wrez, <
27 1 3 #9es 4 & ~ ol
L od
26203 # VEYBERLES 74837 .3:32{/ 430X 00U IO 2 EI5KBLO2ITE VOLTAGE SELECT DISPLAY ZEIT S5
CY-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1- Y- Y-1-T-1-{- - V=] =)= - - - V= |= /- T-{— [ (=T-1— 06771901 677260/ verrror |
\L.____tL‘_._.___l l_ _____________ a9 VI . I}
\'Z
__________ 3 —_——————— Y
Je TAPE CABLE ?‘ _________ 'T T J3 TATE CABLE |
i A0 H :
i DISPLAY DRIVER ) !
| 0773102 | !
| J/ ! Je
| v 3 & 3
! Y Yo |
. J ; . 5 | rars aau_J\ |rAFr CABLE :
or t S S it k=====A K-T—TT7———— ES
067745 p | L\ P = T -T ----- ol T_ _________ 'T
m 0 2900000500000 0VWO00 5WED @D~ 33y L S S il . <3

A4

DIGITAL MOTHER BOARD .
0677530 i

|.3A-1/5v ! S~
v S101 .

r~==-<=-1
i':“‘f l J
N u &

—~ ~ 510, ]
2 —
tq STo Lrh : z £ £ £3  £e !
| UNE é|5 TS5 ¢ [ T
£y irren| P ! [
\Lc 112 3 S 71 1| E Y bbbttt S <ttt D
N 932 TO 1 |
= ) T ¥
1 2o i E“‘—"I 115v 2300 :

06790501 O677500/ 0677550/

[ O—

-
]
]
l
: T |
|lr=. S N S N N, ' |
Bz i i1t 1t 5 .
= R e Al A2 s A3
= e PRARALLEL INTERFACE ENCODER Dl convtRoL | W | W2 | W3 | We | WS | We | WT | WE LW
il o
' :
1
| |
1
‘ ,
]
1
]
-

| DI % /C S ,
I P
) 1 ; N !
l . 2 AS ;
} —
- : o5
| 0678170/
--= .15
| R o L 7[ I_ Fa 7
: 2 el¥f 20 0 XTTTTTTTTTTA ATTTTTTT
-—— ~N —_—f—
T M § § sl® T-__-_-———" -2 SENSE ourpur
LT EI81% 5 HI(Cro— n_I@HI
| [} 8 “ \’,‘ Q AL J7 4 —n J6 i
HeN =] RO C”I/ZEF 21c23
' — v Aae | Rl e LO@I; ﬂL-I'@Lo
e = ¢ ) 06777001 STANDARD All iy ol ! s vro Je
B e e g 06777008 OPTION C6 CAL SWITCHING (o) ?
\ (1vomA) 06785708 " /5o =
A BCDE =
J/o/ FRONT PANEL
ourPUT
REAR PVEL

FIGURE 7-41
OPTION 01, BLOCK DIAGRAM
#075141 Rev E

M107-11-81 7-41



U U i - 5
| L |
L -

o | O 9, ) / )
;:4_;'! (7] 20 ve 8 vez l/Zil yes 25 8 26 27 R:/ /N2 g E
] ;

g

L | ) L Jo

Z7 urz

FIGURE 7-42
OPTION 01, A1, PARALLEL INTERFACE
PC ASSEMBLY #06790301 Rev B

M107-11-8]
7-42



M107-11-81

X d

. RN/ 10K(T¥F)
TYPE +5v | 6ND . TYPE 5V | GNO "7 * * *
| mcrecsiech | /g | 7 us | s wo R g § g § % § é §
u2 | mcmozs 2] 7 e - MCIREISP | 16 8
u3 Nz 2 7 U7 L S vk %6 | 8 20 3] 5[ 7 o 9| & 3
v
v | mCI2003 lad 7 v | AU /6 =4 ? —
14
S5 | MCis01 /4 7 [Z 54 U6 A 8 © ZANGE PROG.
cov
UG | rcrasz % | e v20| saue 76 | 8 ©
u7 | sS4 [+ |7 ver | saue 6 | & % reov
i T 2) ey |
U8 | MC/9073 /e 7 vez SAure e | 8 @ T FowTY eRcs.
U | MC/#OI2CP 4 7 v23 | MCr o498, |/ 8 R i
vic | racreasose | 1 | & 24 | MCaSeBCP | 16 | 8 e R D e
% 54 vo 02 AC/4044:-8 % o Ol
. Uy /
L'/ 2 ” 8 wves R 8 o] RN3 10K(7vP) v N \/ ——1_'7_]
JIE s/A v L/ & 1z S/4 Ut ed 7 _:._ * * e 2 ] I,5 2 o 12 1+ |e Re __{:
w3 | shuc |7 | e vz7 | sm wo ;|8 = § § g § § § § § -z e hw 3
% S/A L10 L/ 8 " 2
s 2| 9| »o| 13 71l 5| e 3| #| 7| 2 M T h ~
) ]
=% <2 7L el os L a-l. 2
N o -;f 35| 1Aslole Coub T AT DS T 25T 29ur]
b B v9 v9 - . . ey &
S\ g
- / g | 1 —
G2~ - - —
& 7 5
/0~<] \% 2 8
e 70
! = i RN2 OX'T78)l g
L | L
-t
i< L § § § § l =
: 7 <
W7 AELECEEE
2P
7
RN # IOK(TrrR) P @ <reoaF
: > 10
REMOTE _l_ 5
aco = /4 @) 0
| NZ2)
2 8l 7. 21| el 5 2| /| | 3 , "
7 td
e 'K} D10 aerore
3! @4 uro STROBE
0% 2 INPUTS
! @ ,7<}5 @ 02
L@’ ur
8
F@ bd 2
LR @0
otd I Uiy
@
H / 1/ ’
i L-\zj 7 @0
e 1<}'J//
e , o |
m%;éz 5 —Qro"—
é i
’
@ —e REM
S| A /| 7] Sl 3| ~#| s S| 3 7] 7 3l /7] # 2 71 5| 4] v s 3l 9| 7 @w
— — A it
VavAvAVARZEAN VARZEEVAVAVAVA VA& v/3 ] 2 / 2 mem
el Bz < *| 2| /2| 7o 4 2| & & B ERE | #| /3] 72 %] 2| o] & NRUT
REM
3 ® %"
6 |e |2 | b le |2 |uo 6 |r |2 | e |& *s G |¢ |2 |5 e j¢ |2 |5 + 6 |5 |2 RESET
S o x X2 x3)9 A X0 X X2 x| 7| Xo % %2 1319 A% e gl S %o X % gig S X0 0 X2 x3lp 3| X % X3 %|e
=% - K 4 5% B 3% 3|2 B GG 7172 L
Y UE 37 U7 3|7 U8 e M2 —3|7 V2o 5y ver 7% Uiz = 1 !
7] 2 " 1% 2 71 %2 . — % 7172 —1 2 /4 3] % P Ly
7% E. a5 = 2 2 % A% s v —telpelE sl —
202, 22 23 20 2 2223 20 2, Z; 73 2 & 23 23 25 2, 23 73 2o 2, Z; 23 2, 2o 23 2, 035 10 10° o w0
o V|2 i3 o Y Ve L3 o |11 Yz 43 vo | Ve 13 Vo |12 e |13 0 11 |12 |13 i/ |0 |13 Ve _REMOTE CAGIT STROBES <

alafale
|

[

<

LR
e

E}i

N

BN

;

LYE 9] E‘@

£

g
X

FIGURE 7-43
OPTION 01, A1, PARALLEL INTERFACE
SCHEMATIC #7-06790301 Rev B

7-43/(7-44 blank)



+ 5‘v (waic)

3 a0
REMOTE TR b b
>
B —
3 |
= i
t; Pa . O @ ‘5"‘—::-)“ ’
Loca. :
o5 = il
= POLARITY o —2 VoL {
Ze e 4 C iz SELECT |
i {4 - - < !
Ef 54&,"_ LOCAL o—2 ——dd |
S H [T ”eco ° —t :
M= ' rs-\:‘ 2o © i
Al '—'E L o 3 —")\35 “ i
_ B 6 B !
PARALLEL E :,._L'._. »: T b pemome ~ v____:_:__) ‘2’ <
. W0e == r sTReBES P — =520 N
INTERFACE B e g =3 !
PC ASSY |, 26 1ov l—.._)a‘ 24 !
[olg -~ 1000w e \
06752301 creRn 2 G 2
[‘1 s 1[___—0'1 ? AZ zf 7 !
. \fs e < Loz ENCODER - e ;
0 BeD . — ‘ $  PC ASSY S = |
~ ) | 06775001 37 "
S w5 se | 10° . |
P : wo¥ st X T ‘ |°)‘3 '
‘ = T =
‘. ( ' 7. Cgq \: M) *r— > 15 T RE |
C & 4 B—% Ao, U102t | e [ ;
oteco T € E) | e |DioT seLect
@ T k[cj - i~ 1 di : X K L " [
& g T ; X SR !
B —= T o -~ ‘
) 3 M 0 R
SR WA = = - = ,
o) @xcj@@ 2 3e- us oo 3190 5% b |u pEy: v ;
j X n C; 2] { a |
@ L B i Mo, oo : [#7%;§>J7 Hrl] & é® L Range ¢ :
< B AP ECEIED B4
G Y _
. =
34 r = 7 o (Q 1c US J_T‘-_
~ ! < 1S i | s{ 3% fu e . _
X 2o < B 30 uBeel w
T \ of B | — A - - " =] ‘::_2-—
= e & A~ VAVAVAN —3
S| al 2] [@ |2 [e gl

rﬁ"} — |®E
opo " <
N ) " S |
W

+SV (LOGK]
L

P TURRENT LM

® riag ouTRUT

- = 7 ole v}
@-1 (6. R 4 4 ! LA
@ il o Bec < 2 A 5t U280 5 7 3U6hn ° : J]*'T
4 i 1 73 i3 < ¥ i 1l
{ Lz Q3
@ l ) T [V YYYS ] » B
&r &) 1o St ‘ T —
L [c a4l ©f 2 2 |1s jio . =
13, Ve 5 8 hd g 4 =2 =
2 " [ o T .
> T = : Qob= =
& @ o° Bl (I o= b Uilcz - 2
§ = o af 7
14| s 3U77 e —F AZ
MO0 e 3 i "D/A CONTRO
Ld VIV %‘7‘7 ‘1 | D/ 0 L
elsl7len szl i = PC ASSY
s w8 IC 06775501
To - 2 OremaY
-l =
Seeon T T mer ' o ~ U|5M +5V (OSPLAY ’1 1
com N2 28 2R N2 2 IR R N 2 ‘L N 2R 2\ 4 wviwv ¥ J/_ —Il W w-:v
Cas cs 2> 3229 27,3020 8 4810 R @ 7 54 [34/24 215K 33119
F = asv B » ©
w T wf o e 17 o o 22 E‘V‘——J N — 1_4
= \Y“ DRIVER ot ‘OD'LGY‘:R . -v-w_ _~- _\4
0% DISPLA IVE CODE 3334 % 15R 3 R2B 7T B WIOWDB W21 22208 8 17 2':1
— ' ] ""W'I T Sv(LoeK) YRl 5 JenD vy v ]eng | 45V REMOTE ¥ Ry Ry Fa Fg =
g <<
. i
1 ui MCTe 7 _ U9 | mciabaz e ‘— =
20 C‘.,F = Qf.“‘ .C?J drca s - o Jil !
v Scocuf [m —[ I . T 39 pF uz S/A Ul - — o SYA U9 16 8 ]D\SP\.AY DRIVER ;
jhiad Us| WA u T4 | — uii| siaue < | 8
= ua| sAU e | — ui2] siaus | 8
us MC OS50 ' 8 v SIA U9 e 8
ue}l S/IAUs ' 8 Via S/A U2 16 8
ur| /A US [ 8 US| MCT7805 — |-
ual ®/Aus ' ) Ule| mc 7805 — 1 —

M107-11-81

X3
+15VR

FIGURE 7-44

OPTION 01, A4, DIGITAL MOTHER BOARD
SCHEMATIC #7-06775302 Rev B

7-45



J! D ul B@@ Puz L Jz |

c2 +
us va G us ve g w ve us  (
v !' ulio
|
1
RN2 Q RN3 g RN4 | | RNS RNG ( RN7
RNI J

FIGURE 7-45
OPTION 01, A10, DISPLAY DRIVER
PC ASSEMBLY #06773102 Rev B

7-46 M107-11-81



M107-11-81

OEL. POINT
DRIVE
+
10V WQOOV - ADDRESS
v 100V
5umsﬁ o _ . _ "2z 34 £RemcEQ
F 0 K 10 8 7 9 - P oW 12 113 R T u 18 1 15 17 V 2020 Y W B X 20 A B 25 23 Z 24 C 2728 F D 2 € 4 C B 2 A 2
Y Y VY \ \( N Y Y \( \'d W! Y Y VY \/ Y Y Y Y \r Wr Y Y VY \r \/ v Y W( Tﬂ Y wr Y W’ A4 W’ N 1 \r
RN} 7 RN| © RN| 5 RN 4 RN| 3 RNj 2 RN| |
“ 19 i ho |12 13 “w it 1o (& e |1z |10 4 2 jo |8 |u |8 |9 “ {2 o |8 i |1 |9 w fic [ |19 |13 e In 13 19 |g i0 |12 [« |n w jiz |8 {9 |un |13 | 6 l2 |12 o | Ju ]S
L W
RNB
§ § é REMOVED Ra R3
2700\ 70N
| o] a] s| 3] 2 1| 4 e ¥ 3| 2| 5 3 5| 7] 4] 2| ¢ [ 3 s| 7| 4| 2| W S| 7| o 2| 3| # z[ ¢ 7| S| 3] | 4 " 3] 7| ¢ 4] 2] & HEEIEREK
tj2 |3 |4 |S |e 3 he |v o |9 hs | 3 iz v o g s e B3 2w | |9 hs |w 3 | |u ho Jo s |w 3 |2 v o |9 s | 13 2 v e jo s s
Yo Y. Y2 Y4 Y5 % a bcag e fg a bcd e fg a b C d ¢ a bcd e a bcdod e a b cdeyfgyg
06T 7492 S N74LS5247N SN74LS5247N SN74LS 247N SNTALS247N SN74LS247N SNT4LS247N
uoe usg ur Ub us U4 U3
A B c DEE-S BI A 8 C D BI A B C e} Bl A B C D Bl A B C D Bl A B C D BI A B C [}
o]l n| 2] = |mI‘5 a7 71 | 2| e a7 7| o 2 e ay 7] | 2] e a7 1| | 2] < 47 11 ] 2| e 7 7] ] 2] e
— +5V
| Sy
Je - - [ [ [, - - - 4 - d = __....-_-_-EI_____..._____._._._.._._____‘___—--—————-_.__.J_l____—_——____.q__ L -t .—L
+5V \L W | N \Lf ~ N
232420 2820171 33 34 3132 2526272829230, | 2 34 I_—_L 15 16 " ol7{13]s 12
RNG6 RNG POL POL ;ﬂr——/ €.75KHz = REMOTE
A B A B 10° 1 1 4 1 lalk "_‘ © 8 ¥ &
JI_____l____l_ e _____ S U I A O S I R A _ _ I D P [ I B N
1] 3 9 [ N RN TN % W 3 ¥ N7 \L D N R A \L <4 NL N% N \L \V\L\V 4 \L
POINTER|  POINTER]  FOINTER 15 1026 23242122 e 7 5 3 4« e 8 1C 12,33 34 30 1718192028 25 3\ R20 27, 2
A B c L_V__J %_/ %«:—/ - J %o—-j
(o* o \C o' 10
"
9| 7| of 5| 4 i[ a5V
V3| 7 e 5 4 3 2 v Iy U1o
—- sN74LS4aTN L NESSSY .
\a B Ul pi2 Bmz—‘ 3] o1 UE _L-l— %?2 . 2] 2
15 RESETIA e 8 {uwo
A GND THRTRIE  DIS L 7
\ e 2 7 =
L NoTEe:" )
TYPE +5v | GND ‘L—‘ c" ) RNl To RN7 ARE 270N X7
- ! R2 R
Ul SN74LS42N| 16 8 L 2;7;1:{ 220k 27x
Uz | NESSSHYV 8 \ - © vaw 8% yaw, 5%
U3 |SN74LS 247N le 8
va S/A U3 e e
us %/A u3 16 8
Ue S/A U3 e 8
u?7 S/A U3 16 8
us s/au3 | 16 | ® FIGURE 7-46
uUs | 0e77453 e | 8 OPTION 01, A10, DISPLAY DRIVER
Uio | sN74LSooN | 14 | 7 ,
SCHEMATIC #7-06773102 Rev B




| Rie ]

[ =is |

R4

(2D

FIGURE 7-47
OPTION 06, A6, HIGH VOLTAGE AMP

PC ASSEMBLY #06777003 Rev D

M107-11-81

7-48



M107-11-81

@/
B82S

£

@2
8uz05

' 2 860N /oW
@9 o E Cl4 .00ILF

@5 Q6 7 g._g o8
HOMI  ZN3439 NI ENMI9 NP5 2N

R/9

R/8

4=7K,¢W | (3%
R20 R2/ Re2 w23 R+ ‘R25 CRG, MR25C3 “pg7 072
180k, oW 180K, ow | 160K tew | 160K, fow | 160K Yow | 180K, 1o w RIZ
+/500v /(——«»—WH\M«»—MN—«»—NW—«—J\AN«—MAA——QQ ¢ 9'3,4 180 2w
VRS YR+ 47K AW
[ S 25
INS598 In7524 N 22 e
L cR4
/ <2
+ 140V \E | €R7 iind
2 mr250-3 —PH—¢
RI7
GCEK YW, RIS RS
430K lfzw| 430K, lbw
oy i Bl gy Nelad
RI4
220K, fzw @3 -
v p BU205
CR5
INL51
Q2
2N 3440
RI
) 1800 4% v
INZS/A
’*T'* ce
w9 oluf, 2KV
390K, /4w ek
ok
c2
10 «f 20v +———P—4
¢ CR9 > /C
In5395 S RIO . ¢ ]
23K, law R4 [ + 24V
10K, aw R2
s € p—s— ¢ o 39K, Y4 w
INPUT cre vR2 cR3 e F
IN415/ ING 724-A ING/5/ > /2
R3
CcR2
250
et 1o, faw % ING/5/
I R7
1,
I R 2.2k, Yaw &/
10K, lla v
22 ¢ kiwx'/\r——« c3 470
-15V - Yow Y CR/
it * 6-8uF IN5395
IN75A 35v 4> g
20 € H.V. COMMON,
-20v 5 /7
ANALOG GNC

FIGURE 7-48
OPTION 06, A6, HIGH VOLTAGE AMP
SCHEMATIC #7-06777003 Rev C

7-4

NQ]



M107-11-81

FIGURE 7-49
OPTION 07, TEST ASSEMBLY

#075145 Rev D (Sheet 1 of 2)

yae

4
.

B

M

7-50



I
J

UIsSS Uk
MOUNTING

e
A S

[

ST mEmEmES

_

Lo

/_.,7(;'

T T e e

FIGURE 7-50
OPTION 07, TEST ASSEMBLY
#075145 Rev D (Sheet 2 of 2)

M107-11-81 7-51



(8Xeixie)

J101

Tiol

il
e

______________________-__J____E________-\________________ e

\
—_—————— T

M107-11-81

#075144 Rev B

FIGURE 7-51
OPTION 07, REAR PANEL ASSEMBLY

|

~ m
BEC T O !
e T

m |

“ |

| |
T I EC |
29

m M

_m o "

m ( i

| Ay

m |

“_ —.‘— m 5 uﬂnuﬂmmw
m TEe
L "
\fmﬂ. mw§\|zwwuwuvxﬁc
& g

H 7 b

7-52



_ :
;U._A < . "v o A"
N 1
N “ | .m | _ w“ |
Bl SRS dnyy b
>80 Wx Lo m_ 1
.a.ﬂv 3 “ " 2y P
W o Am PTG
| | 9% | I B B |
BIRNERRI
| | N : N
o g 13
[ x|
Lo e
Y i E—_
i B
™ ooy
MW | _w 1o
G o ! [
%,x N R
»A [ [
S B
[ [
v»..—vvnv'. — N .—AA—.I
g e O
R o
ge| 00 R
N m o
< W N m "u
1o
s 0l
Pl [
SN el
= -
e g
Nk G
A\

Aé
OIGITAL MOTHER BOARL

Oe7 7530/

 S—

~

£e

L ]

L]
I
i
&4
Ee E:

4.

~

EE S —

——————————

0677550/

A3
Dl CONTROL

-
!
f

0677500/

A
ENCODER

oc79020/

Al
JIMF¥EF BOARD

Eo

E/

oG78!701

AL
ANALOG

FRONT PANE.

d1e)

All

CAL SWITCHING

©0G 785701

T

A%
Ac
HV AMP
0&e77700! STANDARL
0G777003 OPTION O€

OF 4rnvdrio

o7 .Nvmrwuk.h

i
=+
A

N FSINIS

N AN 4O

t———u—

S0/

SA- 237V,

1 rd N

.SA-115V

_.._(

(100 ™MA)

8 C OE

lJ/O/ !

ouTPUT
REAR AVEL

FIGURE 7-52
OPTION 07, BLOCK DIAGRAM

#075163 Rev C

M107-11-81



fﬁﬁ&kﬁﬁ€‘<::>—_—_

2| LocaL poLARITY A
—_—
DIGITAL Y| Py
GND

LOCAL POLARITY B

RN B NI
D

REMOTE
STROBES LOCAL RANGE B
70 /?13
ENCODER
| ¢ 4 * A d ‘T X| 7
> 3 s 4 2
! B L4 LOCAL BCD
’ ’ ’ ’ » ar
I I [} I -
25lccl 12113451 Bllcliole]l [ 7]i8llglo] K LMV 7islivolizol (s vV
oiETAL (& 4 2 1) (& F 2| |84 2 /| (8% 2/ |8 %2/ |8 F 2
GND
~— ) \\____\Y,___,) — - g S
/0° Bco /0% Bcp 0° Bcp /0% Bco 0’ Bco /0° BCO
FIGURE 7-53

OPTION 07, JUMPER BOARD
SCHEMATIC #7-067902 Rev B

7-54 M107-11-81



+5v (LOGIC)

33 4 230
REMOTE B3 ro Ja
€ 2l 48
—¢ -
(']
- .
A
 red
= =3 ~
Qo 3- t £ OCA. < = Vb2 "
3 ) u 5 ) ya
9 (2) @ e % RANGE ¢ \ H VOLT,
@ = &) E@ wp J PotamTy e 22 [SfuEcy
£ @ — 3 N
©), S »' ""'E < @‘—’ | LOCA H—2 =
2 o 2 7 ~eco = ¢ —— &
o@ & g R s 2% 5
e——= . Uz Sg- : =
® g A = sy : =k
© @ JIMPER i« o S | memett Py — "
® & ~  — LIy STROBES —%
® : BCARD UE o o =i
i ) —J
@ = € 0679020 [y < pn— L=t i
CLEAR h——-————i; 3
(o C 3 328
@ R o= Iin py I ;;' %ZD[R Y_z‘)p
8 \7 - < 4l 2 ENC T L.
¥ 3 o, Q —_— 2
& ) w0 BCD B 32 U4 oz G pC ASSY J3 g
© () r" T it [P = ny‘—l)a v T U4
& 5 B 2o ¢ 0GTTS00N |
4 I 105 se 6 10 °
? 3 & _j‘l'!_ oF s i ° o
5 o . R & ot s —
& % . (c — .;"* U’oﬁ 3 .o,§ P, J3
= o "“"i B— e o Se) Dot st
3 s B Gy ) v 4 —7,,
&3 : ' 4 st Q@ L 5a +5V (LOGIC)
O € )
&= r m—-E Ld ey 1 " : . g 22
o6 S\ 2 vk = 5~
e ¢ o B W o d — e g
4. ol < RAl
g ; NEL e, S : lyvyyyyl — s &
”é C i el . 1c " St 2|0l 4| je |5 hz o e A
4 £ ) [
o0& gt o s : —  —
S - > J O -;r- UB"‘ 2 | sj 3777 {u e 1 l;:m »
@ 102 BCo ot F) g I Z Y te ©SH
= . | m= L) e g" 2 7§7< L \.,_ﬁ & 19t ™3
- ) N L3e 3| ! —o0
.."’ — B__.‘OIA_ 15| al 2] [ iz 1o E@ é R
3
E 7
7 Co L oy
(=2 © e g 'z us| T T "
: Le Q
@ L 10" BCD )L@E o 3e, UIZGZ - G A 4 ¥ oo g 7, . we  CURRENT
[ Q3 v 7 7 o LIMIT
+ ‘ S 4 i)
& » ! s 1 = = U wo -isv@
| o [t 4f of 2| Q2 s lwe i :
@ - E: & 1 NP s ! ' JE 2 < we +isv@
. N 2 Alc. uniaot — e 2
(< o 6o { O oo J’EL U2 - w1 s
akakaka - — sl b o : TE A3 : =
PoJz : D/A CONTROL
TR vy vyyll || el K s | owe w
efsjrie]" ] el Z| |C [TeR = - u2 ® )
: . . L 0G775501 ws sisv@
5w & 10 —e] -
TE =1 o
QJE
+3V u
T DISPAY )
sECONmR-'I'— uis 4 J 1 > (3 oW s
L >+ o o ST VU [ N U 1 15 R i R O e | _-_h.____ 3
“E ' cR1 com | B N RN A 2 AR VP NPt A A D P 2N MRS S v TV v ‘L_Iw v V¥ U4 S 4 wa  sisv@®
v 30503 i 2 2223302 [B]pas 8103 @ 7 S 4| 3|24[nWwS6 3310 . )
Ca (<3 s
- wF = :tmf o e 7 o 3 33 22 2 EYNI L] 'L——-ovn e
N L © T FH-F-FA
4 ! 2 2 DISPLAY _DRIVER| cobE D33MK%ISRII N2V T BWIOW2 M2 2220W .18 173 4
I1BLx 7 5KHx
. P C,VW ' esve ) TYPE +5 |eND TYPE A5V | GND +5V RIMOTE 100 Ry Rg FPa Pe
?. w S N | lcs |+ co ut MCTo 7 - U9 | mciabDaz 1 8 o J2
o scocvfF T wf3 I wf 3% 39, vz | s/aul a4 | — uo| A ue e | 8 DISPLAY DRIVER !
1ov ua| WA u & | — un| s/Ave < | 8
= ua| s/auU . | — wz2| S/aue e | &
us | ™MC OS50 ' & uBl S/Auve 3 8
ue| S/AUS [ 8 via SIA US e | e
U7| /A uUs i 8 US| MCT805 | — | —
va| e/aus ] 8 U] mcT80s | — | —

FIGURE 7-54
OPTION 07, A4, MOTHER BOARD
SCHEMATIC #7-06775303 Rev B

F137-11-81 .

~
1

owm

(821



remore E)-
. 2| LocAaL poLaRITY A
D/GITAL Y =)
GND |
— /7| LOCAL FoOLARITY B
Z| Fs
I A 23| LOCAL RANGE A
remore 2 sl
STROBES | /4] 24| LOCAL RANGE B
70 =] )
ENCODER & & Rs
/2]
| /] 4 . — B 4 X| 7
4 L 4 g 9 2
T w LOCAl BCp
4 \ G 4 6|4
I | I I N
] K S
4 =4

23l [2]13][4]5 clplle]l [7][8l[s]lw LI MIVY I7ligy9lizo 7]V
s 2 / F 2 / z /

DISITAL 1842/ 8 4 2 7/ g 4 2 7/ 4 !
oND H—J\——Y—JQH—JL(—/%/—J

/0° Bcp 0% Bcp 10° Bcp /10° Bcp 0’ Bco 10° BCD

Q

FIGURE 7-55
OPTION 07, JUMPER BOARD
SCHEMATIC #7-067902 Rev B

7-56 M107-6-80



3
REMOTE }
2

D€

&

— B
Bé} N
3
! U~ .
5 3 . LOCAL Y
gﬁ; ;: T f RANGE ¢ = ? l('z VOLTAGE]
% <p g FousAaTy w4 >3 |SELECY
a8 ~ T-;_\ ki 5
2 - .. B =
= 2 & "eco SR e o8
e L35 = -2 13 | °
A, —‘(T‘Z ’—’L"'E,\ (3 —— \S “
B= Sl P2 e
JUMESR 7! T - } REMCTE =« —
oA E . ':‘ I STRCEBES e 7 &
Pl i < ) B ) 2
CE7elzli B o~ 531
ETEAR ¢—————0i 0oL —32
28
e 7 i ? A2 —27
B 2o waofE ENCODER o
3 = o UlaG
s 13 ' 3 34
0* BCD EE}.‘ oo o PC ASSY . s s’-'-_»?‘” )
= = N 06775001 o i o
o . . - >
< g 0% =r Lag o'y ‘_;_NO)IB
' e I 9 o L4 -
e W <o *— >
< 2 Aﬂl \ B E — e J3
> UinG- L >1\7
o‘ecoi@E e ) R o Se. |DOT SEuECT
- - ' ‘I - >
@ Dip °. l 25 : '24\3
| ©’sh =18} S\f — a4 +3V (LO&d
E 1] ala) ——3 1
£ 8 i P e o 3 as 2 5
8} = o U9 G 3l 9] 5" e |u 4 s
03B % — a2 E SO [ E
x=Ag I4
\g— Heze o — - YYYYY v.;l — Fsa
<l - st 2| 0| a| |e |15 |12 —'—'@__
- 117
L, 8 v IS \c o~ —
f@fn& 4 a2 e w!'s 3U57 u le Lo
2 < e =3°: UIBSoh i —N
R I O DR RS R 2
L, i, 0 A\VAVAVATA —3
Ap___‘:I I.s..—'oét__ S| al 2 @ |12 |10 | =
L . - =
Uiy I us i —T
"B s e Ulze: s 70 3 bt e je . i it R
10 BCD fist : m = Q- : } T +— it}
= Ce of— YYVYTY i — r =
12 & { ; H T —
—{6 e a| of 2| 2 s 1 | ' =
r B e F Ca p= ) 1 ; ! e
(s 4 af 1z — 4§ . + o
T .
s { Dp e unofs — — i
[l ] ¢ ey ¥ Y . —_— =
Y, L3 : t i}
g ' U7 I ; = AS
al <l 3 |7 | |e ! | '—D/ ¢ JTR
é7 i A CONTROL
oy o R
S| e 72> ‘76 ?2‘7 . < ! -~ ! . booy K A:S\
t M ' 1 * ol S TER
5w &8 10 i : ' % : ' - ; TSOG7.5.D\
5 4 T ' ; <,
—t — ‘ : =
1 ; . el o
T s ey A
l - | AP =
uis - .
 aKal | —
’{ 9 N ouT) +5v b = =] = {=}=]-1- —_— - PO Uy R U DU S - - —y - £_|._ —_] —
¢ CR1 T COM (DISPLAT RS 220420 2 2 4 ¥ v W i« l Jf ~L— v \L v v
! 30503 < _l_ 3229 27,3020 | 6|84 8 10 @ 7 5 a4 [3a|2al2215K1 321 8
] 4 6—*/ \W_/ -
] F cs 7 v 2 C
w T Tuf o e 7 0o 0o 33 23 ¢ N f
; S~ ------I-'- JER (ST R (R N G O A
' cR2 ' o? mofrgﬂ \[_:L [N LY RN RN ~ NG
! e DISPLAY DRINER core JIMCI5RIINVWB I BWIODBIN21 22209 @ 173 4
| 30503 . ) . N —— SKitx
T > el T ) TYeE [ -T |G TYPE  Jasv|GnT inddiaantly 0° Ra Rg Pa Pe
N <z = Z s
? o e o afl Le> leca ur ] mere T 1 uS | meoiapaz 1 & I FIGURE 7-56
L_—_—o— 4 scoc u 29 ,0F u2 S/A Ul - | — uo| wA .3 e 8 OISPLAY i
o AT T T+ T3 Ay i e e OPTION 07, A4, MOTHER BOARD
1 o T = el e e s SCHEMATIC #7-06775303 Rev B
us | ~MC rwoso | z ul RN e | 8
ue sSIm us l € [S1F } /8 U2 [ S
=/AUS ' | B A
M107-6- = bt ;
07-6-80 8| s/mus | = %] MCTecf | — | — 7-57/(7-58 blank)




PROM DATA 067749
U9 SN74188AN ebd.bin
S00600004844521B
S1130000FEFDEFBE7CECDCBC7EEEDEBE7FEFDEBET738
$113001000000000000000000000000000000000DC
S9030000FC



